3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

Available in 4 versions with 2 and 4 pole motors

Monobloc with extended motor shaft

| H» 3P On base, with standard motor
! 3LP and flexible coupling
3PF Pump with
! 3|.PF bare shaft

SPECIAL VERSIONS
e Series 3Z: electropump inclusive of rotary bracket and body without
supporting foot.

ACCESSORIES (On request) ) )

e Counter-flanges available in the following materials:
- galvanised
- AlSI 304
- AlSI 316

Your Life, our Quality. Worldwide.

Standardised centrifugal electric pumps built in stainless steel AISI 304
(3 SERIES) and AISI 3T6L (3L SERIES).

APPLICATIONS . ,

e Water supply to civil, agricultural and industrial plants
e Pressure boosting ) o

. Flre-flghjur:jg, heating systems and air-conditioning

* Moving industrial liquids

e |rrigation

o Refrigeration towers

e Swimming pools

* Emptyin

e \Washing plants

TECHNICAL DETAILS )
e Highly resistant construction
e Hydroforming process EBARA patent

PUMP TECHNICAL DATA

® Maximum working pressure: 10 bar

e Maximum temperature of the liquid:
-10°C + +90° )
-10°C = +110°C éL-H-HS—HW—HSW versions)
-20°C = +120°C (E and ES version)

e MEI>0,4 , ,
For further information please see our Data Book on the web site
www.ebaraeurope.com

MOTOR TECHNICAL DATA ,
Series 3Z: electropump inclusive of rotary bracket and body without

supporting foot.
i ﬁ?c rom 1,17kW up to 5.5 kW

¢ High efficiency I[E2 motors starting fi
e High efficiency IE3 motors:-3(. M?Z) from 7.5 kW up to 18.5 kW
- ), 3(.)P IE3 from 1.1 kW up to 55 kW

3(.)S(Z

o Self-ventilated 2 and 4 ]poles asynchronous motor

e Class of insulation F (B for high temperatures)

e [P 55 protection degree

® 230V +10% single phase voltage, 50Hz,

® 220-240/380-4T5V +5% (up to 0,55kW included) three phase voltage,
50Hz for 3(L)M4 SERIES, )

® 230/400V £10% (from 0,75kW to 4kW included) three phase voltage,
50Hz for 3(L)M4 SERIES, )

® 230/400V +£10% (up to 4kW included) three phase voltage, 50Hz for
the rest of the ran?e

® 400/690V £10% (from 5,5 kW and above) three phase voltage, 50Hz

e Protection is user’s responsibility

MATERIALS _ _
* Pump casing and casing cover in:
- AISI 304 for 3 SERIES  32-125/160/200
40-125/160/200
50-125/160
65-125/160/200
- AISI 316L for 3L SERIES  32-125/160/200

40-125/160/200
50-125/160
65-125/160/200

- AISI 316 microcasted for 3L SERIES 65-250
80-160/200/250

e Impeller in:
- AISI 304 for 3 SERIES  32-125/160/200
40-125/160/200
50-125/160
- AISI 316L for 3L SERIES  32-125/160/200

40-125/160/200
50-125/160

65-125/160/200
65-125/160/200

65-250
80-160/200/250

32-125/160/200
40-125/160/200
50-125/160
65-125/160/200
32-125/160/200
40-125/160/200
50-125/160
65-125/160/200/250
_ _ _ 80-160/200/250

- Special mechanical seals available on request

- AISI 316 microcasted for 3 SERIES
3L SERIES

® Mechanical seal standard in:

- Carbon/Ceramic/NBR for 3 SERIES

- SiC/SiC/FPM for 3L SERIES

Commercial

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



*80jjou Joud Jnoyym ‘A1essaoeu swaap i uojieaypoul AUe 1o8ye 0 1Bl ay) senesal 'y'd's adoing sdwing Y3 Buipuiq se papseBel aq 1ou 1snw uoliealand iU JO SIUBIU0O 8y |

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
IDENTIFICATION CODE - 2 Poles
[3SERES | [ L ][ m [ F [ H ][65]-[160] 7/ [22][m]
SINGLE PHASE
Moror Power IN kW
125
IMPELLER DIAMETER 160
200
250
32
40
DISCHARGE SIZE 50
65
80
H
HS
OPTIONAL VERSION HW
HSW
E
HYDRAULIC PART ES
M
MobEL 3
Version IN AISI 316 P
Pump NAME
IDENTIFICATION CODE - 4 Poles
[3SeRiES | [ L ][ m [ F [ a ][ H][e6]-[160]/[2][Mm][R]
REDUCED IMPELLER
SINGLE PHASE
Mortor power IN KW
125
IMPELLER DIAMETER 160
200
250
32
40
DISCHARGE SIZE 50
65
80
OPTIONAL VERSION H
HS
HW
4 POLES MOTORS HSW
E
HyDRAULIC PART
MoDEL '\S/l
P
Version IN AISI 316
Pump NAME

Your Life, our Quality. Worldwide. 2 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

V = Models also available in H-HS-HW-HSW version for 32, 40, 50, 65-125/160/200
* = Models also available in H-HW-HSW-E version for 65-250, 80 and in ES version for 80-250 @35

(EX DIN 24255)
PERFORMANCE RANGE 3 SERIES at 2900 min- (according to ISO 9906 Attachment A)
U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
| | | | L 1 | | | L 1 | | | | | | | |
I I I I I T 1 I I I T T I I I I I I I I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
120
— 350
100
s, - 300
80 65\250/37 N ! ) ‘25%5 i
H 65250/ T+ H ™Y 2 20
[m] L] T =0 ~ NINUZAN [ft]
60 2-200/5.5 Ral 90200~ [ 1| 50 Iz - 200
LI iRy BE R P NG
50 ARER 3 L Jg\?o\\::~j.u‘u ‘ H , \\\J ‘ [ 1 65 00/22> < "0\?[70 "?)\\
2-200/4.0 [ TTTHFAH ENEZN SERTMAY Sy \QT\ - 150
snmanil e TR s N LTSN
40 3 i -t v 7N - WS 15 2
2\200/ 3.0 10““\1 i "~ m\\}n" = 275N O\Q N R
— 2008 EECD SSEEsEPNSOREr SO RSN
3?_160/2-2 ol \? B S 7}5 Ko N . 100
30 =t \/50 . ‘50\ 7oy \/5 0// ‘fo\ \, i
BN i 0. D (NN O\
32‘760/7 a ~ \ ‘5’7* \/5»0 \ N7 N
A & i N a NN ‘%\J
i p R SR EEIA AN 75
MR / s N N NN NN
20 N Il 7 N, &
i N N S R R N S E VNV
R o\ N TR Y TN
N N N[N SO BN 2\ON -
15 N N N SN 3 50
N N N A\ =S\ "o /o:.\
N R NN TN N 2\
3 NS > )
SR N &N
75N BN\ >
10 \, i wil® 2
s @ k2 - 30
8 —25
7
6 — 20 g
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000 =
Q [I/min] .
[ I I T T I I I T T I I I I I I I I I 1 g
6 7 8 910 12 14 16 1820 25 30 40 50 60 70 100 150 200 300 3
Q [m /h] g
Versions 3M 3S 3P 3LM 3LS 3LP %
32125 v v v v v v :
32-160 v v v v v v
32-200 v v v v v v <
40125 v v v v v v g
40-160 v v v v v v 3
40200 v v v v v v !
50-125 v v v v v v 2
Pump 50-160 v v v v v v g
50200 v v v v v v 2
65125 v v v v v v 3
65-160 v v v v v v g
65-200 v v v v v v
65-250 - - - - . .
80-160 - - - . . . :
80-200 - - - - . . i
80-250 - - - - . . £
2

Your Life, our Quality. Worldwide. 3 Commercial



3 - 31 SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE TABLE 32-40-50 2 Poles
Model P: Q=Flow rate
[/min_ 100/ 150 200 300 333 360 400 450 500 600 700 800 1000 | 1200
[HP] | [kw] |[mh 6| 9 12 18 20 22 24 27 30 36 42 43 60 72
H=Head [m]
SERIE 3()) 32-125/1.1(M) 1,5 1.1 21,01 19,9 18,4 14,1 12,0 - -
SERIE 3(.) 32-160/1.5(M) 2 1.5 280| 265 24,5 19,2 17,0
SERIE 3(.) 32-160/2.2(M) 3 2.2 355 340 | 320 | 270 | 250
SERIE 3(.) 32-200/3.0 4 3 42,0/ 400 | 375 310 | 280 -
SERIE 3(.) 32-200/4.0 55 4 535/ 52,0 | 495 | 435 | 405 38,0
SERIE 3(.) 32-200/5.5 7,5 55 69,0] 67,5 65,0 58,5 - - - - -
SERIE 3() 32-200/7.5 10 75 690 675 65.0 58,5 555 530 | 490 | 440 - - -
SERIE 3() 40-125/1.5(M) 2 1,5 - - 19,0 17,6 17,0 16,5 15,7 14,5 13,2 10,3 7.0
SERIE 3(.) 40-125/2.2(M) 3 2,2 25,5 240 | 235 | 230 | 22,0 | 210 19,5 16,4 13,0
SERIE 3() 40-160/3.0 4 3 29,5 27,5 270 | 265 | 255 240 | 225 | 200 17,0
SERIE 3() 40-160/4.0 55 4 38,5 370 | 360 355 | 345 330 | 320 | 290 | 255
SERIE 3() 40-200/5.5 75 55 455 | 440 | 430 | 425 | 410 | 395 38,0 350 | 310 - -
SERIE 3(.) 40-200/7.5 10 ) 57.0 55,5 55,0 54,5 535 52,5 51,0 47,5 44,0 - -
SERIE 3(.) 40-200/11 15 11 710 | 700 | 700 | 695 685 | 675 660 | 630 59.0 - -
SERIE 3(.) 50-125/2.2(M) 3 2,2 - - - - 17,5 17,0 16,3 14,9 134 Wi 8,0 -
SERIE 3()) 50-125/3.0 4 3 20,5 | 200 19,6 184 17,0 154 11.8 8,0
SERIE 3(.) 50-125/4.0 55 4 26,0 255 25,0 24,0 22,5 21,5 17.9 14,0
SERIE 3(.) 50-160/5.5 7,5 55 310 | 305 | 300 | 285 270 | 255 | 220 18,0
SERIE 3(.) 50-160/7.5 10 75 38,5 380 | 375 36,0 | 350 335 | 300 | 26,0
SERIE 3(.) 50-200/9.2 12,5 9.2 - - 500 | 490 | 475 | 455 | 405 34,0
SERIE 3(.) 50-200/11 15 11 56,0 55,0 54,0 520 | 480 | 420
SERIE 3() 50-200/15 20 15 70,0 690 | 680 | 660 | 62,0 57.0
(M) Single phase version only for 3M SERIES
PERFORMANCE TABLE 65-80 2 Poles
Model P: Q=Flow rate
[/min 600 700 | 900 | 1300 | 1500 | 1700 | 1900 | 2100 | 2200 | 2300 | 2400 | 2500 | 3000 | 3400 | 3600 | 3800 | 4000
[HP] | [kW] |m¥%h 36| 42 54 78 90 102 | 114 | 126 | 132 | 138 | 144 | 150 | 180 | 204 | 216 | 228 | 240
H=Head [m
SERIE 3() 65-125/4.0 | 5,5 4 19,81 190 | 173 | 133 | 11,0 | 86 6,3 -
SERIE 3() 65-125/5.5 | 7,5 55 -1 240 | 222 | 180 | 157 | 133 | 108 8,0 -
SERIE 3(.) 65-125/7.5 10 7,5 -1 2951278 | 235 | 21,1 | 187 | 16,1 | 134 | 120
% | SERIE 3() 65-160/7.5 10 7.5 -1 300 | 286 | 248 | 225 | 199 | 17,1 | 142 -
s | SERIE 3() 65-160/9.2 | 12,5 | 9.2 -1 345 1328 | 288 [ 265|239 | 21,1 | 183 | 168 -
& | SERIE 3(.) 65-160/11 15 11 -1 385 | 37,1 13311309 |284 | 258 | 230 | 21,5 | 20,0
Z | SERIE 3(.) 65-160/15 20 15 -1 455 | 440 | 40,0 | 37,8 | 353 | 326 | 296 | 280 | 26,5
¢ | SERIE 3() 65-200/15 20 15 -1 51,0 | 490 | 440 | 415 | 384 | 353 | 31,8 | 30,0 -
= | SERIE 3(.) 65-200/18.5 25 | 185 -1 585 | 565 | 515 {490 | 46,0 | 430 | 39,7 | 380 | 36,3
= | SERIE 3() 65-200/22 30 22 -1 655 | 640 | 595 [ 570 | 54,0 | 510 | 480 | 46,5 | 450 -
€ | SERIE 3(.) 65-250/30 40 30 o 770 | 735 1 71,0 | 680 | 645 | 60,0 | 57,5 | 55,0 | 52,0 -
§ SERIE 3(.) 65-250/37 50 37 -l - 880 | 855 1830 (85 [ 775 1740 | 720 | 700 | 675 | 650 - -
5 | SERIE 3(.) 80-160/11 15 11 - - - 273 | 264 | 254 | 242 | 230 | 224 | 218 | 21,1 |1 204 | 164 | 125 - - -
2 | SERIE 3(.) 80-160/15R | 20 15 -l - - 305 | 29,7 | 288 | 27,7 | 265 | 259 | 253 | 246 | 240 | 20,1 | 16,5 | 145 - -
g | SERIE 3(.) 80-160/15 20 15 -l - - 340 | 333 1325|315 (305 300|294 | 288 | 281 | 244 | 210 | 191 | 17,0 -
2 | SERIE 3(.) 80-160/18.5] 25 | 185 -l - - 390 | 384 | 376|367 | 357 | 352|347 | 341 | 335|300 |264 |244 | 223 | 20,0
3 | SERIE 3(.) 80-200/22 30 22 -l - - 48,0 | 47,0 | 455 | 445 | 430 | 42,0 | 410 | 400 | 390 | 332 | 27,8 | 250 - -
fg SERIE 3(.) 80-200/30 40 30 -l - - 585 | 580 | 570 | 56,0 | 545 | 540 | 530 | 520 | 510 | 465 | 415 | 390 | 36,1 | 33,0
2 | SERIE 3(.) 80-200/37 50 37 - - - 64,0 | 63,0 | 62,0 | 61,0 | 595 | 59,0 | 580 | 57,5 | 56,5 | 515 | 470 | 445 | 415 | 385
= | SERIE 3(.) 80-250/37 50 37 - - - 715 1705 | 685 | 665 | 640 | 630 | 61,5 | 600 | 585 | 485 | 38,0 - - -
5 | SERIE 3(.) 80-250/45 60 45 - - - 825 18151800 | 780 | 760 | 750 | 73,5 |1 725 | 71,0 | 62,0 | 53,0 | 480 | 425 -
% | SERIE 3(.) 80-250/55 75 55 - - - 9351925 (9151900 | 85 | 875 | 86,5 | 8,5 |80 | 765 | 685 | 64,5 | 60,0 | 550
g

Your Life, our Quality. Worldwide. 4 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(|.)S-3(L)P 32 SERIES at 2900 min (according to ISO 9906 Attachment A) 2 Poles
0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
| | T T T 1 T T T T 1 |
0 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
— 250
H 70— i H
[m] T [ft]
60 ~_755 - 200
\
T ﬂl\\\ ~
50 T 200 /4 < <0p
0 N7
— T S —150
T | ™~
40 T— 2
R R R \\ 00/50
o ‘ - \\\‘122 \\‘\' 100
T — \\
T \\“\ 760/7‘5 \{
20 = — T 125/1 1 |
T—
~_ — 50
\'
10
0 0
0 100 200 300 400 Q [I/min]
| 1 T | | | | | | | | | | | | |
0 2 4 6 8 0 12 14 16 18 20 22 24 26 28 Q[mY/h]
8 T T
T
Py 200/5.5 200/7.5
[k] I
4 200/3.0 S e I o e 200/4.0
e ———— ——r60/22
‘ / ) = 160/1.5
0 T
0 100 200 300 400 Q [I/min]
70 T /\ T \/ T ‘ ‘
n 125/1.1 — 160/2.2 —
7] ©0 =— =1—200/40 NPSH
: 160/15 = — ‘ 200/7.5|[m] [
| —T—— —— I — N
50 7 =" 200/5.5 | 200/3.0 81
7 BB -
40 6—20
P T 200 15
30 NPSH 125 —— 4—_10
20 — 160 24
10
0 100 200 300 400 Q [I/min]
Your Life, our Quality. Worldwide. 5 Commercial

iication it deems necessary, without prior notice.

£
2
°
8
H
3
8
<
=4
7
g
5
i
2
2
£
s
I
=
g
i)
>
2
]
=
5
8
3
1
S
&
@
3
B
2
3




g
S
3
s
g
3

&
g
2
=
Ed
=3
5

3
g
3
2
2
E]

B3
m
s
S

B
o
°
>
3
8
-
8
3
&
5
e
Y
g
3
2
3
g
S
S
8
I5}
El

*80j0U Joud JnoujM ‘A1ESSa08U SUl

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)5-3(|.)P 40 SERIES at 2900 min" (according to ISO 9906 Attachment A) 2 Poles
0 US.g.pm. 50 100 150 200
| | | | |
l I I I
0 Imp.g.p.m. 50 100 150
0 — 260
— 240
H 70 I ] i R 200/17 H
[m] T— —220 [ft]
‘\
60 T~ - 200
I i —_200/7.5 180
50 A\\
1 ‘\\ 160
—~——200/5 5 T — 140
40 _— \IA
T T—160/4 i 120
— | — 100
30— : —
‘\m\\ %
20 SN S— , —
. \\ 725/22 — 40
\ —
\' - 20
0 0
0 200 400 600 Q [I/min]
| | T T |
0 10 20 30 40 Q [m¥/h]
12 ‘
P2 —
L — 200/7.5
[kw] 8 200,/113 P ——— [ I — ]
125/2.2 I R — 200/5.5°
4 | — 160,/4.0°
125/1.5 160/3.0]
O I L
0 200 400 600 Q [I/min]
80 |
n —— NPSH
\
(% 70 125/2.05— ; — — ][]
” = — —— 7 -
| —]
60 ,/ = 6—20
160/3.0 ///
. 160/4.0 ~ A D
200/5.5 _—
-+ 3110
" 200/7.5 -+ L~"~200/11 R il b
—— — 5
2007TM160 1
30
0 200 400 600 Q [I/min]
Your Life, our Quality. Worldwide. 6 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(|.)P 50 SERIES at 2900 min" (according to ISO 9906 Attachment A) 2 Poles
0 US.gpm. 50 100 150 200 250 300 350
| | | | | | | |
| 1 1 | | 1 |
0 Imp.gpm. 50 100 150 200 250 300
0 - 260
H L 240 "
70 e e e — 200 /1
[m] \45\ =220 [ft]
\\
60—t e —200
e I I —
— ‘200‘ 11 180
——— | —
50 —200 QQ\ —~—~_ 160
‘\ |
w0 4 \\\‘\ N 140
——— 760 7 5 \\ L 120
——a— 11 _| 1 \\\\ B 100
T L 11T —~—160/5.5 ~
125/4.0 T —— - 80
T TT = ‘72 O e I —
T T T T T T T T ———1 ] > 22 3.0 — — 60
@ ‘\\
10 \\\ \\\ — 40
~ ~
20
0 0
0 200 400 600 800 1000 1200 Q [I/min]
| | | | | | | | |
0 10 20 30 40 50 60 70 Q [m3/h]
18 T 1
P2 - — 200/15]
[kw] 12 — ] ——T——+200/11—
e s s S 200/9.2_]
6 125/4.0 —____:”__ 160/7.5—
0 125/3.0 125/2.2 1‘60‘/5.5‘7
0 200 400 600 800 1000 1200 Q [I/min]
80 I
n 200/11 |
(%] - T ————F §:/200/g‘2
| | TR |
U ft
. 160/7.5_ 2T 1 NN [:] [
I T2
160/5.5- | o 2/22 196 /500N 125] 6420
200/15 _——7N60| |5
>0 / NP.SE.,/// 200 Lo
21
40
0 200 400 600 800 1000 1200 Q [1/min]
Your Life, our Quality. Worldwide. 7 Commercial

iication it deems necessary, without prior notice.

£
2
2
8
H
3
8
<
=4
7
<
2
g
5
i
2
2
£
s
I
=
g
i)
>
2
]
=
5
8
3
1
S
&
@
3
B
2
3




g
S
3
s
g
3

&
g
2
=
Ed
=3
5

3
g
3
2
2
E]

B3
m
s
S

B
o
°
>
3
8
-
8
3
&
5
e
Y
g
3
2
3
g
S
S
8
I5}
El

*80j0U Joud JnoujM ‘A1ESSa08U SUl

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(|.)P 65 SERIES at 2900 min™ (according to ISO 9906 Attachment A) 2 Poles
0 US.gpm. 100 150 200 250 300 350 400 450 500 550 600 650
| | | | | | | | | | | | | |
| | | | | | | | | | 1 |
0 Imp.g.p.m. 100 150 200 250 300 350 400 450 500 550
0 — 160
H ~ H
\ |
[m] Qs 0 (1)
40 === = -
L L ~ % T~ —120
T - \0/7/
~— ; | L
T — |l 60 N
0 == ~~29 N~ N —100
T T - 4= \§ 0/75 \\\ N
- —~ N - 80
20 == 1255 5 TSI ~.
~ \‘!\ \\\\ N L 60
\\ 125 1\\‘ a N
I i — 40
~ 7
10 ~ ~— <55 5
\\ I
20
0 0
0 500 1000 1500 2000 Q [I/min]
| | | | 1 | I |
0 20 40 60 80 100 120 140 Q [m3/h]
16 ‘ |
P2 L) e I
8 160/11 :///—”",_—— 160/9.2 |
4 —— 125/5.5
125/4.0 ]
0 —
0 500 1000 1500 2000 Q [I/min]
90 T ‘ ‘
n 160/15 1éO w
(%] T [ < /- 160/9.2 |
70 et S e Q\\\(
125/4.0 125/5.5 ~ o
125/7.5
: [m] [ft]
50 160,/7.52° 15— 8-
| 1 2571 60 Pl 6120
NPSH — 4
160 , 10
30 ‘
0 500 1000 1500 2000 Q [I/min]
Your Life, our Quality. Worldwide. 8 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3L 65 SERIES at 2900 min" (according to ISO 9906 Attachment A) 2 Poles
0 U.S.g.p.m.100 200 300 400 500 600 700
| | | | | | |
| I I I I | I
00 0 Imp.gpm. 100 200 300 400 500 600
! — 300 !
T T T T T 250
— 5
(] 57 [t
80 — —
I I N I R N
— 250 /5\ ~. — 250
g g B R T~
T—
60 e 1 T~ — 200/22 — 200
T—
I I A —~ —~
L ~—— i‘OO )/ 85 I~
T—
~ > — ™ 150
40 ~2005 T
T~
o~
™~ 100
20
50
0 0
0 500 1000 1500 2000 2500 Q [I/min]
[ I I I I I I I I ]
0 20 40 60 80 100 120 140 160 Q [m¥/h]
40
. || —1 250/37
[k\;] 30 —— /:___,, 250/30 ]
s —200/22]
—] ]
20 — — 200/18.5
10 m—_——— 200/15
0 L i
0 500 1000 1500 2000 2500 Q [I/min] g
0 T T T T
n 200/22 1 900 /18 5
(%] =7 —— %
= — ol
- 200/15 250/30 :
~ / NPSH £
[m] [ft] 3
0 8 g
NPSH = 250 | o
I ——— 200 10
30 ] ’ ;
0 500 1000 1500 2000 2500 Q [I/min]
2

Your Life, our Quality. Worldwide. 9 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

*80j0U Joud INOUYM ‘AIESS808U SWasp lleolyipowu AUe 108ys 0} 1B sy} sanissal y'd'g adoin3 sdwing yyyg3 Buipuig se pap:

(EX DIN 24255)
PERFORMANCE CURVES 3L 80 SERIES at 2900 min (according to ISO 9906 Attachment A)
U.S.g.p.m. 200 500 600 700 800 900 1000 1100 1200 1300
| | | | | | | | | | |
| | 1 | 1 1 1 | |
5 0 Imp.g.p.m. 400 500 600 700 900 1000 1100
— 160
40
~ 7 —120
SSs= ~L055
— ~
30— 760//‘5 —100
~~
60 N\
~7 N
20 N <
§ N\ — 60
IO LY
\\
— 40
10
20
0 0
2000 3000 4000 Q [I/min]
1 | |
50 150 200 250 Q [m¥/h]
20 ‘ :
- 160/18.5
16 — |
1 ] 16(?/ 15 ]
—_— | T — 160,/13/15R
12 — —r—
1 — 1 | — 160/11
8 —T]| |
2000 00 4000 Q [I/min]
90
—
=1 | I \
160/18.5
70 >
160/15
160/1177160/13/15R NPSH
[m] [ft]
50 NPSH 8
L ] 6120
B e 4
9 10
30
2000 3000 4000 Q [I/min]
Your Life, our Quality. Worldwide. 10 Commercial




PERFORMANCE CURVES 3L 80 SERIES at 2900 min (according to ISO 9906 Attachment A)

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

2 Poles

300 500 600 700 900 1000 1100 1200
| | | | | |
I I | I I
200 400 500 600 800 900
— =
T~ 250 H
— =1 & [ft]
80 — |
Ik %5 NG
== Ve 2‘ 7\\‘\ ™~
00 — 25N ™
TNl
1 \\Q\\\‘ N
—~ | \ ! \\ \\:\
N \| \\
~ N
~N
20
0
1000 2000 4000
I [
150 200 250
60 T T1250/%
= T T250/45 |
40 T ——250/37 | 200/37
— — —1200,/30
20 = 200/22
0
1000 2000 4000
90
T
e ~200/37
70 = S 200/30
Z = 950,/55
1 200/22/]
250/37—250/45
50 [
NPSH —1200
20‘0/ 250
30 ‘
1000 2000 4000
Your Life, our Quality. Worldwide. 1M1 Commercial

iication it deems necessary, without prior notice.

ist not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right t




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)M 32, 40, 50, 65 - up to 11 kW 2 Poles
B
D2
P2
DNZ, A
02 Z-918
T /-918
: ‘ 2 /?%
e = (¥
o m \ : J@
N _ ~ |
ﬂf T AL T
Fig. 1| == PN
R | C
W 1] [
st M NE PN
] 7
i 4-¢18
L' ! I %
Fig. 2 ——
25 W
M
DIMENSIONAL TABLE
Model Dimensions [mm] Weight
e DN1| P1|K1|D1(S1| Z |DN2|P2|K2|D2|S2[Fig. H [H1/H2| H3 |R WM |N1/N2| A B C Vi1 V2 [kg]
g 0.0 0 0 P20 000 31141 [411131113*]_[4] Bl | 3] | 31 | [4 [4][3]/[*]
2 132-125/1.1 (M) 50 | 95 125/165/16| 4 | - | 32 |75 1100140114] 1 [252/112/140/124/141/80|70[114/140190213408407| - 219+230219:230 - PG 13.5M20x1.519.604.1 -
2 [32-160/1.5 (M) 50 | 95 [125165/16/ 4 | - | 32 |75[100/140/14] 1 292132/160/124/141/ 80 |70/118/190240254408407| - 219:230219+230 - |PG 13.5M20x1.502.5 27 | -
£ 132-160/2.2 (M)) 50 | 95 |125/165/16 4 | - | 32 |75 /100114014 1 [292/132/160/124/141/80 |70/118/190240254408432| - 219+230244+255 - PG 13.5M20x1.527.7/28 | -
5 (32-200/3.0 50 195 |125/165/16]4 | - | 32 |75]100[140[14] 1 340160/180/124| - |80|70/119/190240296| - 471| - - R44:255 - PG135 - - B5.1] -
7 [32-200/4.0 50 95 |125/165/16]4 | - | 32 |75]100(14014] 1 340/1601180/141| - |80|70119/190240296| - 494 - - 253 - |PG16| - - B82 -
¢ 132-200/5.5 50 195 [125/165/16]4 | - | 32 [75]100(14014] 1 340/1601180/150 - |80|70119/190240296| - 519 - - 275 PG13.5PG16| - - b2.2 -
§132-200/7.5 50 195 11251651614 | - | 32 |7511001140/14] 1 [340/1601180/150| - 180(70/119/190240296| - 519/539] - 275 PG135PG16| - - | - 601
2 140-125/1.5 (M)f 65 |115[145[185/16/ 4 | - | 40 |80[1101150/14] 1 [252/112/140/124[141/80 |70|114[160210213408407| - 219+230P19+230, - PG 13.5M20x1.520,124.6| -
£ 140-125/2.2 (M)] 65 [115[145/18516| 4 | - | 40 |80 (11015014 1 1252/112/140/124/141/80 |70/114/160210213408432| - P19+230p44+255 - |PG 13.5M20x1.505,826.1] -
£ 140-160/3.0 05 |115]145(185/16[ 4 | - | 40 |80 |110[150/14] 1 1292]132/160[124| - |80170|1181901240254 - 471| - - 244:255 - PG135 - - 26.6 -
%140-160/4.0 05 |115]145185/16/ 4 | - | 40 |80[1101150/14] 1 1292/132/160/141] - |80|70/118190240254| - 494 - - 253 - |PG16| - - 408 -
£ 140-200/5.5 65 |115]1451185/16/ 4 | - | 40 |80[1101150/14) 2 3401160180/150 - |100(70/1152121265296| - 539 - - 275 PG135PG16| - - B25 -
= 140-200/7.5 65 |115/1451185/16/ 4 | - | 40 |8011101150/14] 2 [3401601180/1150| - [100[70/1152121265296| - 539/559| - 275 PG135PG16| - -1 - 593
§140-200/11 65 |115/145/185/16/4 | - | 40 18011101150/14] 2 3401601180178 - |100[70/1152121265296| - |595/595| - 359 PG 13.5 PG 21 - - | - 696
2150-125/2.2 (M)| 65 [115[145[185/16/ 4 | - | 50 |95[125[165/16| 2 292/132/1601124[141]100/70|114/190240254428452| - 1219+230244+255 - PG 13.5M20x1.529,4/32 | -
£150-125/3.0 65 |115]1451185/16]4 | - | 50 |95]125[165/16] 2 [292/132/160/124| - |100[70/114190240254| - 491 - - P44:255 - PG135 - - B09
< 150-125/4.0 65 |115]1451185/16]4 | - | 50 [95]125[165/16] 2 [292/132/160/141| - |100[70114190240254| - 514| - - 253 - |PG16 40.9
£ 150-160/5.5 65 |115/145(185/16| 4 | - | 50 |95 125/165/16] 2 13401160/180150| - [100[70115212[265296] - [539 - - 275 PG 13.5 PG 16 46.5 -
% 50-160/7.5 65 |115]145/185(16| 4 50 |95 [125]165/16| 2 340/160/180/150| - [100/70/115212]265296| - 539/559| - 275 PG13.5PG 16 - B86
5 [50-200/9.2 65 |115]145[185/16] 4 | - | 50 |95 [125]165/16] 2 360[160200(178| - 1100/70/115212]265296| - j595/595| - 359 PG 13.5 PG 21 - 639
2 150-200/11 65 1151145118516 4 | - | 50 |95 12516516 2 3601602001178 - 1100/70/1152121265296| - 595595 - 359 PG 13.5 PG 21 09.6
£ [65-125/4 80 134/160200118| 8 |4 | 65 [115/145[185/16] 2 13401160180/141] - 1100195/140212280254] - 514] - - 253 - |PG16 37.7
= |65-125/5,5 80 |134[160200/18| 8 | 4 | 65 |115[145/185/16| 2 [340/160/180/150| - |100/95/140212]280254| - 539 - - 275 PG 13.5 PG 16 48,7 -
2 165-125/7,5 80 |134/16020018| 8 | 4 | 65 [115/145[185/16| 2 [340/160/180/150 - [100{95|1402121280254| - |539/559| - 275 PG 13.5 PG 16 - - 52.1
5 [65-160/7,5 80 |134]160200118| 8 | 4 | 65 |115[145]185/16 2 1360[160200150| - 1100/95/140212]280296| - 539/559| - 275 PG135PG16| - - | - 553
< 165-160/9,2 80 |134]160200118| 8 | 4 | 65 |115[145]185/16 2 1360{160200178| - 1100/95/140212]280296| - 595/595| - 359 PG 13.5 PG 21 - - - 161
¢ [65-160/11 80 |134]160200118] 8 | 4 | 65 |115[145[185]16] 2 1360[160200[178] - [100/95/1402121280296| - [595/595| - 359 PG 13.5 PG 21 67.4

[1] Standard [2] On request [*] Only for IE3 motors
[3] Only for three-phase  [4] Only for single-phase

Your Life, our Quality. Worldwide. 12 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)M 50, 65 - 15 = 22 kW 2 Poles
B
D2
P2
DN2 PG21 296
sl A
L i
@ o
Nl B ©O© . N
B Bt = — S =
= ey
1 Il Ht &
5| 5| 2 RE A == 5 = (1Y )
I £15 ‘ @ J @
‘ = | ST % & _
L -5 — — O T
S =11 Fig. 1 1 &
e il N P\
; Ll ; ;
100 499.5 20 ‘ ‘ 4—915
25 W L4 N1
N2
M >
3 7-918
oz 2 Va
& \KZ{
// | /34 2-915 N -
Il Il -
9 / f I Q
T4 (7788 8
{ J g
A g
¢ @\J@
| , =
L Fig2 g ]|
1] 1] B DN1 %
! C 254 05 :
S " N . £
4914 A~ :
L ol o ;
il il qé
m m g
DIMENSIONAL TABLE %
Model Dimensions [mm] Weight %
DN1| P1 | K1 | D1 | $1 []Z[] DN2| P2 | K2 | D2 |Fig.| H |H1 |H2 | W | M | N1 | N2 | B C (L1 |L2|L3 | L4 [kl E
0 0 0 0 1 2l @ 1 O 1 @1 O &
50-200/15 65 | 115114511851 16 | 4 50 | 95 | 12511651 2 13601160200 70 | 1151212 1265|723 1190.5/ 254 | 318 | 65 | 304 | 105.1 §
65-160/15 80 | 1341160200 18 | 8 4 | 65 [ 115]145]185| 2 |360| 160|200 | 95 | 140 | 212 | 280 | 732 |199.5/ 254 | 318 | 65 | 304 | 107.1 | £
65-200/15 80 | 1341160200 18 | 8 4 | 65 [ 11511451185 1 [405]1801225] 95 | 140|250|320|732| - 12541314 | 60 |345]110.1 %
65-200/18.5 | 80 | 134160200 | 18 | 8 4 | 65 [ 1151145 1185] 1 405|180 1225| 95 | 140250320732 | - [254|314] 60 |345] 125.3
65-200/22 80 | 13411601200 18 | 8 4 165 [115[145]185] 1 14051801225 ] 95 [ 1401250(3201732| - 1254{314] 60 | 345 136.1

[1] Standard [*] Only for IE3 motors
[2] On request

The contents of

Your Life, our Quality. Worldwide. 13 Commercial



El
3
3
g
=3

P} UoIeOIPOLU AUB 10848 0} JyBL 8U} saniesal yd'g adoun3 sduing yyya3 “Buipuiq se papieBal aq 10U X

*80)j0U Joud Jnouym ‘Aiessaosu

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

3LM 80-160 - 11 kW 2 Poles
¢ 200
9 135 147 . 173
DN8Q PGI3.5 2-63/8
o~
o PG21 8-018 /
©
S | = ¢
h=S A=Y A=Y
‘ .
4-915 65 -
250
320
620
Weight
IE3: 100 kg
3LM 80-160 / 15R / 15/ 18.5 kW 2 Poles
# 200
8 135
PG21
8-918
PG21
2 fo)
§ 8 o~ ¥
5
&
250
499.5 20 320
757
‘ 345
] + S }7
Weight IE3 t ‘ /ﬁ}
80-160/15R: 130,1 kg 27— 915
80-160/15: 131,1 kg -
80-160/18.5: 145,3 kg - - _ _ b
Your Life, our Quality. Worldwide. Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)S 32, 40, 50 - up to 2,2 kw 2 Poles
B
D2
P2
N2 i v2 A
3 ‘ ‘ 4-918
Lip o iG0] .
s BT 2 ks
=4l =i
= sl = | it =
= i@’_‘ ﬁJ
,g B H T
Fig. 1 i
R c ‘ 15
|-70 | 2-810
16 M
i g
Fig. 2 =21 .
25 || 70 ‘ -
M
DIMENSIONAL TABLE
Dimensions [mm] Weight
Model DN1| P1 | K1 | D1 |DN2| P2 | K2 | D2 |S2 |Fig.| H |H1 |H2 |H3| R | M |[NT|N2| A | B C V1 V2 [ka]
0 0 0 0 0 0 0 0O [
32-125/1.1 50 | 95 | 1251165)32 | 75 [100 (140 14 | 1 252 1112]140]139| 80 | 114|140 190213430 | 174 | M25x1,5 | M20x1,5 | 23,1 | 24.7
32-160/1.5 50 | 95 | 1251165] 32 | 75 [ 100 (140 14 | 1 129211321160 | 148 | 80 | 118|190 | 240 | 254 | 477 | 186 | M25x1,5 | M20x1,5 | 29,8 | 29.8
32-160/2.2 50 | 95 [ 125 165] 32 | 75 (100|140 14 | 1 129211321160 148| 80 | 118|190 | 240 | 254 | 477 | 186 | M25x1,5 | M20x1,5 32,4 [32.4
40-125/1.5 65 | 1151145[185] 40 | 80 [ 110150 14 | 1 2521121140148 | 80 | 114|160 | 210 | 213 | 477 | 186 | M25x1,5 | M20x1,5 | 26,5 | 26.5
40-125/2.2 65 [115]145]185] 40 | 80 | 110150 | 14 | 1 [252| 112140148 80 | 1141160 210|213 | 477 | 186 | M25x15 | M20x1,5 | 29.6 | 29.6
50-125/2.2 65 [115]145]185] 50 | 95 [ 125]165| 16 | 2 [292]132|160| 148|100 | 114|190 | 240 | 254 | 497 | 186 | M25x1,5 | M20x1,5 132,9132.9
[*] Only for IE3 motors
3(L)S 32,65 -3 =4 kW 2 Poles
D2 } }é
-2 M2541.5 A é
B ‘DN‘ M20x1.5 22018 ;;)
The 831 INE
T s 2 e é
5| & 7@@%@ l?/\ = é
i Ll e ere) 5
1 - e b =2 :
Fig. | ¥ qiP ; B L/ :
R ‘ C ‘ 140 ‘ 22.5 f ‘ ‘ 4-915 g
W N1 £
St M N2 ;Z
H : 4-11 e /{x EZ:
Fig. 2 ‘ e \Q”T ‘ wal *";y g
LM 185 5 \ é
M <H777 77777H, DN2 é’
3
DIMENSIONAL TABLE §
Dimensions [mm] Weight §
Model DN1| P1 | K1 | D1 | S1 z DN2| P2 | K2 |D2|S2 |Fig.| H |H1|H2|H3| R |W | M|NT|N2|A|B | C|LT|L2|L3 [ka] §
0 0.0 0 MR 0 00 0 [l |5
32-200/3.0 50 | 95 [125/165[ 16 | 4 | - |32 |75]100]140| 14 | 1 |340]160180|155| 80 | 70 |119]190|240]296|5281205|160|202| 42 | 46,9 | 46.9 | ¢
32-200/4.0 50 95|125/165/ 16 | 4 | - 132 |75 /100/140) 14| 1 [340|160 180|171| 80 | 70 |119]190|240/296/550/212/190|228| 38 | 490 | 49 |3
65-125/4.0 80 [134]1601200( 18 | 8 | 4 |65 [115]145/185| 16| 2 [340]160]180]1711100] 95 | 140{212]280(254|570/212]190]228| 38 | 50,1 | 50.1 | §
g

[1] Standard [2] On request [*] Only for IE3 motors

Your Life, our Quality. Worldwide. 15 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

[1] Standard [*] Only for IE3 motors
[2] On request

(EX DIN 24255)
3(L)S 32, 40, 50, 65 - up to 65-200 2 Poles
B
D2
P2 A
DNZ Vi V2
- 1O @] 7-018
WS /
E— |8 2 T =
| 000000000 VF=' %ﬁ ﬁ”ﬁ
E-LE0000000
|| || auo0nonn e — o f | - f
1 {acoocoeos — ! ﬁé /)
F-ra00non
| |huconn — @ ] _ e
P8 E T o S= Q -
SERaED = | il ; ég | DN1
s W R ‘ c ‘ F H 4 - 15
M W N1
- —
St M JI ‘ {‘\7 N2
1 ¢ ‘ - o 9
1] i
I I
‘ .
! - @ o~
L“ )| QJHT Fig. 3| )
1 ; U_ [ },7
1 329 241 58,51
25 | |9
140 L4 S &
4-p14
: \ 520 | 2 3
g 1] 1 T
% Il IT
% DIMENSIONAL TABLE
é Model Dimensions [mm] Weight
§ DN1|/P1|K1|D1|S1| Z |DN2|P2|K2|D2|S2 Fig.| H |[H1{H2|H3/H4/ R |W|MN1N2|A|B|C|F|G|Q|LT|L2|L3| W1 V2 [kq]
g 0.0 00 M2 ¢ 06.0.0 [*]
£ 132-200/5.5 | 50 [95[125[165[16] 4 | - | 32 |75/1001140, 14| 1 1340[160/180/198 28|80 | 70 |119/190[240[3001607/479| 15 [270| 12 |216[266| 50 | M32x1.5|M32x1.5/71.8|71.8
£132-200/7.5 | 50 |95125]165] 16| 4 32 1751100/140 14| 1 1340160180198 28 | 80|70 |119/1901240300/607/479] 15 1270/ 12 2161266/ 50 | M32x1.5 |M32x1.5| - | 87
£140-160/3.0 | 65 |115/145[185/16] 4 40 [80]1101150[ 14| 1 12921132/160/155/32 | 80|70 |118]190]240[254/528388| 15 |220] 12 [160]200/ 40 | M25x1.5 |[M20x1.5|42.5[42.5
7| 40-160/4.0 | 65 |115[145/185/16| 4 40 [80]1101150[ 14| 1 292(132]160/171/20|80 | 70 |118/190]2401254/550[395| 15 220] 12 [1901240) 50 | M25x1.5 |M20x1.5|44.6 | 44.6
£ 140-200/5.5 | 65 [115145/185/16 | 4 40 80111015014 | 2 340/160[180/198| 28 |100] 70 [115[2121265[3001627479| 15 270] 12 216266/ 50 | M32x1.5 |M32x1.5|72.2 | 72.2
= 140-200/7.5 | 65 115145185/ 16| 4 40 [801]1101150(14 | 2 340/160[1801198]28 [100/ 70 [115[21212653001627479| 15 12701 12 2161266150 |[M32x1.5|M32x1.5| - | 82
% 50-125/3.0 | 65 115145185/ 16| 4 50 |95 125[165[16 | 2 1292|132/160[155| 32 |100] 70 |114]1901240254/548388| 15 220| 12 1160200 40 | M25x1.5 [M20x1.5[35.5|35.5
< | 50-125/4.0 | 65 |115[145/185/16| 4 50 |95 125|165/ 16 | 2 12921132/160]171/20 100] 70 [114190]240254/570[395| 15 [220] 12 [1901240] 50 |M25x1.5 |[M20x1.5 |45.6 |45.6
5150-160/5.5 | 65 |115(1451185/16| 4 | - | 50 |95 125165 16| 2 340/160[180198/ 28 |100| 70 [115]212[265300627/479| 15 270| 12 2161266/ 50 |M32x1.5 |M32x1.5|63.8 |63.8
% 50-160/7.5 | 65 |115145185/16| 4 | - | 50 |95 [125/165/16 | 2 [340/160[180/198| 28 [100| 70 |115[212|2653001627/479] 15 [270] 12 216[266] 50 [M32x1.5 |M32x1.5| - | 91
5100-200/9.2 | 65 |1151451185/16] 4 | - | 50 |95 1251165 16| 2 3601602001198/ 28 100/ 70 [1152121265300667/479 15 270 12 216266/ 50| M32x1.5 | M32x15| - 1907
2 165-125/5.5 | 80 |134{160[200[ 18| 8 | 4 | 65 |1151145[185 16| 2 340/160/180/198 28 100/ 95 |14021212803001627/479 15 270 12 [2161266| 50 | M32x1.5 |M32x1.5| 60 | 60
§|65-125/7.5 | 80 |134]160200/18 | 8 | 4 | 65 |115[145[185( 16| 2 [340/160/180]198| 28 [100| 95 [1401212280/300/627479]| 15 [270] 12 216]266| 50 | M32x1.5 |M32x1.5| - |79.4
= |65-160/7.5 | 80 [134/160[200{18| 8 | 4 | 65 |115/145[185/16| 2 360/160200/198| 28 |100] 95 [14021212801300627479| 15 [270| 12 216266/ 50 | M32x1.5 |M32x1.5| - |82.4
2 65-160/9.2 | 80 |13411601200118 | 8 | 4 | 65 [115/145[185/16| 2 1360/160200,198| 28 |100| 95 [1402122803006671479| 15 1270 12 216266/ 50 | M32x1.5 |M32x1.5| - | 88
§165-200/15 | 80 |13411601200118 | 8 | 4 | 65 [115]145/18516 | 2 405/1801225[238| 20 |100} 95 [14025032013501806/621/ 20 350| 14 2541314160 | M40x1.5 |M40x1.5| - | 138
< 165-200/18.5] 80 |134/160200(18| 8 | 4 | 65 [115]145/185/16 | 2 4051801225238 20 |100]95 [140250320850850621/ 20 1350| 14 2543141 60 | M40x1.5 |[M40x1.5| - 137.2
¢ 165-200/22 | 80 134/1601200[18 | 8 | 4 | 65 [115[145[185/16] 3 405/180225[268| - |100] - | - 2503201350885| - | - | - | - | - | - | - |[M32x1.5|M32x1.5] - | 175

Your Life, our Quality. Worldwide. 16 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

3(L)S 40, 50, 65 - 11 = 15 KW 2 Poles
B
D2
P2 M40x1.5
N ‘ M_\ 350
l M %7 5
514#» L :3/ Y [1
iy A .
‘ I T /%Q\\
B | . <
W ]
& 7-918 S=
" —— PR D7 Mo
il T — O[] &
100 4-¢19 70
w 240
25 720 25 310
F

DIMENSIONAL TABLE
Model Dimensions [mm] Weight
DN1 P1 K1 D1 S1 z DN2 P2 K2 D2 S2 H H1 H2 H3 W B F [ka]
0 0 0 0 [1] [2] 0 0 1) 0
40-200/11 65 115 145 185 16 4 - 40 80 110 150 14 382 160 180 | 238 110 | 796 | 831 | 1178
50-200/11 65 115 | 145 | 185 16 4 50 95 125 | 165 16 | 402 | 160 | 200 | 238 | 110 | 796 | 831 |117.8
50-200/15 65 115 | 145 | 185 16 4 - 50 95 125 | 165 16 | 402 | 160 | 200 | 238 | 110 | 796 | 831 |147.9
65-160/11 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 16 | 402 | 160 | 200 | 238 | 1225 796 | 844 | 86.8
65-160/15 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 16 | 402 | 160 | 200 | 238 |1225| 806 | 854 | 1209
[1] Standard
[2] On request
3LS 80-160 2 Poles
¢ 200
¢ 135 é
M40x1.5 g
DNBQ, ‘ M40x1.5 8-¢8 %
\ g
— 1 ‘ 0000000000000} : = S— é
Qg 8 ‘ ono0ounicony = 8 |
I = e - e —— — 0 1 s
— ‘ botdcodooots — — H
24 ‘ - ‘g
‘ 9‘5 ‘ S 4915 ugi
125 @\ %
125 ‘ 621 520 £
B DIMENSIONAL TABLE %
‘ 30 < Model Dimensions [mm] Weight 52
‘ 4 B H3 G [kg] g
g |+ e 80160711 831 | 238 | 317 | 1458 | |-
80-160/15R 831 238 317 157 2
o = 80-160/15 831 238 317 157 H
S T & ™ 80-160/18.5 875 238 317 151.2 5
=

Your Life, our Quality. Worldwide. 17 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3LS 65-250, 80 2 Poles

8-018 2-G3/8

D1
P1

¥

4-¢D3

DIMENSIONAL TABLE

Model Dimensions [mm] Weight

DN1/P1/K1/D1/S1| DN2 |P2|D2/S2| H |[H1/H2|H3|H4H5/ R [W N1/N2{M M1 L |L1/L2/L3|L5/A1/A2 B | C F1] G D3D5 V1 V2 [kg]_
65-250/30] 80 1135160200[22 65 Fig. 1/120/185/20 450200250300 15 |25 1001120280360160, 8030531838880 358200[200| 966 [341]21.5[39919| 17 [M40x1.5M40x1.5 303
65-250/37] 80 113516020022 65 Fig. 1/120185 20 450200250300 15|25 11001120280360160/ 30 305318388 80 3582001200966 1341121.5/399119] 17 M40x1.5M40x1.5 320
80-200/22/100/155/1801225/24180 Fig. 2135200 22 4301180250268 13 |27 [125/95 280345/125/65 241279348 75 300[175/182(910 |329|24.5/360[15| 14 M32x1.5M32x1.5/ 207
80-250/3711001155/1801225/24180 Fig. 2135200 22 4802002803001 15125 [125[1208154001160/80 305818388 80 3582001200{10191369121.5/399/19] 17 M40x1.5M40x1.5/ 335

3LS 80 2 Poles
200
Ed il
2 » 135 8-¢18 Al A2
% V2 j
éé g 2 ‘ =
ol
g T
5 = 4-0D3 M1
?ﬂ N1
é [ L F1 N2
§ B
2 15
L A
g 4-917
é e T~ = 9
% DIMENSIONAL TABLE
% Model Dimensions [mm] Weight
S H | H1 /H2 | H3 |H4 [ H5 | W |NT[N2 | M M1 L | L1 12 L3 |L5]|A1 A2 B C F1]| G D3 V1 V2 [ka]
£180-200/30 | 450]200 | 250300 | 20 | 25 | 95 | 280360 [ 130 | 80 | 305318388 | 80 | 358 200|200 | 991|341 |21,5/399 | 14 [M40x1,5/M40x1,5] 306
£180-200/37 1450|200 250 | 300 | 20 | 25 | 95 | 280 | 360 | 130 | 80 | 305 | 318 | 388 | 80 | 358 | 200 | 200 | 991 | 341 21,5| 399 | 14 |M40x1,5/M40x1,5 325
180-250/45 1505]22512801335] 25 | 28 | 1201 315141511651 100 | 31113561436 | 80 | 386 | 225 | 225 11060| 385 137,5| 465 | 18 |M50x1,5/M50x1,5] 401

Your Life, our Quality. Worldwide. 18 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3LS 80-250/55 2 Poles
200 M50x1.5
9 135 M50x1.5 275 275
N I r 2-G3/8
2z d 3 8-p18
(e U] e a0\ s
B = I
:EER =1
T T
T T
2] I T 276,0 §
{ [ ] [ H
i
on o
i [ . ! ]
L [ ' i |
I
3 H 4-619 ©
315
850 26 405
1151

500

100

Weight
80-250/55: 489 kg -t

cessary, without prior notice.

right to effect any modification it deems nex

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the

Your Life, our Quality. Worldwide. 19 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

*80jjou Joud Jnoyym ‘A1essaoeu swaap i uojieaypoul AUe 1o8ye 0 1Bl ay) senesal 'y'd's adoing sdwing Y3 Buipuiq se papseBel aq 1ou 1snw uoliealand iU JO SIUBIU0O 8y |

(EX DIN 24255)
3(L)P 32, 40, 50, 65 up to 65-200 2 Poles
B1
\ V2
(X) onyior 32-200/55/7.5
Only for 50-125/2.2/3/4
@ Only for 65/125//4 /3/
DIMENSIONAL TABLE
Model Dimensions [mm] Weight
DN1| P1 | K1 S1 7 |DN2| P2 | K2 | D2 H|H1|{H2|H3|R|A |B|B1|D|E N2[N3|T V2 [kq]
910 0 [1] 9.0 0.0 [*]
32-125/1.1 | 50 | 95 125 1614 32 | 751100140 302/112]140]139] 80 |213]715/272| 80 | 550 340/250|710 M20x1.5]45.1 46.7
32-160/1.5 | 50 | 95 125 16| 4 32| 751100]140 3421132]160]148| 80 | 2541760317 80 | 590 390/300|750 M20x1.5/52.3152.3
32-160/2.2 | 50 | 95 125 16| 4 327511001140 3421132]160]148| 80 | 254760317 80 | 590 390|300 750 M20x1.5/53.5|53.5
32-200/3 50 | 95 1125 16| 4 32 | 751100]140 390|160/ 180 155| 80 [296|809366/| 80 | 590 390|300/ 750 M20x1.5/71.5|71.5
32-200/4 50 | 95 1125 16| 4 32| 7511001140 390/160|180|171| 80 |296|831/388| 80 | 590 390|300 750 M20x1.5/75.1175.1
32-200/5.5 | 50 | 95 125 16| 4 32 | 75 (100140 390/160]180|198| 80 | 296885442 100|650 390/ 300850 M32x1.5| 97 | 97
32-200/7.5 ] 50 1 95 1125 161 4 32 1 7511001140 3901160/ 180]198| 80 | 29688514421 100|650 3901300/ 850 M32x1.5] - 11122
40-125/1.5 | 65 [ 115]145 16| 4 40 | 80 [110]150 302| 11211401148 80 |213]760|317| 80 | 550 340] 250|710 M20x1.5/49.8 | 49.8
40-125/2.2 | 65 [ 115]145 16| 4 40 | 80 [110]150 302|112]140]148| 80 [213]760|317| 80 | 550 340[250/710 M20x1.5| 51 | 51
40-160/3 65 [ 115/ 145 16| 4 40 | 80 [110]150 34211321160 155/ 80 |254/809|366| 80 | 590 390/3001 750 M20x1.5| 81 | 81
40-160/4 65 115/ 145 16| 4 40 | 80 [110]150 34211321160/ 171| 80 |254/831]388| 80 | 590 390/ 3001750 M20x1.5| 67.6| 67.6
40-200/5.5 | 65 [ 115145 16| 4 40 | 80 [ 110]150 390/ 160]180] 198| 1001296 905|442 100|650 390300850 M32x1.5| 98 | 98
40-200/7.5 | 65 | 115|145 1614 40 | 80 |110]150 3901160]180]198] 1002961905442 100|650 390/300|850 M32x1.5| - 1069
- 140-200/11 ] 65 [115/145 161 4 40 | 80 1110/ 150 3901160]180]2381100]296 1071608 100|800 420133011000 M40x1.5| - 1127.8
50-125/2.2 | 65 |115/145 16| 4 50 | 95 [125]165 3421132]160]148]100|254 780|317 80 | 550 390/300|710 M20x1.5| 75 | 75
50-125/3 65 | 115]145 16| 4 50 | 95 [125]165 3421132]160]155] 100|254 1829366/ 80 | 590 390|300 750 M20x1.5/82.5|82.5
50-125/4 65 | 115]145 16 4 50 | 95 [125]165 3421132]160]171]100|254 1851|388 80 | 590 390/ 300|750 M20x1.5| 84.6 | 84.6
50-160/5.5 | 65 |115]145 16 4 50 | 95 |125/165 390/160]180|198| 100|296 905|442 | 100|650 390/ 300850 M32x1.5| 98 | 98
50-160/7.5 | 65 | 115|145 16| 4 50| 95 [125]165 390|160/ 180|198|100]296|905442|100| 650 390/ 300/ 850 M32x1.5| - 11069
50-200/9.2 | 65 | 115|145 16| 4 50 | 95 125165 410/160]200|198|100|296|945/482| 100|650 390/ 3001850 M32x1.5 1
50-200/11 | 65| 115|145 1614 | - |50]95]125]165 410/160]200|238|100|296|1071/608| 100| 800 420/330/1000 M40x1.5 1283
50-200/15 | 65 ]115]145 1614 - 150]951125/165 4101160]200]238| 100129611071/ 608 100|800 420133011000 M40x15] - 11354
| 65-125/4 80 [ 134160 18] 8 | 4 | 65|115/145/185 390|160/ 180]171/100/254/851]388| 80 | 590 390/300{750 M20x1.5| 85.1 85.1
65-125/5.5 | 80 | 134160 181 8 | 4 | 65]|115/145/185 3901 160|180/ 198|100 254|905| 442 | 100|650 390/300{850 M32x1.5] 99 | 99
65-125/7.5 | 80 | 134160 18| 8 | 4 | 65/115/145/185 390/ 1601|180|198|100/254/905|442|100|650 390/300/850 M32x1.5| - [109,4
65-160/7.5 | 80 1341160 181 8 | 4 |65]115]/145]185 41011601200/ 198|100|296|905 4421100650 390/300|850 M32x1.5 115,4
65-160/9.2 | 80 | 1341160 1818 | 4 |65]115/145]185 41011601200/ 198|100|296|945]482 100|650 390|300/ 850 M32x1.5 118
65-160/11 | 80 | 1341160 1818 | 4 |65[115/145]185 4101160/200/238|100|296|1071 608 | 100|800 420133011000 M40x1.5 1248
65-160/15 | 80 | 1341160 1818 | 4 |65[115/145]185 4101160/200/238|100|296|1071 608 | 100|800 420133011000 M40x1.5 129
65-200/15 | 80 | 134160 181 8 | 4 |65[115/145/185 4551180/225/238|100|296|1071 608 100|800 420133011000 M40x1.5 137
65-200/18.5] 80 | 134160 181 8 | 4 | 65]115/145]185 4551180]225]238|100]296|1115652| 100|800 420133011000 M40x1.5 135,2
65-200/22 ] 80 11341160 181 8 | 4 ]65]115/145]185 4551180/ 225]268] 100129611150 687 100] 800 450/ 360/1000 M32x1.5 189
[1] Standard [*] Only for IE3 motors
[2] On request
Your Life, our Quality. Worldwide. 20 Commercial




CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LP 65-250, 80 2 Poles
B
D2 B1
P2
‘D—NZ" - vt V2 2-63/8
o D @J T Il
5 = g[ﬁ ﬁ%}@ - — 1 =
M% T ==
o
R C 4-uD4 J* N3
100 E N1
T N2
DIMENSIONAL TABLE
Model Dimensions [mm] Weight
DN1/P1k1|D1/S1| DN2 |P2{D2|S2 | H |[H1|H2 H3|H4| R [NT|N2/N3 B |B1| C| G| E | T S D4|Sp.| V1 V2 [kg
65-250/30 | 80 |135]160|200] 22 |65 Fig. 1/120]185| 20 [510|200/250(300| 60 |100/530/590|460|1341|768|470/399|1000{1200| - | 19| 8 | M40x1.5 | M40x1.5 | 354
65-250/37 | 80 1135/160]200] 22 |65 Fig. 1/120/185| 20 |510{200/250/300| 60 |100/530/590/460(1341/768]470/399/1000/1200 - | 19| 8 | M40x1.5| M40x1.5| 373
80-160/11 |100{155]180(225| 24 |80 Fig. 2135[200] 22 |455|180/225|238] 50 |125/380|420(330/1096|608|360{317| 800 |1000[ 20 | 15| 5 | M40x1.5| M40x1.5 | 174,8
80-160/15R | 100{155|180]225| 24 |80 Fig. 2|135/200| 22 |455/180|225/238| 50 | 125/380/420/330/1096|608|360(317| 8001000 20 | 15| 5 | M40x1.5 | M40x1.5 | 186
80-160/15 | 100{155|180|225| 24 |80 Fig. 2135/200| 22 |455[180|225/238| 50 |125/380]420/330/1096|608|360|317| 8001000/ 20 | 15| 5 | M40x1.5| M40x1.5| 186
80-160/18.5/ 100|155/ 180|225 24 |80 Fig. 2|135/200| 22 |455/180|225|238| 50 | 125|380/420/330|1140/652|360/317| 800 |1000, 20 | 15| 5 | M40x1.5 | M40x1.5| 181,2
80-200/22 11001 155/180|225| 24 |80 Fig. 2|135/200] 22 |490/180250|268| 60 | 1255301590460 1285/687|470/360/1000{1200] - | 19| 8 | M32x1.5| M32x1.5| 259
80-250/37 1100/ 155/1801225] 24 |80 Fig. 2| 135/200] 22 |540/200/280|300] 60 | 125/530/590/460|1366/768|470/399/1000[1200] - | 19| 8 | M40x1.5| M40x1.5| 377
3LP 80 - 30 + 45 kw 2 Poles
B
¢ 200 B1
9 135
N
24
ﬁfﬂ N
o 8 g UL ]
o = %EP \ Bl 9180 i
125 470
100 1000 530
1200 590
DIMENSIONAL TABLE
Model Dimensions [mm] Weight
H H1 H2 H3 B B1 G S Vi V2 [kgl
80-200/30 510 180 250 300 1366 768 399 20 M40x1.5 M40x1.5 356
80-200/37 510 180 250 300 1366 768 399 20 M40x1.5 M40x1.5 365
80-250/45 565 200 280 335 1407 809 465 25 M50x1.5 M50x1.5 440
Your Life, our Quality. Worldwide. 21 Commercial

3 - 3L SERIES

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3LP 80-250/55 2 Poles
1516
# 200 018
8135 M50x1.5 MS0x1.5
‘DNBU : : 2-63/8

¢ | 506

¢ 225
155
omog, F
N
~ =
—— ] B

TE
)
A

605

200

75_|50

0,
& @
T — — 1 |
N
125 470 4-923 | | 550
S,

Weight
3LP 80-250/55: 528 kg

N UORLDYANd SIL JO SUBI0 8|

183p )| Uoljeaypow AUE 108}J8 0} 1yBu sy} senissal y'd'S adoing sdwing a3 ‘Buipuiq se papieBai aq 1ou lst

*80j0U Joud JnoujM ‘A1ESSa08U SUl

Your Life, our Quality. Worldwide. 22 Commercial



3(L)PF 32, 40, 50, 65

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

2 Poles

D]

DIMENSIONAL TABLE

Dimensions [mm] Weight
Model Fig. |[DN1| P1 | K1 | D1 | S1 z DN2| P2 | K2 | D2 | S2 | H | HlT | H| M| N | N2|R W | A B | [kal
[ | 2]
32-125 1 50 | 95 | 125 ] 165 | 16 4 - 32 | 75 | 100 | 140 | 14 | 252 | 112 | 140 | 114 | 140 { 190 | 80 | 70 | 213 | 440 | 17,0
32-160 1 50 | 95 | 125 1165 | 16 | 4 32 | 75 | 100 | 140 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19,0
32-200 1 50 | 95 | 125 1165 16 | 4 32 | 75 1100 | 140 | 14 | 340 | 160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 440 | 27,0
40-125 1 65 | 11511451185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 70 | 213 | 440 | 17,0
40-160 1 65 | 115 | 145 | 185 | 16 4 40 | 80 | 110 | 150 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19,0
40-200 2 65 | 11511451185 1 16 | 4 40 | 80 | 110 | 150 | 14 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27,0
50-125 2 65 | 11511451185 | 16 | 4 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 460 | 19,0
50-160 2 65 | 11511451185 ] 16 | 4 50 | 95 | 125|165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 28,0
50-200 2 65 | 1151 145 1 185 16 | 4 - 50 | 95 | 125|165 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 270
65-125 2 80 | 134|160 | 200 | 18 | 8 4 | 65 | 115|145 | 185 ] 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 | 28,0
65-160 2 80 | 134|160 200 18 | 8 4 | 65 | 1151145 | 185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 | 29,0
65-200 2 80 | 1341160 | 200 | 18 | 8 4 | 65 | 115 145 | 185 ] 16 | 405 | 180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 | 30,0
[1] Standard
[2] On request
* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.
Your Life, our Quality. Worldwide. 23 Commercial

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



*80jjou Joud Jnoyym ‘A1essaoeu swaap i uojieaypoul AUe 1o8ye 0 1Bl ay) senesal 'y'd's adoing sdwing Y3 Buipuiq se papseBel aq 1ou 1snw uoliealand iU JO SIUBIU0O 8y |

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)PF 65-250, 80 2 Poles
D2
P2 120 * Al A2
S1
o
-
a
-
3 & 2 g = s
T
N
4-9D3 1 M1
N
R C L N2
B
o g
DIMENSIONAL TABLE
Model Dimensions [mm] Weight|
DN1/P1|K1|D1[S1| DN2 | P2 /D2|S2| H |H1|H2 H3| R /W NT/N2/ M |M1| L [L1|D|D3|E|F |A1|A2| B | C | [kg

65-250 80 | 13511601200 22 | 65Fig. 11201 185] 20 [450]200]250] 15 1100 120/280]360|160| 80 | 130 80 | 32 | 19 1 10| 35 [175]182]570|340| 82,0
80-160 100 155/180]225| 24 | 80 Fig. 2| 135]200| 22 |405|180/225| 13 [125] 95 |250|320125| 65 |100| 50 | 24 | 15| 8 | 27 [147]173]485]260| 60,0
80-200 100]155/180(225| 24 | 80Fig. 2| 135]200| 22 [430| 180|250 13 | 125| 95 [280|345|125| 65 |130{ 80 | 32 | 15| 10| 35 [175]182]595/340| 83,0
80-250 100/ 155/180]225] 24 | 80 Fig. 2 | 135/ 200] 22 |480/200/280] 15 | 125]120]315/400] 160 80 | 130/ 80 | 32 | 19 | 10 | 35 | 175] 192] 595/ 340| 88,0
* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.
Your Life, our Quality. Worldwide. 24 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
JOINT FOR 3(L)S SERIES 2 Poles
L
b Screws UNI EN 1SO 4029
A ) N\
, - E o —
g [ ‘
< = %%C — R
DIMENSIONAL TABLE
Motor Dimensions [mm]

Model [HP] [kw] size d d1 42 d3 M L L1 b h Screws
32-125/1.1 1,5 1,1 30 19 2 19 33 M16x1,5 9 43 6 218 M6x6
32-160/1.5 2 1,5 90 19 2 24 39 M16x1,5 110 53 8 27.3 M8x8
32-160/2.2 3 22 90 19 2 24 39 M16x1,5 110 53 3 273 M8x3
32-200/3.0 4 3 100 19 2 28 43 M16x1,5 122 63 8 31,3 M8x8
32-200/4.0 5,5 4 112 19 2 28 43 M16x1,5 122 63 8 31,3 M8x8
32-200/5.5 75 5,5 132 19 2 38 58 M16x1,5 145 84 10 M3 M8x3
32-200/7.5 10 7.5 132 19 2 38 58 M16x1,5 145 84 10 413 M8x3
40-125/1.5 2 1,5 90 19 2 24 39 M16x1,5 110 53 8 27.3 M8x8
40-125/2.2 3 22 920 19 2 24 39 M16x1,5 110 53 8 27.3 M8x8
40-160/3.0 4 3 100 19 2 28 43 M16x1,5 122 63 8 31,3 M8x8
40-160/4.0 5,5 4 112 19 2 28 43 M16x1,5 122 63 3 31,3 M8x8
40-200/5.5 7.5 5,5 132 19 2 38 58 M16x1,5 145 84 10 M3 M8x8
40-200/7.5 0 7.5 132 19 2 38 58 M16x1,5 145 84 10 13 M8x8
40-200/11 15 11 160 19 2 4 63 M16x1.5 178 114 1 453 MB@ |
50-125/2.2 3 2.2 90 19 2 24 39 M16x1,5 110 53 8 27.3 MB@ |5
50-125/3.0 4 3 100 19 2 28 43 M16x1,5 122 63 8 31,3 M8x8 |3
50-125/4.0 5,5 4 112 19 2 28 3 M16x1,5 122 63 8 31,3 M8x8 |
50-160/5.5 7.5 55 132 19 2 38 58 M16x1,5 145 84 10 M3 M8x8 |7
50-160/7.5 10 7.5 132 19 2 38 58 M16x1,5 145 84 10 M3 M8x8 |%
50-200/9.2 12,5 92 132 19 2 38 58 M16x1,5 145 84 10 M3 M8x8 |3
50-200/11 15 11 160 19 2 4 63 M16x1,5 178 114 1 453 M8x8
50-200/15 20 15 160 22 2 4 63 M18x1,5 209 114 12 453 M8x8
65-125/4.0 5,5 4 112 19 2 28 43 M16x1,5 122 63 3 31,3 M8x8 =
65-125/5.5 7.5 5,5 132 19 2 38 58 M16x1,5 145 84 10 M3 M8x8 |
65-125/7.5 10 7.5 132 19 2 33 58 M16x1,5 145 84 10 13 M8x8 |z
65-160/7.5 10 7.5 132 19 2 38 58 M16x1,5 145 84 10 M3 M8x8 |2
65-160/9.2 12,5 92 132 19 2 38 58 M16x1,5 145 84 10 M3 M&x8 |
65-160/11 15 11 160 19 2 4 63 M16x1,5 178 114 1 453 M8x8  |<
65-160/15 20 15 160 24 30 42 63 M20x1,5 184 114 12 453 M8x8 |%
65-200/15 20 15 160 24 30 4 63 M20x1,5 184 114 12 453 M8x8 |
65-200/18.5 25 18,5 160 24 30 4 63 M20x1,5 184 114 12 453 M8x8 |E
65-200/22 30 2 180 24 30 48 72 M20x1,5 184 114 14 51,8 M10x10 |2
65-250/30 40 30 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12 |2
65-250/37 50 37 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12_ |2
80-160/11 15 11 160 24 30 4 63 M20x1,5 184 114 12 453 M3 %
80-160/15R 20 15 160 24 30 42 63 M20x1,5 184 114 12 453 MBx8  |¢
80-160/15 20 15 160 24 30 4 63 M20x1,5 184 114 12 453 M8x8 |2
80-160/18.5 25 18,5 160 24 30 4 63 M20x1,5 184 114 12 453 M8x8 %
80-200/22 30 2 180 24 30 48 72 M20x1,5 184 114 14 51,8 M10x10_|%
80-200/30 40 30 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12_ |2
80-200/37 50 37 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12 |2
80-250/37 50 37 200 29 35 55 85 M24x2 206 114 16 59,3 M12x12_ |2
80-250/45 60 45 225 29 35 55 85 M24x2 206 114 16 59,3 M12x12 |8
80-250/55 75 55 250 29 35 60 89 M24x2 218 144 18 64,4 M12x12_|°

Your Life, our Quality. Worldwide. 25 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

(EX DIN 24255)
JOINT FOR 3(L)P SERIES 2 Poles
o
©
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
DIMENSIONAL TABLE
. Dimensions [mm]

Model [HP] Motor size b1 h1 d b2 h2
32-125/1.1 1,5 80 8 27,3 19 6 218
32-160/1.5 2 90 8 27.3 24 8 27.3
32-160/2.2 3 90 8 27,3 24 8 27,3
32-200/3.0 4 100 8 273 28 8 31.3
32-200/4.0 55 112 8 27.3 28 8 31.3
32-200/5.5 7.5 132 8 27,3 38 10 41,3
32-200/7.5 10 132 8 273 38 10 413
40-125/1.5 2 90 8 27,3 24 8 27,3
40-125/2.2 3 90 8 27.3 24 8 27.3
40-160/3.0 4 100 8 27,3 28 8 31,3
40-160/4.0 55 112 8 27,3 28 8 31,3
40-200/5.5 7,5 132 8 27.3 38 10 413
40-200/7.5 10 132 8 27,3 38 10 41,3
40-200/11 15 160 8 273 42 12 453
50-125/2.2 3 90 8 27,3 24 8 27,3
50-125/3.0 4 100 8 27.3 28 8 31.3
50-125/4.0 55 112 8 27,3 28 8 31,3
50-160/5.5 7.5 132 8 27,3 38 10 41,3
50-160/7.5 10 132 8 27,3 38 10 413
50-200/9.2 12,5 132 8 27,3 38 10 41,3
50-200/11 15 160 8 27,3 42 12 45,3
50-200/15 20 160 8 27.3 42 12 453
65-125/4.0 55 112 8 27,3 28 8 31,3
65-125/5.5 1.5 132 8 27,3 38 10 41,3
65-125/7.5 10 132 8 27,3 38 10 41,3
65-160/7.5 10 132 8 27,3 38 10 41,3
65-160/9.2 12,5 132 8 27,3 38 10 41,3
65-160/11 15 160 8 27,3 42 12 45,3
65-160/15 20 160 8 27,3 42 12 453
65-200/15 20 160 8 27.3 42 12 453
65-200/18.5 25 160 8 273 42 12 45,3
65-200/22 30 180 8 27,3 48 14 51,8
65-250/30 40 200 10 353 55 16 59,3
65-250/37 50 200 10 353 55 16 59,3
80-160/11 15 160 8 27,3 42 12 45,3
80-160/15R 20 160 8 27,3 42 12 453
80-160/15 20 160 8 27.3 42 12 453
80-160/18.5 25 160 8 27,3 42 12 45,3
80-200/22 30 180 10 35,3 48 14 51,8
80-200/30 40 200 10 353 55 16 59,3
80-200/37 50 200 10 353 55 16 59,3
80-250/37 50 200 10 353 55 16 59,3
80-250/45 60 225 10 353 55 16 59,3
80-250/55 75 250 10 353 60 18 64,4

Your Life, our Quality. Worldwide. Commercial




3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LMZ 32, 40, 50-125/160/200/9.2/11, 65-125/160/7.5/9.2/11 SERIES

B
D2
P2 A
o DN2 \
o ”
C )
J% | N
I T
T T
| m
5l a8 | T
A
K _
. ]
st ||
R
M1
g3 e
DIMENSIONAL TABLE
Model Dimensions [mm] Weight
B kgl | £
DN1| P1 | K1 |D1|S1|Z|DN2| P2 | K2 |D2|S2 | H |HI1|H2|H3| R |M1|M2|S|N2| A [*1] C Vi1 V2 [*]
0| 0 0|0 0| 0| 0|0 g
32-125/1.11 50 | 95 [125[165] 16 [ 4 | 32 | 75 [ 100140 | 14 252112140 | 124 ] 80 [32.5]212| 6 | 190 | 213 | 407 PG 13.5/24,1 =
32-160/1.5] 50 | 95 [125[165] 16 [ 4] 32 | 75 [ 100[140| 14 1292132160 | 124] 80 | 42 [200| 6 | 210 | 254 | 407 PG 13.5 27 g
32-160/2.2] 50 | 95 [125|165| 16 |4 [ 32 | 75 [ 100|140 | 14 [292 [ 132|160 | 124| 80 | 42 [200| 6 | 210 | 254 | 432 PG 13.5 28 2
32-200/3.0] 50 | 95 [125[165] 16 [ 4 [ 32 | 75 [ 100 | 140] 14 [340 | 160 180 [ 124 | 80 [ 39 [205| 8 [ 220|296 | 471 PG 13.535,1 g
32-200/4.00 50 | 95 [125]165| 16 [ 4| 32 | 75 [ 100|140 ] 14 [340| 160|180 | 141] 80 [ 39 [ 205] 8 [220]296|494| - - - PG 16 38,2 g
32-200/5.5] 50 | 95 [125[165| 16 [ 4| 32 | 75 [100|140] 14 [340|160[ 180 150] 80 [ 39 [ 205] 8 [220]296| 519 - - |PG135|PG16[522] - |3
32-200/7.5] 50 | 95 [125[165] 16 | 4| 32 [ 75 [ 100|140| 14 [340|160[ 180 | 150 80 | 39 [ 205| 8 | 220|296 519|539 |275|PG135[PG 16| - [60,1]|5
40-125/1.5] 65 | 115]145|185] 16 | 4| 40 | 80 | 110] 150 14 [ 252|112 140|124 ] 80 [32.5]212| 6| 190|213 | 407 | - - - PG 13.5246]| - %
40-125/2.2] 65 | 115[145]185] 16 [ 4| 40 | 80 [ 110 150| 14 [252 [ 112] 140|124 80 [32.5[212| 6 [ 190 213|432 PG 13.5/26,1 g
40-160/3.0] 65 | 115[145]185] 16 | 4| 40 | 80 [ 110 150] 14 [292 ] 132]160[ 124| 80 | 42 [200| 6 | 210 254 | 471 PG 13.5/26,6 E
40-160/4.0] 65 | 115[145]185] 16 | 4| 40 | 80 [ 110|150 14 [292|132] 160 | 141] 80 | 42 [200] 6 | 210 | 254 | 494 - PG 16]40,8 H
40-200/5.5] 65 | 115[145]185] 16 | 4| 40 | 80 [ 110| 150| 14 [340| 160] 180 | 150 100] 39 | 205 8220|296 539 - - [PG135[PGT6[525] - |<
40-200/7.5] 65 | 115 145[185| 16 | 4| 40 | 80 | 110| 150| 14 [ 340|160 | 180 | 150 | 100 | 39 [205| 8 [ 220 [ 296 | 539 | 559 | 275 | PG 13.5| PG 16 59312
40-200/11] 65 [ 115]145]185] 16 |4 [ 40 [ 80 [110 [ 150 [ 14 [340 [ 160 | 180 [ 178 [ 100 | 39 [205| 8 [220[296 [595| - [359 PG 135|PG21 [ - [69,6]=
50-125/2.2] 65 | 115 145[185| 16 [ 4 | 50 | 95 [ 125]165| 16 [ 292|132 160|124 100| 42 [200| 6 [210[254|452| - | - - PG135/ 32| - |5
50-125/3.0] 65 | 115[145[185] 16 [ 4 | 50 | 95 [ 125]165] 16 [ 292|132 [ 160 | 124|100 | 42 [200] 6 [ 210 | 254 491 PG 13.530,9 £
50-125/4.00 65 | 115 145[185] 16 [ 4| 50 | 95 [ 125|165] 16 [292| 132160 [ 141]100| 42 [200| 6 [ 210 | 254|514 - PG 16 40,9 g
50-160/5.5) 65 | 115 145[185] 16 | 4| 50 | 95 | 125|165 16 |340| 160|180 | 150 | 100 | 39 | 205| 8 220|296 | 539 | - - |PG135|/PG16[465] - |z
50-160/7.5] 65 | 115|145 185] 16 [ 4] 50 | 95 [ 125]165] 16 | 340|160 [ 180 150 100 | 39 [205] 8 220296 | 539|559 | 275[PG 135/ PG 16| - [586]%
50-200/9.2] 65 | 115 145]185| 16 | 4| 50 | 95 | 125]165]| 16 [360] 160|200 178100 | 39 | 205| 8 [220[296|595| - |359|PG135[PG 21| - [639]%
50-200/11] 65 | 115[ 145[185] 16 [4 [ 50 | 95 [ 125[ 165 16 [ 360 | 160|200 178 100] 39 [205] 8 [220[296|595] - [359[PG13.5[PG21[ - [69,6] 2
65-125/4 1 80 | 134[160]200| 18 | 8 | 65 [ 115[145|185| 16 [340| 160[ 180 | 141 100] 42 [200| 6 | 210 | 254|514 - - - PG16[377] - |3
65-125/5,5] 80 | 134|160 200| 18 | 8| 65 [ 115]145|185| 16 | 340| 160| 180 | 150 100| 42 | 200| 6 | 210 | 254|539 | - - |PG135[PG16[487] - |5
65-125/7,5] 80 [ 134[ 160 200] 18 [ 8| 65 | 115] 145|185 16 | 340| 160| 180 150 | 100| 42 [200| 6 [ 210| 254 |539[559| 275|PG 135/ PG 16| - |52.1]%
65-160/7,5] 80 | 134 160]200| 18 | 8 | 65 | 115| 145]185] 16 [ 360 160|200 | 150 100 39 [205] 8 | 220296539559 275|PG 135/ PG 16| - [55.3|2
65-160/9,2| 80 | 134 160|200 | 18 | 8 | 65 | 115] 145[185| 16 [ 360 160|200 | 178 100 | 39 | 205]| 8 [220]296|595| - [359|PG13.5|PG21| - | 61 |3
65-160/11] 80 | 134 160]200] 18 | 8| 65 | 115]145]185] 16 [360 | 160|200 | 178 | 100 | 39 [205] 8 [ 220296 [595] - |359|PG135|PG21| - [674]%
g

[*] Only for IE3 motors

Your Life, our Quality. Worldwide. 27 Commercial



3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LMZ 50-200/15, 65-160/15, 65-200 SERIES
B
D2
P2
DN2 PG21
©
[ @
- ) %)
g | 2 =
s =g e i
= g
‘EL@ Fig. 1
. [ 5]
100 151.5 350 16 & 318
4- 014
& 8 N
I 382 |
4 W E ;)
7 | -
8 T
=l Lo ] |7
H I il
i | c 254 | 25 S
Z 4- 014
[ - 3 ]
;%’; 304
E -+ H+ 32
§ DIMENSIONAL TABLE
% Model Dimensions [mm] Weight
kgl
§ DN1 P1 K1 D1 S1 YA DN2 P2 K2 D2 Fig. H H1 H2 B C
: 4] 4] 4] 4] 9] 9] ] 4]
g 150-200/15 65 115 145 185 16 4 50 95 125 165 2 360 160 200 723 | 1905 | 1051
2 | 65-160/15 80 134 160 200 18 8 65 115 145 185 2 360 160 200 732 | 1995 | 1071
% 165-200/15 80 134 160 200 18 8 65 115 145 185 1 405 180 225 732 - 110,1
< 165-200/18.5 80 134 160 200 18 8 65 115 145 185 1 405 180 225 732 - 125,3
£ 65-200/22 80 134 160 200 18 8 65 115 145 185 1 405 180 225 732 - 136,1

[*] Only for IE3 motors

Your Life, our Quality. Worldwide. 28 Commercial



3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LSZ 32-125/160, 32-200/3/4, 50-125/2.2, 65-125/4 SERIES
B
D2
P2 M25x1.5 A
PN2 _
~ M20x1.5 £=#18 |
w
|\ )
Lip oo D
4 i ,3“: i <
[ o— || [[— 78
—| —| = AnNnNAA — \ T
i e B N 1| {Lao0000 —— . y
| H—HB00000 H —— - S
;1 ’2’—]:‘ ') —
i i L mm .
L : : w 7
H
\— — L L m m
S1 T T T T f
R 119 ‘ ‘ ‘
c D E
M1 M2 4-918
y 4-gF w2 /é
—— 7 =
o 8 | . DN2
o ej
DIMENSIONAL TABLE >
Model Dimensions [mm] Weight é
DN1/ P1|K1|D1|S1 |z [DN2| P2 |K2|D2|S2| H |H1|H2|H3|R|A|B|C|D|E|F|G]|L1|L2|M|M2|N2| [ka] |B
0 0|00 0|0 |00 ] [* %
32-125/1.1 | 50 | 95 [ 125/ 165] 16 | & | 32| 75 | 100 140] 14 | 252 | 112|140 139 80 | 213430 168 100] 15| 9 |130] 2052251325/ 117 190] 23.1 | 24.7 | &
32-160/15 | 50| 95 [125]165] 16 | 4 | 32 | 75 [100|140] 14 [292 132|160 148| 80 | 254 [477[186125] 25 | 9 |170]210/230] 42 [105]210] 29.8 | 29.8 | &
32-160/2.2 | 50 | 95 | 125[165] 16 | 4 | 32 | 75 | 100|140| 14 [292|132 160|148 80 | 254 |477(186|125| 25 | 9 |170]210]230] 42 [105]210| 324 | 324 &
32-200/3.0 | 50 | 95 [125/165] 16 | 4 |32 | 75 [100|140| 14 340160 180|155 80 | 296|528 |205|140(22.5 11 | 185|160|202| 41 [106|210| 469 | 469 | %
32-200/4.0 [ 50 [ 95 [125|165| 16 | 4 | 32 | 75 |100| 140| 14 [340( 160180 171| 80 |296 550|212 | 140(22.5/ 11 |185| 190|228 41 [106/210] 49 | 49 |<
50-125/2.2 | 65 | 115 145/185] 16 | 4 | 50 | 95 | 125|165 16 | 292|132 160] 148| 100|254 497 [186]125] 25 | 9 |170/210]230] 42 [105]210] 32.9 | 32.9 | 5
65-125/4.0 | 80 | 134]160(200] 18 | 8 | 65 | 115] 145] 185] 16 | 340] 160] 180| 171] 100|254]570|212[140(22.5] 11 [185[190[228] 42 [105]210] 50.1 [ 50.T ] &

Your Life, our Quality. Worldwide. 29 Commercial



3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LSZ 32-200/5.5/7.5, 40-125/160, 40-200/5.5/7.5, 50-125/3/4, 50-160, 50-200/9.2, 65-125/5.5/7.5, 65-160/7.5/9.2 SERIES

B
D2
) A
Vi V2 _
o DN2 7-918
SR
T ] B TI 7]’
Thy 22l il
| e 18 2 N
o 000000000 [ —
- R e Qﬁ/ﬁ
5| & B Uity — (O =
e BN
: 00000000 [ —— @ & g
i BB 3 = ey I e N
B 1 i | a L
S1 §_F_J : 1 — | | qq Eﬁ q)
R 119 ‘ ©
c 15

—

M1 M2
4-918
i —
N - G @
[T

—
F——
S 3, o o DN2
o | G ‘
g 7
DIMENSIONAL TABLE

Model Dimensions [mm] Weight
DN1| P1 | K1 | D1 | $1 DN2| P2 | K2 | D2|S2 | H |Hl |{H2|H3 H4| R | A | B| C F |G |L1|L2]|L3|M1| M2 N2 [kg]
0 0|00 010,00 4] *]

32-200/5.5 [ 50 | 95 |125]165] 16
32-200/7.5 [ 50 [ 95 | 125]165] 16
40-125/1.5 [ 65 [115]145[185] 16
40-1252.2 [ 65 [ 115]145[185] 16
40-160/3.0 | 65| 115]145]185] 16
40-160/4.0 | 65 [ 115]145]185] 16
40-200/5.5 | 65 [ 115]145]185] 16
40-200/7.5 | 65 | 115] 145]185] 16
50-125/3.0 | 65 [ 115[145]185] 16
50-125/4.0 | 65| 115]145]185] 16
50-160/5.5 | 65| 115]145] 185] 16
50-160/7.5 | 65| 115] 145] 185[ 16
50-200/9.2 | 65 [115]145]185] 16
65-125/5.5 | 80 [ 1341160200 18
65-125/7.5 | 80 [ 134]160]200]| 18
65-160/7.5 | 80 | 134]160|200] 18
65-160/9.2 | 80 [ 134[160]200] 18

[*] Only for IE3 motors

321 751100)140] 14 [340 /160|180 198| 28 | 80 |300|607| 479 | 12 |270|216]266| 50 | 41 | 106/210|71.8]71.8
32 [ 751100[140] 14 [340| 160 180|198 28 | 80 | 300|607 479 | 12 [270]216266| 50 | 41 [106]210| - | &7
40 | 80 | 1101150 14 [252|112]140]148| 22 | 80 |213]477] 342 | 10 | 186 140]185] 45 [32.5] 117/190/26.5/26.5
40 | 80 [ 1101150 14 [2521112]140]148| 22 | 80 |213]477] 342 | 10 | 186 140]185] 40 [32.5] 117]190]29.5/29.5
40 | 80 | 1101150 14 [292]132]160] 155] 32 | 80 | 254|528 387.5] 12 [220]160]200| 50 | 42 | 105|210]42.5]42.5
40 | 80 | 110] 150 14 [292] 132160 171] 20 | 80 | 254|550|394.5 12 |220]190]240| 50 | 42 | 105]210[44.6|44.6
40 | 80 [ 110] 150 14 [340] 160|180 198 28 | 100| 300| 627| 479 | 12 [270[216]266| 50 | 41 | 106]210[72.272.2
40 | 80 | 110/ 150 14 [340] 160 180|198 | 28 | 100|300 627 479 | 12 [270]216|266| 40 | 41 [106]210] - | 82
50 1 95 1251 165| 16 1292|1321 160] 155] 32 | 100|254 548|387.5] 12 | 220]160]200| 50 | 42 | 105]210[35.5[355
50 | 95 [125]165] 16 1292]132]160] 171] 20 | 100] 254|570]394.5] 12 [ 220 190] 240| 50 | 42 | 105]210]45.6/45.6
50 | 95[125]165] 16 | 340|160 180| 198| 28 | 100| 300 627| 479 | 12 | 270] 216|266| 50 | 41 [ 106] 210|63.8/63.8
50| 95[125]165] 16| 340|160 180| 198| 28 [ 100 300|627 | 479 | 12 [270|216(266| 50 | 41 [106|210] - | 91
50 195 [ 125165 16 [360] 160|200 | 198 | 28 [ 100|300 |667| 479 | 12 [270]216|266| 50 | 41 [106[210] - [90.7
65 [ 115]145[185] 16 [340|160| 180|198 | 28 | 100|300 |627| 479 | 12 [270]216|266| 50 | 42 {105]210| 60 | 60
65 | 115]1145]185] 16 [340[ 160 180|198 | 28 | 100|300 |627| 479 | 12 |270]216]266| 50 | 42 | 105|210] - |794
65 | 115]145[185] 16 [360| 160200 198 | 28 | 100|300 627| 479 | 12 |270]216[266| 50 | 41 | 106|210 - |82.4
65 [ 115]145[185] 16 [360] 160|200 198 28 [100] 300|667 479 | 12 [270[216]266] 50 | 41 [106]210] - | 88

0| O0| 0| OO| | | BB D A N

*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

Your Life, our Quality. Worldwide. 30 Commercial



3Z SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LSZ 40-200/11, 50-200/11/15, 65-160/11/15, 62-200 SERIES

M40x1.5
A A
—— R
M
T ~
x
/7753
,,,,,,,,,,,, Ll by 4=
— t J
g @ S~ 3
Fig. 1 l: > -
i ,
! | _/“l/_ﬂ__l|
100 c | 350 | 16 S 7-#18
- 3 ]
<
TT ‘ 382 ‘
R o
4 FORI ¢ 15
3

~
o~

329 V| 241 | | 245 | 279 |

4 FORI 8 15 /| 300

DIMENSIONAL TABLE

Model Dimensions [mm] Weight
DN1 P1 K1 D1 S1 Z DN2 P2 K2 D2 S2 Fig. H H2 H3 A B C [kq]
0 0 0 0 0 0 0 0
40-200/11 65 [ 115 | 145 [ 185 | 16 4 40 80 | 110 [ 150 [ 14 1 360 | 180 | 238 | 350 | 796 | 258 | 117.8
50-200/11 65 | 115 | 145 | 185 | 16 4 50 95 [ 125 | 165 | 16 1 380 | 200 | 238 | 350 | 796 | 258 | 11738
50-200/15 65 | 115 | 145 | 185 | 16 4 50 95 [ 125 [ 165 | 16 1 380 | 200 | 238 | 350 | 796 | 258 | 1479
65-160/11 80 | 134 | 160 | 200 | 18 8 65 | 115 [ 145 | 185 | 16 1 380 | 200 | 238 | 350 | 796 | 258 | 86.8
65-160/15 80 | 134 | 160 | 200 [ 18 8 65 | 115 | 145 | 185 | 16 1 380 | 200 | 238 | 350 | 806 | 268 | 120.9
65-200/15 80 [ 134 [ 160 | 200 | 18 8 65 [ 115 [ 145 [ 185 | 16 1 405 | 225 | 238 | 350 [ 806 [ 268 138
65-200/18.5 80 | 134 | 160 | 200 | 18 8 65 [ 115 [ 145 | 185 | 16 1 405 | 225 | 238 | 350 | 850 | 268 | 137.2
65-200/22 80 | 134 | 160 | 200 | 18 8 65 | 115 | 145 | 185 | 16 2 405 | 225 | 268 | 360 | 885 - 175

[*] Only for IE3 motors

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 31 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)M SERIES 32, 40, 50, 65 - up to 11 kW 2 Poles
1 4 26 772 56 16 1/ 58 6 12 2
N i )
7 I
/‘E&_ )
oY [ ] T =X
73 EQ«SJ “
J |-
YT, I S
32 = A i@ﬁlcn
i ) ﬁ it I O S 1| = — i 107
=
34 ] o
[]
D/ ‘ m ”
pp—
1 S ===
i f; \\ l“ ”
25 200 11 3 23518 92 19 22 42 20 13
SECTIONAL VIEW 3(L)M 32, 40, 50, 65 SERIES - from 15 kW and over 2 Poles
7
| 206
| -
f / : g@ +
2 = I L B S e RA—
i | il sl
| s 7 S
{ I .| > ]
=4 :
: W T
| ‘ | L]
44

Your Life, our Quality. Worldwide. 32 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MATERIALS TABLE
Ref. Name Materials
3M 3LM
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
011 ] Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM
012 | Motor frame -
013 | Motor cover Aluminium
014 | Fan PA
015 | Fan cover Galvanised steel Fe P04
016 | Terminal box -
017 | Terminal box cover Aluminium (three phase version)
018 | Spray protector washer NBR \
019 | Bearing (pump side) -
020 | Bearing (motor side) -
021 | Adjusting ring Steel C70
022 Tie-rod Galvanised steel e 42
Screw Galvanised Steel
025 | Plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR \ FPM
032 Key EN 1.4401 (AISI 316)
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Motor support Aluminium / Galvanised Steel
056 | Terminal box gasket NBR
058 | Cable gland -
072 | Casingring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Casing ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
092 | Sealring - -
093 | Sealring
101 | Seeger ring Carbon steel TC 80
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
206 | Support screw [2] Galvanised Steel
244 [Plug[3] \ EN 1.4301 (AISI 304)

[2]= For 15 kW and over
[3]= Only for 65-160/15 and 65-200

[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 33 Commercial



i8ap I Uoljealpou AUE Joas 0 1BU 8y} sanesal “y'd's adoin3 sduing g3 “Buipuiq se papseBal 8q 10U 1SN uoleolgnd iU JO SIUBJU0O 8|

*80j0U Joud JnoujM ‘A1ESSa08U SUl

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LM SERIES 80-160/11 2 Poles

T34 32 1 4 26 5 56 16 1/ 58 6 12 13 14 15 75 24 77

725 76 /8 235200 244 18 92 19 101 201 42 22 220 20 21 93

SECTIONAL VIEW 3LM SERIES 80-160/15R 2 Poles

70%2 4 26 5 18 206 56 16 17 58 12 13 14 15 75 24 77

T W'Illl W/@ "

- g = |
= VAT
S ——
o i

A
e )

EE; \(\\ \\ \W

1 25 76 78 34 11 235200244 92 19 6 42 22 .20 21 93 230 201

Your Life, our Quality. Worldwide. 34 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 032 | Key EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut Aluminium
004 | Casing cover EN 1.4404 (AISI 316L) 042 | Motor support Aluminium
EN 1.4404 (AISI 316L) - .
006 | Shaft Part in contact with the liquid 056 | Terminal box gasket NBR
007 | Impeller EN 1.4401 (AISI 316) 058 | Cable gland -
011 | Mechanical seal SiC/SiC/FPM 075 | Washer EN 1.4404 (AISI 316L)
012 | Motor frame - 076 | Washer EN 1.4404 (AISI 316L)
013 | Motor cover Aluminium 077 | O-Ring EPM
014 |Fan PA 078 | O-Ring
015 | Fan cover Galvanised steel Fe P04 092 | Sealring (11-13 kW, 15-18,5 kW)
016 | Terminal box - 093 | Sealring (11-13 kW, 15-18,5 kW) -
017 | Terminal box cover Aluminium 101 | Seeger ring (only for 11-13 kW) Carbon steel TC 80
018 | Spray protector washer NBR 200 | Screw (pump body) Stainless steel A2-70 class ISO 3506/1
019 | Bearing (pump side) - 201 | Screw (11-13 kW, 15-18,5 kW) Stainless steel A2-70 class ISO 3506/1
020 | Bearing (motor side) - 206 | Support screw motor (only for 15-18,5 kW) Galvanised Steel
021 | Adjusting ring Steel C70 220 | Tie-rod nut (only for 11-13 kW) Galvanised Steel
022 | Tie-rod Galvanised Steel 230 | Washer (11-13 kW, 15-18,5 kW) Galvanised Steel
024 | Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
025 | Plug EN 1.4404 (AISI 316L) 244 | Plug[1] EN 1.4301(AISI 304)
026 | O-Ring FPM

[1]= Not for H and E versions

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 35 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3(L)S SERIES 32, 40, 50 2 Poles

SECTIONAL VIEW 3(L)S SERIES 65 2 Poles

uL

jeoliand sil} Jo Sjuajuo 8l

id oy 16SS308U SWaaP I UONeaynouLl AUE 1088 0} 1Bl 8} sensesal “y'd'S adoin3 sduwing g3 “Buipuiq se papseBal aq 10U Jsnu uoi:

Your Life, our Quality. Worldwide. 36 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

MATERIALS TABLE

(EX DIN 24255)

Ref. Name

3S

Materials

3LS

001 | Pump casing

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

003 | Motor bracket

Cast iron EN-GJL-200-EN 1561

003A | Adapter ring [1]

Cast iron EN-GJL-200-EN 1561

004 | Casing cover

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

006 | Joint - Part in contact with the liquid

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

007 | Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
011 | Mechanical seal Carbon/Ceramic/NBR SiC/SiC/FPM

012 | Motor -

025 | Plug EN 1.4401 (AISI 316) / PTFE

026 | O-Ring NBR \ FPM

032 | Key EN 1.4401 (AISI 316)

034 | Impeller nut

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

042 | Motor support

Aluminium / Galvanised Steel

044 | Support protection

EN 1.4301 (AISI 304)

072 | Casing ring [2]

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

073 | Casing ring (not for 65)

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

200 | Screw (pump body)

Stainless steel A2 70 class 1SO 3506/1

201 | Screw

Galvanised Steel

206 | Support screw

Galvanised Steel

206-2 | Adapter ring screw

Galvanised Steel

244 | Plug [3]

EN 1.4301 (AISI 304)

[1]= For 65-125/5.5 and 65-125/7.5 versions only
[2]= For 32-200, 40-200, 50-160, 50-200 versions only
[3]= For 65-160/15, 65-200 versions only

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 37 Commercial



SECTIONAL VIEW 3LS SERIES 80-160

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

2 Poles

T34 7 32 40 2600 N 44
E_il
; o o]
| iR ' *}
| B e 1 :
000000000000
bl
009000000000} )
= o ] |
g P
! | | om o
LI \ L
‘ \LJ \ e 1 ‘
25 76 /8 255 200 244 6 42 12
MATERIALS TABLE
_ |_Ref. Name Materials Ref. Name Materials
&| 001 | Pump casing EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
2| 003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 ] Motor support Aluminium
5| 004 | Casing cover EN 1.4404 (AISI 316L) 044 | Support protection EN 1.4301 (AISI 304)
E| 006 |Joint EN 1.4404 (AISI 316L) 075 | Washer
- [ 007 | Impeles EN 14407 (ALS1 316) 076_| Washer EN 1.4404 (AIsI 3161)
| 011 | Mechanical seal SIC/SIC/FPM 077 ] O-Ring FPM
g1 012 | Motor - 078 | O-Ring
2] 024 [|Plug EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class 150 3506/1
2| 025 |Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
g1 026 |O-Ring FPM 244 | Plug[1] EN 1.4301(AISI 304)
“;? 032 | Key EN 1.4401 (AISI 316)
g [1]= Not for H and E versions
Your Life, our Quality. Worldwide. 38 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LS SERIES 65-250, 80 2 Poles

134 7 32 4 26 4A 113 3A 75 24 77

25 76 78 420 235 200 244 6 21
MATERIALS TABLE

Ref. Name Materials Ref. Name Materials

001 | Pump casing EN 1.4401 (AISI 316) 65-250 d=24 mm

003 | Motor bracket Cast iron EN-GJL-200-EN 1561 032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316)

003A | Adapter ring Cast iron EN-GJL-200-EN 1561 80-250 d=29 mm

004 | Casing cover . EN 1.4401 (AISI 316) 65-250 d=24 mm

004A | Casing cover screw disc ENE,;I.JA%EZO(SUAFLSI(L;(S)tAgeI) 034 | Impeller nut 80-200_d=24 EN 1.4404 (AISI 316L)
65-250 d=24 mm ner 30-37 KW 80-250 d=29 mm ~

006 | joint EN 1.4404 (AISI 316L) per 22 kW 042 | Motor bracket Aluminium

on 80-200 d=24 mm EN 1.4462 (duplex steel) 0a2A | Pump bracket Aluminium/galvanised steel
v 22250((137 }<W ) 5 E (only for 80-250/55)

80-250 d=29 mm . uplex stee asher

007 | Impeller EN 1.4401 (AISI 316) 076 | Washer EN 1.4404 (AISI 3161)

011 | Mechanical seal SiC/SiC/FPM 077 | O-Ring EPM

012 | Motor - 078 | O-Ring

024 |Plug EN 1.4404 (AlSI 316L) 200 | Screw (pump body) Stainless steel A2-70 class ISO 3506/1

025 |Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)

026 | O-Ring FPM 244 | Plug [1] EN 1.4301(AISI 304)

[1]= Not for H and E versions

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 39 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3(L)P SERIES 32, 40, 50, 65 2 Poles
1 4 26 11 92 66 19 6 20 BA 44 538 12

e

244 42 67 93 33 142 50

MATERIALS TABLE

Ref. Name Materials
3P 3LP
EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
Cast iron EN-GJL-200-EN 1561

001 | Pump casing
003 | Motor bracket

*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

004 | Casing cover

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

006 | Shaft - Part in contact with the liquid

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

006A | Joint Cast iron EN-GJL-250-EN 1561

007 |impeller 32,40,50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4401 (AISI 316)

011 | Mechanical seal Carbon/Ceramic/NBR \ SiC/SiC/FPM

012 | Motor

019 | Bearing (pump side)

020 | Bearing (motor side) -

8%2 glulg R EN 1.4401 (AI‘SI 316)/ PTFE o
-Ring

032 | Key EN 1.4401 (AISI 316)

033 | Key C40

034 | Impeller nut

EN 1.4301 (AISI 304)

\ EN 1.4404 (AISI 316L)

042 | Motor support

Fe 37 galvanised steel

044 | Joint cover

Fe 37 galvanised steel

050 | Motor support

Aluminium / Galvanised Steel

058 | Cable gland

066 | Bracket cover

Cast iron EN-GJL-250-EN 1561

067 | Bracket cover

Cast iron EN-GJL-250-EN 1561

072 | Casing ring [1]

EN 1.4301 (AISI 304)

EN 1.4404 (AISI 316L)

073 | Casing ring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
092 |Vring

093 | Vring -

142 | Base Fe 37 galvanised steel

200 | Screw (pump body) Stainless steel A2 70 class 1SO 3506/1

244 | Plug 2] - EN 1.4301 (AISI 304)

[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions only

[2]= For 65-160/15 and 65-200 versions only

Your Life, our Quality. Worldwide.

Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LPF SERIES 80-160 2 Poles

75 24 77

28
66 92 89 19

3 6 20 67 93

42A 50B 50C

[1]= Not for H and E versions

Your Life, our Quality. Worldwide.

MATERIALS TABLE i
Ref. Name Materials Ref. Name Materials g
001 | Pump casing EN 1.4401 (AISI 316) 050 | Rest Aluminium 2
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 050A | Pump spacer - g
004 | Casing cover EE,FI\I 1144114411%4‘11 ((AAI|SS|I 3311 gb) 050B | Pump spacer 2
006 | Shaft Part in contact with the liquid 050C | Joint cover spacer :
006A | Joint Cast iron EN-GJL-250-EN 1561 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
007 | Impeller EN 1.4401 (AISI 316) 067 | Bracket cover Cast iron EN-GJL-200-EN 1561 3
011 | Mechanical seal SIC/SIC/FPM 075 | Washer g
012 | Motor - 076 | Washer EN 1.4404 (AISI 316L) 2
019 | Bearing (pump side) - 077 | O-Ring P ¢
020 | Bearing (motor side) - 078 | 0O-Ring g
024 | Plug EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80 g
025 | Plug EN 1.4404 (AISI 316L) 092 | Sealring g
026 | O-Ring FPM 093 | Sealring 3
032 [ Key EN 1.4401 (AISI 316) 200 | Screw (pump body) Stainless steel A2 70 class 150 3506/1 | &
033 | Key C40 235 | Washer EN 1.4301(AISI 304) &
034 | Impeller nut EN 1.4404 (AISI 316L) 244 | Plug [1] EN 1.4301(AISI 304) E
042 | Motor support Galvanised Steel E
042A | Base Galvanised Steel 2
044 ] Joint cover Galvanised Steel £

2

Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

SECTIONAL VIEW 3LPF SERIES 65-250, 80

2 Poles

6 20 67 93

42A 50B 50C

MATERIALS TABLE

Ref. Name Materials Ref. Name Materials

001 | Pump casing EN 1.4401 (AISI 316) 042 | Motor support Galvanised Steel

003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised Steel

004 | Casing cover EN 1.4401 (AISI 316) 044 | Joint cover Galvanised Steel

004A | Casing cover screw disc EN 1.4301(AISI 304) 050 | Motor support (only for 35-250/22 kW) Aluminium

006 | Shaft EN 1.4462 (duplex steel) for 30-37 kW | 050A | Pump spacer Aluminium

006A | Joint Cast iron EN-GJL-200-EN 1561 0508 | Pump spacer Aluminium

007 | Impeller EN 1.4401 (AISI316) 050C | Joint cover spacer Aluminium

011 | Mechanical seal SIC/SiC/FPM 066 | Bracket cover Cast iron EN-GJL-200-EN 1561

012 | Motor ( & - 067 BracEet cover Cast iron EN-GJL-200-EN 1561

019 | Bearing (pump side 075 | Washer

020 | Bearing (motor side) - 076 | Washer EN 1.4404 (AISI 316L)

024 | Plug EN 1.4404 (AlSI 316L) 077 | O-Ring EPM

025 |Plug EN 1.4404 (AISI 316L) 078 | O-Ring

026 | O-Ring FPM 089 | Seeger ring Carbon steel TC 80
65-250 d=24 mm 092 | Sealring -

032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316) 093 | Sealring -
80-250 d=29 mm 200 | Screw (pump body) Stainless steel A2 70 class 15O 3506/1

033 | Key C40 235 | Washer EN 1.4301 (AISI 304)
65-250 d=24 mm 244 | Plug[1] EN 1.4301 (AISI 304)

034 | Impeller nut 80-200 d=24 mm EN 1.4404 (AISI 316L)
80-250 d=29 mm

8 [1]= Not for H and E versions
Your Life, our Quality. Worldwide. 42 Commercial




_3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions only
[2]= For 65-160/15 and 65-200 versions only

(EX DIN 24255)
SECTIONAL VIEW 3(L)PF SERIES 32, 40, 50, 65 2 Poles
92 66 89 19 6 20

/3

52

34

7/

25 35 200 72 11 244 42 6/ 93 355
MATERIALS TABLE
Ref. Name Materials

3P 3LP g
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 5
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) §
006 | Shaft - Part in contact with the liquid EN 1. 4301 (AlSI 304) EN 1.4404 (AISI 316L)
007 |mpeller 32,40,50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) é
P 65-125/160/200 EN 1.4401 (AISI 316) g
011 | Mechanical seal Carbon/Ceramic/NBR \ SIC/SIC/FPM g
019 | Bearing (pump side) - 5
020 | Bearing (motor side) - 5
025 | Plug EN 1.4401 (AISI 316) / PTFE g
026 | O-Ring NBR FPM £
032 | Key EN 1.4301 (AISI 304) EN 1.4401 (AISI 316) 2
033 | Key C40 Z
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) 2
042 | Motor support Fe 37 galvanised steel 2
066 | Bracket cover Cast iron EN-GJL-250-EN 1561 g
067 | Bracket cover Cast iron EN-GJL-250-EN 1561 g
072 | Casingring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) -
073 | Casing ring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) %
089 | Seeger ring Carbon steel TC 80 g
092 | Seal ring - g
093 | Seal ring - 5
200 | Screw (pump body) Stainless steel A2 70 class 1SO 3506/1 8
244 | Plug [2] - \ EN 1.4301 (AISI 304) 3

Your Life, our Quality. Worldwide. 43 Commercial



*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

SECTIONAL VIEW 3LPF SERIES 80-160

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

2 Poles

66 92 89 19 3

6 20 67 93

76 11 244
||
42
200
235
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 | Motor support Galvanised Steel
004 | Casing cover EN 1.4404 (AISI 316L) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
006 | Shaft EN'1.4404 (AIS316L) 067 | Bracket cover Cast iron EN-GJL-200-EN 1561
007 | Impell Fart lErl]\lc?rﬁ(c)% v(\gtlglt?fg;qwd 075 | Wash
mpeller ) asher
076 | Washer EN 1.4404 (AISI 316L)
011 | Mechanical seal SiC/SiC/FPM 077 | O-Ring FPM
078 | O-Ring
019 | Bearing (pump side) 089 | Seeger ring Carbon steel TC 80
020 | Bearing (motor side) - 092 | Seal ring i
024 | Plug EN 1.4404 (AISI 316L) 093 | Seal ring
025 | Plug EN 1.4404 (AISI 316L) 200 | Body screw Stainless steel A2 70 class ISO 3506/1
026 | O-Ring FPM 235 | Washer EN 1.4301(AISI 304)
032 | Key EN 1.4401 (AISI 316) 244 | Plug[1] EN 1.4301(AISI 304)
033 | Key C40
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 44 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

SECTIONAL VIEW 3LPF SERIES 65-250, 80

2 Poles

66 89 19 6 20 67 93
33
WO
’’’’’’’’’’’’’’ -1 "1 7’@7
L@
1M 244 3
235 200 42
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 033 | Key C40
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 65-250 d=24 mm
004 | Casing cover EN 1.4401 (AISI 316) 034 | Impeller nut 80-200 d=24 mm EN 1.4404 (AISI 316L)
004A | Casing cover screw disc EN 1.4301(AISI 304) 80-250 d=29 mm
006 | Shaft EN 1.4462 (duplex steel) for 30-37 kW | 042 | Motor support Galvanised Steel
007 | Impeller EN 1.4401 (AISI316) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
067 | Bracket cover Cast iron EN-GJL-200-EN 1561
011 | Mechanical seal SiC/SiC/FPM 075 | Washer
076 [Washer EN 1.4404 (AISI 316L)
019 | Bearing (pump side) 077 | O-Ring FPM
020 | Bearing (motor side) - 078 | O-Ring
024 | Plug EN 1.4404 (AISI 316L) 089 | Seeger ring Carbon steel TC 80
025 | Plug EN 1.4404 (AISI 316L) 092 | Sealring -
; 093 | Sealring
026 ] O-Ring FPM 200 | Screw (pump body) Stainless steel A2 70 class IS0 3506/1
65-250 d=24 mm 235 | Washer EN 1.4301 (AISI 304)
032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316) 244 | Plug [1] EN 1.4301 (AISI 304)
80-250 d=29 mm
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 45 Commercial

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MECHANICAL SEAL standard version MATERIALS TABLE
L Ref. Name Materials
L P 3 SERIES 3L SERIES
1 Fixed part Carbon SiC
2 Rotating part Ceramic SiC
3 | Gasket NBR FPM
g j 4 | Frame + spring EN 1.4401 (AISI316) | EN 1.4571 (AISI 316Ti)
R el0IS \ B
- 403 3
= Jﬁ i
; \
ooy |

SPECIAL MECHANICAL SEALS 3 SERIES (on request)

Name Materials
H version HS version HW version HSW version E version
Fixed part Carbon SiC Tungsten Carbide Tungsten Carbide Carbon
Rotating part Ceramic SiC Tungsten Carbide SiC Ceramic
Elastomers FPM FPM FPM FPM EPDM
Spring AlSI 316 AlSI 316Ti AlSI 316 AlSI 316 AlS| 316Ti
Structure/Frame AlSI 316 AlSI 316Ti AlSI 316 AlSI 316 AlSI 316Ti
SPECIAL MECHANICAL SEALS 3 SERIESL (on request)
Name Materials
H version HW version HSW version E version* ES version**
Fixed part Carbon Tungsten Carbide Tungsten Carbide Carbon Carbon
Rotating part Ceramic Tungsten Carbide SiC Ceramic SiC
Elastomers FPM FPM FPM EPDM EPDM
Spring AlSI 316 AlSI 316 AlSI 316 AlSI 316Ti AlSI 316Ti
Structure/Frame AlSI 316 AlSI 316 AlSI 316 AlSI 316Ti AlSI 316Ti
* Not available for 3L SERIES 80-250 2 poles
** Available only for 3L SERIES 80-250 2 poles
Your Life, our Quality. Worldwide. 46 Commercial




3 - 31 SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)M SERIES 2 Poles
Model P. Efficiency Capacitor Efficiency(%) P: Absorbed Current
Single-phase Three-phase Single-phase Three-phase [A]
[kW] | [HP] |Single-phase| Three-phase |  uF Ve n % Single-phase | Three-phase |Single-phase Three-phase
50% 75% 100% ?kW] [kW] 230V | 230V | 400V | 690V
3(JM 32-125/1.1 M | 3()M(Z) 32-125/1.1 | 1.1 | 15 IE2 315 | 450 | 79.5[82.0 825 | 151 1.82 6.7 5.6 3.2 -
3(JM 32-160/1.5 M | 3()M(Z) 32-160/1.5 | 1.5 | 2.0 IE2 40 450 795182085 210 1.82 9.6 5.6 3.2
3(JM 32-160/2.2 M | 3()M(Z) 32-160/2. 2 22 | 30 IE2 50 450 | 83.1 18571862 | 295 2.55 133 7.8 4.5
- 3()M(Z) 32-200/3.0 | 3.0 | 4.0 IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 106 | 6.1
3()M(Z) 32-200/4.0 | 4.0 | 55 IE2 - - 843 | 87.2 | 87.8 - 4.56 15.1 8.7 -
3(JM(Z) 32-200/55 | 55 | 7.5 IE2 - - 82.9 | 86.0 | 87.4 - 6.29 - - 104 | 6.0
- 3UM@Z) 32-200/7.5 | 7.5 1 10.0 IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 | 79
3(JM 40-125/1,5M | 3(JM(2) 40-125/1.5 | 1.5 | 2.0 IE2 40 450 | 79.51820|8.5] 210 1.82 9.6 5.6 3.2 -
3(JM 40-125/2.2 M | 3(JM(2) 40-125/2.2 | 2.2 | 3.0 IE2 50 450 | 83.1 1857|862 | 295 2.55 13.3 7.8 4.5
- 3(JM(2) 40-160/3.0 | 3.0 | 4.0 IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 106 | 6.1
3(JM(2) 40-160/4.0 | 40 | 55 IE2 - - 843 | 87.2 | 87.8 - 4.56 - 15.1 8.7 -
3()M(2) 40-200/5.5 | 55 | 75 IE2 - - 829 1 86.0 | 874 - 6.29 - 104 6.0
30M() 40-20075 | 75 | 100 B | - | - 1890[97908] - | 826 | - — [ 136 79
30M(@) 40-200/11 | 110 | 150 B3 | - | - oo4lot2 ot8| - | 1198 | - — 13| 123
3(JM 50-1252.2 M | 3(.)M(Z) 50-125/2.2 | 2.2 | 3.0 IE2 50 450 | 83.1|857(86.2| 295 2.55 133 1.8 4.5 -
- 3()M(2) 50-125/3.0 | 3.0 | 4.0 IE2 - - 85.0 | 86.7 | 86.3 - 3.48 - 106 | 6.1
3()M(Z) 50-125/4.0 | 4.0 | 55 IE2 - - 843 | 87.2 | 87.8 - 4.56 - 15.1 8.7 -
3(JM(Z) 50-160/5.5 | 55 | 7.5 IE2 - - 82.9 | 86.0 | 87.4 - 6.29 - - 104 | 6.0
3(JM@) 50-160/7.5] 7.5 | 10.0 IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 | 7.9
3(JM(Z) 50-200/9.2 | 9.2 | 125 IE3 - - 90.1190.8 | 90.9 - 10.12 - - 17.2 | 10.0
3()M(Z) 50-200/11 | 11.0 | 15.0 IE3 - - 9041912 | 91.8 - 11.98 - - 213 | 123
3(M(Z) 50-200/15 | 15.0 | 20.0 IE3 - - 91219201919 - 16.32 - - 277 | 173
3(M(@Z) 65-125/4 | 4.0 | 55 IE2 - - 843 | 87.2 | 87.8 - 4.56 - 15.1 8.7 -
3()M(Z) 65-125/55 | 55 | 7.5 IE2 - - 829 | 86.0 | 874 - 6.29 - - 104 | 6.0
3()M(Z) 65-125/7.5 | 7.5 | 10.0 IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 13.6 7.9
3()M(Z) 65-160/7.5 ] 7.5 | 10.0 IE3 - - 89.0 | 90.7 | 90.8 - 8.26 - - 136 | 7.9
3()M(Z) 65-160/9.2 | 9.2 | 12.5 IE3 - - 90.1 | 90.8 | 90.9 - 10.12 - - 17.2 | 10.0
3(JM(@Z) 65-160/11 | 11.0 | 15.0 IE3 - - 90.4 | 91.2 | 91.8 - 11.98 - - 213 | 123
3()M(2) 65-160/15 | 15.0 | 20.0 IE3 - - 91219201919 - 16.32 - - 277 | 17.3
3()M(2) 65-200/15 | 15.0 | 20.0 - IE3 - - 91219201919 - 16.32 - - 277 | 173
3()M(Z) 65-200/18.5] 18.5 | 25.0 - IE3 - - 91.6]93.0 | 926 - 19.98 - - 35.0 | 203
3(M(Z) 65-200/22 | 22.0 | 30.0 - IE3 - - 9201 93.1]1932 - 2358 - - 397 | 236
3LM 80-160/11 11.0 [ 15.0 - IE3 - - 904 ] 91.2 | 91.8 - 11.98 - - 213 | 12.3
3LM 80-160/15R ] 15.0 | 20.0 - IE3 - - 91219201919 - 16.32 - - 27.7 | 173
3LM 80-160/15 15.0 | 20.0 - IE3 - - 91219201919 - 16.32 - - 27.7 | 17.3
3LM 80-160/18.5 | 185 | 25.0 - IE3 - - 91.6 | 93.0 1926 - 19.98 - 350 | 203

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 47 Commercial



3 - 31 SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)S - 3(L)P SERIES 2 Poles
Model Motor Efficiency Efficiency (%) and power factor Absorbed Current
Power [A]
Motor [kw] [HP] n % €0s @
50% 75% 100% 230V 400V 690V
IE2 79.5 81.2 81.5 0.78 4.3 2.5 -
3()5(2) 32-125/1.1 | 3()P 32-125/1.1 80 i 1" I3 787 817 827 076 Y] 22
IE2 81,0 82.8 82.8 0.80 5.5 3.2
3(.)5(2) 32-160/1.5 | 3(.)P 32-160/1.5 90S 15 15 63 832 848 842 0.85 5 30
IE2 82.5 84.0 84.0 0.85 1.6 44
3()S(2) 32-160/2.2 | 3(.)P 32-160/2.2 90L 22 22 I3 850 86.2 865 0.82 80 46
IE2 84.1 85.8 85.5 0.84 10.2 5.9
3(.)S(2) 32-200/3.0 | 3(.)P 32-200/3.0 100L 3 3 63 83 858 871 0.89 97 3
IE2 85.2 86.4 86.1 0.86 13.5 1.8
3(.)S(2) 32-200/4.0 | 3(.)P 32-200/4.0 112M 4 4 I3 868 878 881 0.93 12 70 N
IE2 85.8 87.4 873 0.88 - 10.4 6.0
3(.)S(2) 32-200/5.5 | 3(.)P 32-200/5.5 1325 55 55 I3 880 885 89 0.90 N 100 g
3()S(Z) 32-200/7.5 | 3()P 32-200/7.5 75 75 IE3 88.6 89.2 90.1 0.92 - 13.1 7.6
IE2 81.0 82.8 82.8 0.80 5.5 3.2 -
3(.)5(2) 40-125/1.5 | 3(.)P 40-125/1.5 90S 15 15 I3 832 848 84 0.85 ) 30
IE2 82.5 84.0 84.0 0.85 7.6 44
3(.)5(2) 40-125/2.2 | 3(.)P 40-125/2.2 90L 22 22 I3 850 86.2 86,5 0.8 80 46
IE2 84.1 85.8 85.5 0.84 10.2 5.9
3(.)5(2) 40-160/3.0 | 3(.)P 40-160/3.0 100L 3 3 63 823 858 871 0.89 97 X3
IE2 85.2 86.4 86.1 0.86 13.5 1.8 -
3(.)S(2) 40-160/4.0 | 3(.)P 40-160/4.0 112M 4 4 I3 868 878 881 0.93 12 70 a
IE2 85.8 87.4 87.3 0.88 - 104 6.0
3(.)5(2) 40-200/5.5 | 3(.)P 40-200/5.5 1325 55 55 63 880 885 892 0.90 100 )
3(.)5(Z) 40-200/7.5 | 3(.)P 40-200/7.5 75 75 IE3 88.6 89.2 90.1 0.92 - 13.1 1.6
3(.)S(Z) 40-200/11 | 3(.)P 40-200/11 160M 11 1 IE3 874 89.8 91.2 0.89 - 19.7 114
IE2 82.5 84.0 84.0 0.85 1.6 44 -
3(.)S(2) 50-125/2.2 | 3(.)P 50-125/2.2 90L 22 22 I3 850 862 865 08 30 46
IE2 84.1 85.8 85.5 0.84 10.2 5.9
3(.)S(2) 50-125/3.0 | 3(.)P 50-125/3.0 100L 3 3 I3 823 858 871 0.89 97 3
IE2 85.2 86.4 86.1 0.86 13.5 1.8 -
3(.)S(2) 50-125/4.0 | 3(.)P 50-125/4.0 112M 4 4 I3 868 878 881 093 121 70 N
IE2 85.8 87.4 87.3 0.88 - 104 6.0
3(.)5(2) 50-160/5.5 | 3(.)P 50-160/5.5 1325 55 55 63 88.0 885 892 0.90 100 03
3(.)5(z) 50-160/7.5 | 3(.)P 50-160/7.5 75 75 IE3 88.6 89.2 90.1 0.92 13.1 1.6
g 3(.)5(Z) 50-200/9.2 | 3(.)P 50-200/9.2 132M 92 92 IE3 88.6 89.8 90.7 0.89 16.5 9.5
5 13()5(2) 50-200/11 | 3()P 50-200/11 160M 11 1 IE3 87.4 89.8 91.2 0.89 19.7 114
< | 3()5(2) 50-200/15 | 3(JP 50-200/15 15 15 IE3 91.0 91.3 91.9 0.89 - 26.7 154
IE2 85.2 86.4 86.1 0.86 13.5 1.8 -
g 3(.)S(2) 65-125/4 | 3(.)P 65-125/4 112M 4 4 I3 86.8 878 881 0.93 21 70 N
2 IE2 85.8 87.4 87.3 0.88 - 104 6.0
z 3(.)5(2) 65-125/5.5 | 3(.)P 65-125/5.5 1325 55 55 I3 880 885 892 0.90 100 )
2 13()5(2) 65-125/7.5 | 3(.)P 65-125/7.5 75 75 IE3 88.6 89.2 90.1 0.92 13.1 1.6
s 13()S(Z) 65-160/7.5 | 3(.)P 65-160/7.5 IE3 88.6 89.2 90.1 0.92 13.1 1.6
¢ |3(.)5(Z) 65-160/9.2 | 3(.)P 65-160/9.2 132M 92 92 IE3 88.6 89.8 90.7 0.89 16.5 9.5
& 13()5(2) 65-160/11 | 3(.)P 65-160/11 1 11 IE3 87.4 89.8 91.2 0.89 19.7 11.4
13()5(2) 65-160/15 | 3()P 65-160/15 160M 15 15 IE3 91.0 91.3 91.9 0.89 26.7 154
5 [ 3()5(2) 65-200/15 | 3(.)P 65-200/15 15 15 IE3 91.0 91.3 91.9 0.89 26.7 154
g | 3()S(Z) 65-200/18.5 3(.)P 65-200/18.5 160L 185 185 IE3 91.6 92.8 92.4 0.88 33.0 19.1
§ 130)5(7) 65-200/22 | 3()P 65-200/22 180 22 22 IE3 92.3 929 929 0.90 38.0 22.0
£ 1315 65-250/30 3LP 65-250/30 200 30 30 IE3 92.8 93.9 94.0 0.89 51.8 30.0
g [3LS 65-250/37 3LP 65-250/37 37 37 IE3 93.0 93.9 93.8 0.90 62.5 36.0
3 | 3LS 80-160/11 3LP 80-160/11 1 11 IE3 87.4 89.8 91.2 0.89 19.7 114
2 [3LS 80-160/15R 3LP 80-160/15R 160M 15 15 IE3 91.0 91.3 91.9 0.89 26.7 15.4
5 | 3L5 80-160/15 3LP 80-160/15 15 15 IE3 91.0 91.3 91.9 0.89 26.7 154
&131580-160/18.5 | 3LP 80-160/18.5 160L 185 185 IE3 91.6 92.8 924 0.88 33.0 19.1
< | 3LS 80-200/22 3LP 80-200/22 180 22 22 IE3 923 92.9 92.9 0.90 38.0 220
£13LS 80-200/30 3LP 80-200/30 30 30 IE3 92.8 93.9 94.0 0.89 51.8 30.0
s | 3LS 80-200/37 3LP 80-200/37 200 37 37 IE3 93.0 93.9 93.8 0.90 62.5 36.0
g | 315 80-250/37 3LP 80-250/37 37 37 IE3 93.0 93.9 93.8 0.90 62.5 36.0
g | 3LS 80-250/45 3LP 80-250/45 225 45 45 IE3 93.2 94.6 94.8 0.92 74.5 43.0
;% 3LS 80-250/55 3LP 80-250/55 250 55 55 IE3 93.6 94.5 94.4 0.90 93.5 54.0
Your Life, our Quality. Worldwide. 48 Commercial



3 - 31 SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
NOISE DATA TABLES 2 Poles
Model P, L, - dB(A)* Model P, L, - dB(A)*
Single phase Three phase Single phase Three phase
230V 230/400/690V [HP] [kw] 230V 230/400/690V [HP] [kw]
3(UM 32-125/1.1M | 3(LM 32-125/1.1 1.5 1.1 3(L)S 32-125/1. 3(L)P 32-125/1. 1.5 1.1
3(UM 32-160/1.5M | 3(LM 32-160/1.5 2,0 1.5 <70 3(L)S 32-160/1. 5 3(L)P 32-160/1 5 2 1.5 70
3(LUM 32-160/2.2 M | 3(LM 32-160/2.2 3.0 2,2 3(L)S 32-160/2.2 3(LP 32-160/2.2 3 2,2 <
- 3(LM 32-200/3.0 4,0 3.0 71 3(L)S 32-200/3.0 3(L)P 32-200/3.0 4 3
3(LUM 32-200/4.0 55 4,0 3(L)S 32-200/4.0 3(L)P 32-200/4.0 55 4 73
3(LM 32-200/5.5 15 55 75 3(L)S 32-200/5.5 3(L)P 32-200/5.5 7.5 55 77
- 3(LUM 32-200/7.5 100 75 3(L)S 32-200/7.5 3(LP 32-200/7.5 10 75
3(LUM 40-125/1,5M | 3(L)M 40-125/1.5 2,0 1.5 70 3(L)S 40-125/1.5 3(L)P 40-125/1.5 2 1.5
3(UM 40-1252.2 M | 3(LM 40-125/2.2 3.0 2,2 < 3(L)S 40-125/2.2 3(L)P 40-125/2.2 3 2,2 <70
- 3(LUM 40-160/3.0 4,0 3.0 71 3(L)S 40-160/3.0 3(L)P 40-160/3.0 4 3
3(LM 40-160/4.0 55 4,0 3(L)S 40-160/4.0 3(L)P 40-160/4.0 5,5 4 73
3(LM 40-200/5.5 75 55 75 3(L)S 40-200/5.5 3(L)P 40-200/5.5 7,5 55 77
3(LM 40-200/7.5 10,0 15 3(L)S 40-200/7.5 3(L)P 40-200/7.5 10 15
- 3(LM 40-200/11 150 11,0 80 3(L)S 40-200/11 3(L)P 40-200/11 15 1 79
3(LM 50-125/2.2 M | 3(L)M 50-125/2.2 3,0 2,2 <70 3(L)S 50-125/2.2 3(LP 50-125/2.2 3 2,2 <70
- 3(LM 50-125/3.0 4,0 3,0 71 3(L)S 50-125/3.0 3(L)P 50-125/3.0 4 3
3(LUM 50-125/4.0 55 4,0 3(L)S 50-125/4.0 3(L)P 50-125/4.0 55 4 73
3(LM 50-160/5.5 75 55 75 3(L)S 50-160/5.5 3(L)P 50-160/5.5 1,5 55
3(LM 50-160/7.5 10,0 75 3(L)S 50-160/7.5 3(L)P 50-160/7.5 10 15 77
3(LM 50-200/9.2 12,5 9.2 3(L)S 50-200/9.2 3(L)P 50-200/9.2 12,5 9.2
3(LM 50-200/11 15,0 11,0 80 3(L)S 50-200/11 3(L)P 50-200/11 15 1 79
3(LM 50-200/15 200 150 3(L)S 50-200/15 3(L)P 50-200/15 20 15
3(LM 65-125/4 55 4,0 1 3(L)S 65-125/4 3(L)P 65-125/4 55 4 73
3(LUM 65-125/5.5 75 55 3(L)S 65-125/5.5 3(L)P 65-125/5.5 7,5 55
3(LM 65-125/7.5 10,0 15 75 3(L)S 65-125/7.5 3(L)P 65-125/7.5 10 1,5 77
3(LM 65-160/7.5 10,0 75 3(L)S 65-160/7.5 3(L)P 65-160/7.5 10 15
3(LUM 65-160/9.2 12,5 9.2 3(L)S 65-160/9.2 3(L)P 65-160/9.2 12,5 9.2
3(LM 65-160/11 15,0 11,0 80 3(L)S 65-160/11 3(L)P 65-160/11 15 1
3(LM 65-160/15 20,0 15,0 3(L)S 65-160/15 3(L)P 65-160/15 20 15 79
3(LM 65-200/15 20,0 15,0 3(L)S 65-200/15 3(L)P 65-200/15 20 15
3(LM 65-200/18.5 25,0 18,5 83.82 3(L)S 65-200/18.5 3(L)P 65-200/18.5 25 185
3(LM 65-200/22 300 220 3(L)S 65-200/22 3(L)P 65-200/22 30 22 80
3LM 80-160/11 15,0 11,0 3LS 65-250/30 3LP 65-250/30 40 30 8
3LM 80-160/13 17,5 13,0 80 3LS 65-250/37 3LP 65-250/37 50 37 g
3LM 80-160/15 20,0 15,0 3LS 80-160/11 3LP 80-160/11 15 1 g
3LM 80-160/18.5 25,0 18,5 83-82 3L5 80-160/15R 3LP 80-160/15R 20 15 79 2
* Mean value of several measures at 1m distance around the pump. 3LS 80-160/15 3LP 80-160/15 20 15 2
Tollerance + 2.5 dB. 3LS 80-160/18.5 3LP 80-160/18.5 25 185 g
3L5 80-200/22 3LP 80-200/22 30 22 80 2
3LS 80-200/30 3LP 80-200/30 40 30 iz
3LS 80-200/37 3LP 80-200/37 50 37 82 g
3LS 80-250/37 3LP 80-250/37 50 37 g
3LS 80-250/45 3LP 80-250/45 60 45 85 g
3LS 80-250/55 3LP 80-250/55 75 55 86 5
* Mean value of several measures at 1m distance around the pump. =
Tollerance + 2.5 dB. H
%
5
®
2
Your Life, our Quality. Worldwide. 49 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

v = Models also available in the H-HS-HW-HSW-E versions for 32, 40, 50, 65-125/160/200
* = Models also available in the H-HW-HSW-E versions for 65-250, 80

(EX DIN 24255)
at 1450 min' (according to ISO 9906 Attachment A) oles
PERFORMANCE RANGE 3 SERIES 4 Pol
U.S.g.p.m. 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600
| | | | | | L1 | | | L 1 | | | | | | |
I I I I | I T 171 | I T T | | I |
20 Imp.g.p.m. 20 30 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500
H 80-250/75 T 5 H
[m] 20 e [1]
32-200/0.75. —— L] oy ‘/{5\ TN
, e H %5 250, -
N = oy
32-200/0 551 1 40- 20,1 Ja 503;;/\ | }32
- T | 1] 5 75 N-F
1 32\200 0 i N 1y ;0. 20
10 ! ! 'SSR\ f \0\\\200/7 N 7 ‘ ‘%’ﬁ‘\ 4
9 32-160/0.37 T ™ <71k IS
.37 NN h N T ‘
AN LTI
™~ \\\ ¢\ 0.
7 32-160/0.37% a\j ~ 00‘ Ll
~ ST 2. TN, \TWO\\{‘S‘O N
T T T AT
([T | R el
5 T~ . h '5 ™, \/
SNy TR
. I vl TIN e N E
N ] N ]
VIS
; N N
7 ) 4
2
—5
B
£ 1
g%, 50 60 80 100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500
Q [1/min]
§ [ I I I T T T I T T 1 I I I I I I I 1
g 3 4 5 6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 100 150Q [m /]
%
§§ Versions 3M4 354 3P4 3LM4 3L54 3LP4
§ 32-125 v v 4 v v v
Z 32-160 4 v 4 v v v
5; 32-200 v v v v v v
2 40-125 v v 4 v v 4
g 40-160 v v 4 v 4 v
p 40-200 v v v v 4 v
g 50-125 4 v 4 v v v
5 Pump 50-160 v v v v v v
5 50-200 v v v 4 v v
g 65-125 v v v v v v
£ 65-160 v v 4 v v v
§ 65-200 4 v v v v v
¢ 65-250 - - - b L d
’ 80-160 - - - L4 L4 d
S 80-200 - - - b ° i
§ 80-250 - - - d 4 e

Your Life, our Quality. Worldwide. 50 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE TABLE 32-40-50 4 Poles
Q=Flow rate
Model [/min 50/ 100 150 175 200 250 300 350 400 500 600 650
[HP] [kwW] | mh 6 9 10,5 12 15 18 21 24 30 36 39
H=Head (m)
32-125/0.25 0,33 0,25 55| 47 3,5 2,8 - -
32-160/0.37R 0.5 0,37 70/ 62 5.0 42
32-160/0.37 0,5 0,37 87 81 7.0 6.3
32-200/0.55R 075 0,55 103 92 7.3 6.2
32-200/0.55 0,75 0,55 120/ 11,0 9.2 8,0
32-200/0.75 1 0,75 1710161 14,3 132 - - - -
40-125/0.37R 0,5 0,37 -l 48 45 43 40 34 2,6 1.8
40-125/0.37 0,5 0,37 6.3 6.0 58 5,5 4,9 4,2 34
40-160/0.55R 0,75 0,55 7.3 6.9 6.6 6.3 57 5.0 43
40-160/0.55 0,75 0,55 8,6 8,1 7.8 75 6.9 6.2 54
40-200/1.1R 1,5 1,1 11,2 10,8 10,5 10,1 94 8.6 7.8
40-200/1.1 1,5 1.1 13,2 12,7 12,4 12,1 114 10,6 9.6
40-200/1.5 2 1,5 17,7 17.3 171 16,8 16,1 15,2 14,2 - - -
50-125/0.55R 0,75 0,55 - - - 52 5.0 47 44 4,0 3.2 23
50-125/0.55 0,75 0,55 6.2 6.0 5.7 54 5,0 4,2 3.3 -
50-160/1.1R 1.5 1.1 7.8 1,6 7.2 6.9 6.4 5.5 4,5 4,0
50-160/1.1 1.5 1.1 9.1 89 8,6 83 79 7.0 6.0 55
50-200/1.5R 2 1.5 12,1 11,8 114 11,0 10,5 9.3 8,0 7.2
50-200/1.5 2 1.5 13.3 13,0 12,7 12,2 11.8 10,6 9.2 84
50-200/2.2 3 2,2 17,5 17.3 17,0 16,6 16,2 15,1 13,8 13,1
PERFORMANCE TABLE 65-80 4 Poles
P: Q=Flow rate
Model J/min 300/ 350 500 600 950 | 1000 | 1050 | 1100 | 1200 | 1300 | 1400 | 1600 2000 | 2200
[HP] | [kW] |mPh 21 30 36 57 60 63 66 78 84 96 120 132
H=Head (m)
65-125/0.55 0,75 | 0,55 4,6 4,0 35 14 - - -
65-125/0.75 1 0,75 58 52 4,6 25 2,2 -
65-125/1.1 1.5 1, 7,0 6.3 5,7 3,5 3.2 2,8
65-160/1.1 1.5 1, 8,1 14 6.9 4,6 42 38
65-160/1.5 2 1, 9.2 85 8,0 5.7 53 49 45 -
65-160/2.2 3 2, 11,3 | 106 | 101 1,6 7.2 6.8 6.4 55
65-200/2.2R 3 2, 124 | 116 | 109 7.8 7.3 6.8 - -
65-200/2.2 3 2, 139 | 130 | 124 9.3 838 83 7.8 -
65-200/3 4 15,8 | 151 14,4 116 | 111 6 | 10,1 9.0 -
65-250/4 55 4 - 181 | 17,6 14,7 | 14,2 7 1130 | 116 9.8 -
65-250/5.5 75 5, 212 | 208 184 | 17.9 5 1 170 | 158 | 144 | 128 -
80-160/1.5 2 1, - 6.8 59 5.7 6 54 5.0 4,6 42 34 -
80-160/2.2R 3 2, 8.1 74 7.3 | 7,0 6.7 6.4 6.0 52 3.0
80-160/2.2 3 2, 9.1 84 83 2 8,0 7.8 14 7.1 6.2 41
80-200/3 4 12,0 109 | 10,7 A4 | 10,2 9.7 9.2 8,6 7.3 42 -
80-200/4R 55 4 144 134 | 132 O 127 | 122 | 11,7 | 112 | 101 7.2 56
80-200/4 55 4 154 14,3 | 14,1 9 | 137 | 132 | 128 | 123 | 111 84 6.7
80-250/5.5R 7.5 5, 17,1 16,3 | 16,0 J | 154 | 146 | 138 | 129 | 107 - -
80-250/5.5 75 5, 20,5 191 | 189 6 | 182 | 176 | 168 | 159 | 138 9.3 -
80-250/7.5 10 7, 24,0 228 | 22,5 2 10219 | 21,3 | 206 | 198 [ 180 135 | 10,8
Your Life, our Quality. Worldwide. 51 Commercial

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



g
S
3
s
g
3

&
g
2
=
Ed
=3
5

3
g
3
2
2
E]

B3
m
s
S

B
o
°
>
3
8
-
8
3
&
5
e
Y
g
3
2
3
g
S
S
8
I5}
El

*80j0U Joud JnoujM ‘A1ESSa08U SUl

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)5-3(|.)P 32 SERIES at 1450 min™ (according to ISO 9906 Attachment A) 4 Poles
0 U.S.g.p.m. 10 15 20 25 30 35 40 45 50
| | | ! | | | | | | |
T T T T | T l T
. 0 Imp.g.p.m. 10 15 20 25 30 35 40
— 60
H I A , H
— 0
[m] —— \O/ 0.75 [ft]
——
15 - - 50
\\
\\|
T T — - 40
| \\‘2&/‘055‘
O s e B
— N i - 30
| ;SO/T‘]\\:\\ i
— 0.
— \'1\'@ — ~ - 20
N S S 25/0.25 ——
5 (20— —
—
— 10
0 0
0 50 100 150 Q [1/min]
| T T T T T T T | T T T |
0 1 2 3 4 5 6 7 8 9 10 1 Q[mdh)
0.8 | |
P2 06 L —— | ]
kW] 200,/0.75 T 1200/0.55 7]
I .
0.4 200/0.55R _|——F—1 160,/0.37 "]
0.2 160,/0.37R —
] 125/0.25
O ! !
0 50 100 150 Q [I/min]
70 ‘
" 80 l\iPSH
(%] 125/0.25 T [ ——1 ——— | |[m] [ft]
| | | —
50 160,/0.37 e 4]
—12
160,/0.37R =
40 | | | 200 ToE 310
200,/0.55R = —38
~ L // L—
30 200/0.5—F= NPSH———————] 1601 2| ¢
[ [ [ | —
20 200/0.75 1- ;
) 1
0 50 100 150 Q [1/min]
Your Life, our Quality. Worldwide. 52 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)5-3(|.)P 40 SERIES at 1450 min" (according to ISO 9906 Attachment A) 4 Poles
0 US.gpm. 20 30 40 50 60 70 80 90 100
| | | | | | | | | | |
I I I I [ I I
. 0 Imp.g.p.m. 20 30 40 50 60 70 80
| — 60
i —— 1 200/1.5 "
[m] — [ft]
15 I —50
\\‘
— 2
\\% L 40
—_— | \\\
0 T R 30
= —_—— — I
e e R - = 160/0.55 —
- ——— 760/0'55R —
S i e 25 S~ | T —20
5—F= — ‘7 ! T — —
—
0 0
0 100 200 300 Q [I/min]
[ I I I I I I I I I I I ]
0 2 4 6 8 10 12 14 16 18 20 22 Q[m¥n]
Py 200 (1.5 T —200/1.17]
“ » — —
— [ —
o7 200/11R e e N B —160/0.55 |
160/0.55R Y—1 [ | | 125/0.37 |
o 125/0.37R— = |
0 100 200 300 Q [I/min]
80 T |
n 125,/0.37 v
[%] 70 P S E—— — [m] [ft]
160/0.55R — _——— ~
60 = 620
= N b
160,/0.55 ; =] 125,/0.37R 54 .,
| | _
%0 200/1.1R | N
200/1.1 160 T
40 o NPSH ——— 2
-5
200/1.5 2c‘>o 1-
30 :
0 100 200 300 Q [I/min]
Your Life, our Quality. Worldwide. 53 Commercial

iication it deems necessary, without prior notice.

£
2
2
8
H
3
8
<
=4
7
<
2
g
5
i
2
2
£
s
I
=
g
i)
>
2
]
=
5
8
3
1
S
&
@
3
B
2
3




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)S-3(|.)P 50 SERIES at 1450 min" (according to ISO 9906 Attachment A) 4 Poles
0 US.gpm. 40 60 80 100 120 140 160 180 200
| | | | | | | | | | |
| | T T T 1 T | T
20 0 Imp.g.p.m. 40 60 80 100 120 140 160
— 60
H T T T T H
[m] ~—200/2 5 [1t]
~ B
15 S~ ~ 50
T T \\\q_
T T T T~ 200/7‘5 40
LT ™~
e N RS RN .
ERERE ———__ 760 /11 ~ ™
T~ 76?7‘\\\ ™~
mmp=mne LT
s N R W S \\§ 725 0‘55 \\\‘ \~|
T — ~— M
T~ — 10
T~
\'
0 0
0 100 200 300 400 500 600 700 Q [I/min]
| | | | | | | | | |
0 5 10 15 20 25 30 35 40 45 Q [m3/h]
2 Ry ~£200/2.2
[ki] .6 200/1.5R P R
05 | [ 160/11R e ~200/1.5
125/0.55R ~ N—=—=——F—FF1— - 160/1.11 |
. L] —T—125/0.55
|
0 100 200 300 400 500 600 700 Q [I/min]
% [TTT] LI
n [ }-200/1.5|| NPsH
(7 4 _—— = ey S R [m] [ft]
P 4& P i N N N ] 5 —18
7 1 160/1.1R7| 27— 16
60 125/086 =L A A2 | A 125 /0.55R 1 160/ s
I 0% . ! 1
290{1.?R /,// - 200 310
] —= | [125 —38
50 160,/1.19= — 2+ ¢
Ll 14
200/2.2 )
40 L
0 100 200 300 400 500 600 700 Q [I/min]
Your Life, our Quality. Worldwide. 54 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3(L)M-3(L)5-3(|.)P 65 SERIES at 1450 min™ (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 50 100 150 200 250 300 350
| | | | | | | |
| I I I I I I
, 0 Impgpm. 50 100 150 200 250 300
1] J1
H TN -5 H
m] U 50/22 [1t]
T \[\\\ - 30
L T~ TN
8 ~ 760
I ™~ 7 —
<+ ~ 5 25
~ \\‘ /5 N \\\
R . \\ 0// 7 \ \\ 0
~
™~ \
T \\‘\\%\ R \\\‘\
27 NN —15
I~ 4
4 T~ \/EL /\ \\\ \\\'
~UO N
/25/ \‘\ ™ 10
9ss ~
\| -5
0 0
0 200 400 600 800 1000 1200 Q [I/min]
[ I I I I I I I I
0 10 20 30 40 50 60 70 Q [m3/h]
1.8 —
P2, —— — 160/2.2
[kw] T ] 160/1.5
1.0 T — 1 160/1.1
— — !
06 125/11 | e 125/0.75
0 — 125/0.55 1
. I
0 200 400 600 800 1000 1200 Q [I/min]
90 |
n | —
(] — 160/1.1
N N~
125/0.73 } (~] 160/2.2 L
125,/0.55 > 125/1.1 [m] [#]
50 | 4
160 160— 3—10
NPSH 125 7 1= 5
— 125 s
30 |
0 200 400 600 800 1000 1200 Q [I/min]
Your Life, our Quality. Worldwide. 55 Commercial

iication it deems necessary, without prior notice.

£
2
°
8
H
3
8
<
=4
7
g
5
i
2
2
£
s
I
=
g
i)
>
2
]
=
5
8
3
1
S
&
@
3
B
2
3




g
S
3
s
g
3

&
g
2
=
Ed
=3
5

3
g
3
2
2
E]

B3
m
s
S

B
o

°
>
3
8
-
8
3

&
5
e
Y
g
3

2
3
g
S
S
8
I5}
El

*80j0U Joud JnoujM ‘A1ESSa08U SUl

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3L 65 SERIES at 1450 min" (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 100 150 200 250 300 350 400
| | | | | | | | |
| I I I I | I I
, 0 m.gpm. 50 100 150 200 250 300 350
H T T T T —— ~70 H
[m] 2505 5 [1t]
N s e - S T\[\\\\ 60
~—~_<% NN
16— ~%0 N
L \\\\\ ! ‘7\\\ \\\ 50
—_ 0 §
] T TG N N
i ™ 200, N - 40
S~ ~ N
\\/f’\ ~N Y - 30
™
8 ~
N
- 20
—10
0 0
0 200 400 600 800 1000 1200 1400 Q [1/min]
[ I I I I I I I I I
0 10 20 30 40 50 60 70 80 90 Q [m/h]
5
__+— 250/5.5 |
P2 T | | /
[kw] = [ 1250/4.0
| — ///" |
3 — 1 T 1200/3.0
) — ——— [ | | 200/22
T 00/2.2R |
1 T | | I
0 200 400 600 800 1000 1200 1400 Q [I/min]
90
n
(7] - 200/3.0
70 =~ = ~ Z—
/ = N T 50/55
200/2.2R |\ N NPSH
‘200/22 250/4.0 |[m] [#t]
>0 200 _— T894,
NPSH T o0 [
] —— ] 5
1
30
0 200 400 600 800 1000 1200 1400 Q [I/min]
Your Life, our Quality. Worldwide. 56 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
PERFORMANCE CURVES 3L 80 SERIES at 1450 min" (according to ISO 9906 Attachment A) 4 Poles
0 US.gpm. 100 200 300 400 500 600
| | | | | | |
| 1 1 1 1 |
. 0 Imp.gp.m. 100 200 300 400 500
H I N "
| N
[m] =1 ~ p [ft]
8 ~ 60/2
N \\\2 25
N s e S /6'0/7\
~ N AN
6 N\ - 20
SN AN
N8 \ AN
%5 N, N\
\\ \\ \\ 15
4 \\ \\
N A\
\\ —10
AN
2
5
0 0
0 500 1000 1500 2000 Q [I/min]
| | | | | 1 1 |
0 20 40 60 80 100 120 140 Q [m3/h]
2.4 T T T
P2 20 I ——— ;1601/2'2;
(kW] — 160,/2.2R
1.6 e —
12 — 1 — 160/1.5
— ] |
0.8 |
0 500 1000 1500 2000 Q [I/min]
90
n
[%] //_——‘\\ \
1 I~
70 / 160/2.2
NPSH
160/1.5 160,/2.2R—{(™] L]
50 4 —
NPSH e e 310
1_
30
0 500 1000 1500 2000 Q [I/min]
Your Life, our Quality. Worldwide. 57 Commercial

iication it deems necessary, without prior notice.

£
2
°
8
H
3
8
<
=4
7
2
g
5
i
2
2
£
s
I
=
g
i)
>
2
]
2
5
8
3
1
S
&
@
3
B
2
3




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

) Uoljealpow AUE 108}Js 0} 1yBu sy} senissal y'd'S adoing sdwing a3 ‘Buipuiq se papieBai aq 1ou lsr

*80j0U Joud JnoujM ‘A1ESSa08U SUl

(EX DIN 24255)
PERFORMANCE CURVES 3L 80 SERIES at 1450 min" (according to ISO 9906 Attachment A) 4 Poles
0 USgpm. 100 600
| !
| 1
100 500
4 80
H H
[m] 3= ~70 I#]
20 n
60
15 - N\ 50
T —
—
4 N AN 40
I
10 S
— 30
N
\:\
2 L
\\I 0%0— 20
5 200' Y
5
AL 1o
0 0
500 Q [I/min]
|
140 Q [m3/h]
8
0, L 250/7.5]
(kW] 250/5.5T 1T
4 . 200/4.0 |
200/4.0R |
2
0
500 Q [I/min]
90
1 | 250/7.5_
(%] _—
70 — |
250/505> 200/4.0
‘ NPSH
[m] [ft]
50 4
3410
2504 2+ ,
1_
30
500 Q [1/min]
Your Life, our Quality. Worldwide. Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3(L)M4 32, 40, 50, 65 - up to the 65-200 4 Poles

e
H

H2
]

— = Y
ol o N I \
) 2&\% _ X
e 7| T
Lase
H 4-p15
NI
N2

Fig. 2 P

25 W‘

DIMENSIONAL TABLE

Dimensions [mm] Weight|
Model DN1| P1 | K1 | D1 | S1 Z DN2| P2 | K2 | D2 | S2 |Fig.| H [H1 |H2|H3| R |W | M |N1T|N2 A | B C V2 [kq]
0 0. 0.0 M 2] 0 0 0| @
32-125/0.25 50 | 95 [125/165[16 | 4 | - |32 175(100]140| 14 | 1 1252[1121140|102| 80 | 70 |1141140|190|2131371| 205 | PG 11 15 |,
32-160/0.37R | 50 | 95 |125]165[ 16 | 4 32 | 7511001140| 14 | 1 12921132/160]119] 80 | 70 | 1181190 240|2541393| 219 | PG11 | 19.7 | &
32-160/0.37 50 | 95 |1251165] 16 | 4 32 175 1100/140| 14 | 1 1292]132]160|119| 80 | 70 | 118 1190|240 |254/393| 219 | PG11 | 199 | &
32-200/0.55R | 50 | 95 |125]165[ 16 | 4 32 175 1100|140 14 | 1 [340]1601180/119] 80 | 70 | 1191190 |2401296|393| 219 | PG11 | 245 | £
32-200/0.55 50 | 95 [125]165] 16 | 4 32 175 1100|140 14 | 1 [340]160|180|119| 80 | 70 {119]190|240]296(393| 219 | PG 11 | 245 | §
32-200/0.75 50 | 95 11251165/ 16 | 4 32 | 75 11001140| 14 | 1 13401160180 124 | 80 | 70 | 119|190 | 240|296 | 432 244:255/PG 135| 28.1 | &
40-125/0.37R | 65 [115]145]185| 16 | 4 40 | 80 | 110150 | 14 | 1 |252|112[140]102| 80 | 70 |114]160{210|213|371| 205 | PG11 | 156 | %
40-125/0.37 65 | 115(1451185| 16 | 4 40 | 80 | 110150 | 14 | 1 |252 /112 (140|102 | 80 | 70 |114]160{210|213|371| 205 | PG11 | 157 | %
40-160/0.55R | 65 [115]145|185| 16 | 4 40 | 80 |110[150| 14 | 1 |292/132/160|119| 80 | 70 | 1181190 /240254 1393| 219 | PG 11 | 20.2 | ¢
40-160/0.55 65 | 115]145|185| 16 | 4 40 | 80 |110[150] 14 | 1 |292/132/160|119] 80 | 70 | 118190 /2401254393 | 219 | PG11 | 206 | ¢
40-200/1.1R 65 | 115]145|185| 16 | 4 40 | 80 [ 110150 14 | 2 [340[160] 180|124 |100] 70 | 115|212 1265|296 | 452 244+255/PG 13,5| 28.5 | &
40-200/1.1 65 | 115]145]185| 16 | 4 40 | 80 |110[150| 14 | 2 [340|160 /180|124 |100| 70 | 115|212 | 265|296 | 452 [244+255/PG 13,5 28.6 | ¢
40-200/1.5 65 1 115]145]185) 16 | 4 40 | 80 | 1101150 14 | 2 1340160180124 100| 70 | 115212 | 2651296 | 491 244+255 PG 135] 30.3 | ¢
50-125/0.55R | 65 [115]145]185| 16 | 4 50 | 95 [125/165| 16 | 2 |2921132/160|119/100| 70 | 114|190|240|254|413| 219 | PG11 | 204 | ¢
50-125/0.55 65 | 115/1451185| 16 | 4 50 | 95 [125/165| 16 | 2 |2921132/160|119/100| 70 |1141190|240|254|413| 219 | PG11 | 205 | &
50-160/1.1R 65 | 115[1451185| 16 | 4 50 | 95 [125[165| 16 | 2 |340]160|180|124|100| 70 | 115|212 | 265|296 | 452 [244+255PG 13,5| 28.6 | &
50-160/1.1 65 | 115[1451185| 16 | 4 50 | 95 [125[165| 16 | 2 |340]160|180| 124|100 | 70 | 115|212 | 265|296 | 452 [244+255/PG 13,5| 28.7 | &
50-200/1.5R 65 | 115/1451185| 16 | 4 50 | 95 [ 1251165] 16 | 2 |360]160]200|124100| 70 | 115]212|265|296 | 491 |244+255/PG 13,5| 30.5 | &
50-200/1.5 65 | 115(1451185| 16 | 4 50 | 95 [1251165] 16 | 2 13601160/200|124 1100 | 70 | 11512121265 [296 | 491 |244+255/PG 13,5| 316 | =
50-200/2.2 65 | 115/145]185] 16 | 4 | - |50 ] 95 |125]165] 16 | 2 1360/160]200]141/100| 70 [115]212]265/296/474| 253 | PG16 | 30 é
65-125/0.55 80 | 1341160200 18 | 8 | 4 | 65 |115]145/185] 16 | 2 [340|160|180| 119|100 | 95 |140 /212|280 |254|413| 219 | PG11 | 219 |2
65-125/0.75 80 | 134160200 18 | 8 | 4 | 65 [115]145/185] 16 | 2 |340]160|180|124|100| 95 | 140|212 280|254 | 452 |244+255/PG 13,5 20 | &
65-125/1.1 80 |1341160]200| 18 | 8 | 4 | 65 [115]145|185] 16 | 2 [340[160180| 124|100 | 95 | 140 1212|280 | 254 | 452 |244+255(PG 13,5| 20 | &
65-160/1.1 80 | 134116020018 | 8 | 4 | 65 |115/145|185| 16 | 2 |360|160|200|124|100| 95 | 140|212 |280 |296 | 452 |244+255/PG 13,5| 285 | &
65-160/1.5 80 11341160(200| 18 | 8 | 4 | 65 [115]145/185| 16 | 2 |360|160/200|124[100| 95 | 140212 1280|296 | 491 |244+255[PG 135] 30 | 5
65-160/2.2 80 | 134[160]200| 18 | 8 | 4 | 65 |115[145|185[ 16 | 2 [360|160]200| 141100 | 95 | 140 (212 |280[296|474| 253 | PG16 | 32 | ¢
65-200/2.2R 80 | 1341160200 18 | 8 | 4 | 65 |115]145|185| 16 | 2 [405|180/225|141]100| 95 |140/250|320|296|474| 253 | PG16 | 30 |32
65-200/2.2 80 | 134]160(200| 18 | 8 | 4 | 65 |115]145/185| 16 | 2 |405/180|225|141/100| 95 | 140(250/320|296 (474 253 | PG16 | 30 |2
65-200/3 80 [134[160[200/ 18 | 8 | 4 | 65 |[115]145/185]| 16 | 2 1405/180(225[141/100| 95 [1401250]3201296/514| 253 | PG16 | 38 |3
[1] Standard %
[2] On request 2

Your Life, our Quality. Worldwide. 59 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3LM4 65-250, 80 4 Poles

4-9D3 H ‘ 80 ‘ ‘ M

DIMENSIONAL TABLE

Model Dimensions [mm] Weight
DN1/P1 /K1/D1/S1| DN2 | P2/ D2|S2 | H |H1 /H2 H3/H4 R |W N1/ N2 M M1/A1/A2 B C G D3 W1 V2 [ka]

65-250/4 | 80 [135/160|200| 22 |65 Fig. 1]120| 185 20 |450|200|250| 150/ 15 |100|120|280/360|160| 80 |175|182|559| 295 |220| 19| PG13,5 | PG16 | 81,0

65-250/5.5 | 80 |135/160]200| 22 |65 Fig. 1/120]185) 20 |450/200|250178| 15 |100/120/280/360|160| 80 |175/182/612| 376 |259| 19 | PG13,5| PG21 | 96,0

80-160/1.5 | 100]155]180]225| 24 |80 Fig. 2135]200| 22 |405|180|225|124| 13 |125| 95 |250|320|125| 65 |147[173|516|244+255/176]| 15 PG13,5 | 53,0
80-160/2.2R] 100] 155| 180|225| 24 |80 Fig. 2|135(200| 22 |405|180|225|141| 13 |125| 95 |250|320|125| 65 |147|173|499] 253 [193] 15 - PG16 | 53,0
80-160/2.2 |100/155|180/225| 24 |80 Fig. 2|135]200| 22 |405|180|225| 141 13 |125| 95 250|320 125| 65 |147]173]499| 253 [193] 15 - PG16 | 53,0
80-200/3 100 155|180]225| 24 |80 Fig. 2135/200| 22 |430/180/250| 141] 13 |125] 95 |280|345/125| 65 [175/182|561| 275 [193| 15 PG16 | 73,0

80-200/4R ]100] 155] 180|225| 24 |80 Fig. 2|135]200| 22 |430/180/250] 150| 13 | 125| 95 |280|345[125| 65 |175/182|584| 295 |220| 15| PG13,5| PG16 | 80,0
80-200/4  ]100] 155| 180|225| 24 |80 Fig. 2|135]200| 22 |430/180/250| 150| 13 | 125| 95 |280|345[125| 65 |175/182|584| 295 |220| 15| PG13,5| PG16 | 81,0
80-250/5.5R[ 100 155/ 180{225| 24 |80 Fig. 2|135/200| 22 |480/200|280|178| 15 [125/120/315/400]160] 80 |175/192/637| 376 |259| 19 | PG13,5| PG21 | 94,0
80-250/5.5 [100] 155/ 180]225] 24 |80 Fig. 2| 135/200| 22 |480/200]280| 178] 15 [125]120]315]400]160] 80 [175/192/637] 376 [259] 19 | PG13,5| PG21 | 95,0

*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

Your Life, our Quality. Worldwide. 60 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3M4 80-250/7.5 4 Poles
aa ¢
228
R - 8%
nca R
Weight
3M4 80-250/7.5: 119 kg

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 61 Commercial



*80jjou Joud Jnoyym ‘A1essaoeu swaap i uojieaypoul AUe 1o8ye 0 1Bl ay) senesal 'y'd's adoing sdwing Y3 Buipuiq se papseBel aq 1ou 1snw uoliealand iU JO SIUBIU0O 8y |

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)s4 32, 40, 50, 65 - up to 1,5 kW 4 Poles
B
D2
P2
DN2 Vi V2 A
o
» ‘ ‘ 7-918
C ) 7-918
LE*‘D"
S 0= S
M =H =Y IS [ ~M %
S = E» T
| {WHHH%F -
== ] EREEiiig
— \ J 00000 ﬁ
e o B 1 T
| i :J:ﬁv L )
Fig. 1 C 1 I
R L] e
v ]
S M
N
B
. H
Fig. 2 —
25 J W ‘
M
DIMENSIONAL TABLE
Dimensions [mm Weight
Model DN|P1|K1|D1|S1 YA DN| P2 | K2 | D2 |S2|Fig. H |H1|H2|/H3| R |W|M |N1|N2|A|B|C|X|Y|K VI V2 [ka]
0 0100 121 0/ 0|0 @ [*]
32-125/0.25 | 50| 95 [125]165/ 161 4 | - 132175 (100|140/14| 1 1252|112(140|114| 80 | 70 [114]140/190|213/404|153|112]140| 8 |M20x1,5|M16x1,5[15.4] -
32-160/0.37R| 50 | 95 [ 125165/ 16| 4 32175 1100]140114] 1 1292]1321160|114| 80 | 70 |118]190(240254[404]153|112]140| 8| M20x1,5|M16x1,5/18.5
32-160/0.37 [ 50| 95 |125/165/ 16| 4 321 751100]140|14] 1 1292/1321160[114| 80 | 70 | 118]190|240|254|404|153|112|140| 8 | M20x1,5/M16x1,5/18.7
32-200/0.55R[ 50| 95 |125]165| 16| 4 321 751100]140|14] 1 |340/160/180|139| 80 | 70 119]190|240/296(430| 174|140 168|10| M25x1,5|M20x1,5| 28
32-200/0.55 [ 50| 95 |125]165| 16| 4 321 751100[140|14] 1 |340/160]180(139| 80 | 70|119/190{240/296|430|174|140| 168|10 M25x1,5| M20x1,5| 33 | -
-1 32-200/0.75 ] 50| 95 | 125/ 165/ 16| 4 321 75[100/140(14] 1 1340/ 160(180/139] 80 | 70119/ 190|240] 296|430 174|140| 168[10 M25x1,5| M20x1,5/29.5/29.5
40-125/0.37R 65115[145[185/ 16| 4 401 80 [110]150]14] 1 1252/ 112/140]114] 80 | 70| 114/160/210|213[404|153]112]140| 8| M20x1,5|M16x1,5/16.2] -
40-125/0.37 | 65]115/145/185| 16| 4 40180 1110[150[14| 1 1252|1121140]114| 80| 70| 114]160|210/213404|153| 112|140| 8| M20x1,5| M16x1,5| 16.2
40-160/0.55R 65 115[145[185) 16| 4 401 80 | 110]150]14] 1 [292]132]160]139| 80 | 70| 118|190|240| 254/ 430| 174 140( 168|10 M25x1,5| M20x1,5/23.5
40-160/0.55 | 65]115/145/185| 16| 4 401 80 | 110]150(14] 1 1292{132|160]139] 80| 70| 118] 190| 240| 254|430| 174| 140| 16810 M25x1,5| M20x1,5/23.5| -
40-200/1.1R | 65| 115|145/ 185| 16| 4 40| 80[110/150[14] 2 |340| 160(180| 148|100/ 70| 115/212|265| 296|497 186|140| 168 |10/ M25x1,5|M20x1,5|34.3|32.1
40-200/1.1 | 65]115]145/185| 16| 4 40180 [110]150(14| 2 [340|160]180|148(100| 70 |115]212(265(296/497|186|140| 16810 M25x1,5 | M20x1,5(34.3132.1
40-200/1.5 ] 65[115[145(185[ 16| 4 40180 1110]150(14) 2 1340/160]180]148/100| 70| 115]212|265|296|497 18614016810 M25x1,5|M20x1,5|35.5/32.9
| 50-125/0.55R] 65 [ 115/145[185| 16| 4 501 95 |125]165[16] 2 [292|132]160]139[100| 70 |114]190|240|254[450|174|140|168|10|M25x1,5|M20x1,5|23.7| -
50-125/0.55 | 65 | 115]145/185| 16 | 4 5095 [125/165]16] 2 [292/132{160/139/100| 70 [114]190|240|254|450|174|140| 168[10 M25x1,5|M20x1,523.7| -
50-160/1.1R | 65 |115|145/185| 16| 4 5095 [125/165/16] 2 |340/160(180/148|100| 70 [115/212|265296|497|186|140| 168(10 M25x1,5| M20x1,5| 34 [31.8
50-160/1.1 | 65[115/145[185| 16| 4 50195 |125]/165]16] 2 |340]160{180|148|100| 70 | 115]|212|265|296/497|186|140| 168|10M25x1,5|M20x1,5| 34 |31.8
50-200/1.5R | 65| 115|145[185| 16| 4 50 95 [125]165/16| 2 |360[160]200|148|100| 70 | 115|212|265|296/497|186| 140| 168/10 M25x1,5| M20x1,5/37.1/34.5
50-200/1.5 ] 651115145/ 185/ 161 4 | - [ 501 95 125/ 165/16] 2 [360]160]200| 148/ 100| 70 | 115]212|265|296/ 497|186 140| 168110 M25x1,5| M20x1,5/37.1/34.5
65-125/0.55 | 80|134|160/200| 18| 8 | 4 | 65[115|145/185|16| 2 |340| 160|180/ 139]100| 95| 140/212|280| 254|450| 174| 140| 168|10 M25x1,5| M20x1,5| 21.5| -
65-125/0.75 | 80 {134/ 160(200| 18| 8 | 4 | 65]115|145/185]16| 2 | 340/ 160| 180| 139|100| 95 | 140{212| 280| 254| 450| 174| 140| 168|10 M25x1,5| M20x1,5| 30 | 30
65-125/1.1 | 801134/160/200| 18| 8 | 4 | 65115145/ 185[16| 2 |340| 160|180| 148| 100| 95 | 140| 212|280| 254 497| 186/ 140| 168/10 M25x1,5| M20x1,5| 30 |27.8
65-160/1.1 | 80134/ 160/ 200] 18| 8 | 4 | 65| 115|145| 185/16| 2 |360| 160|200| 148| 100| 95| 140| 212| 280| 296/ 497| 186/ 140| 168/10 M25x1,5/M20x1,5| 31 |28.8
65-160/1.5 1801134]160/200/ 18| 8 | 4 |65/115]145]185/16] 2 1360|160(200|148/100| 95 [140|212/280|296/497|186140| 16810 M25x1,5 M20x1,5| 43 1404
[1] Standard [*] Only for IE3 Motors
[2] On request
Your Life, our Quality. Worldwide. 62 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3(L)S4 50, 65 - 2,2 + 3 kW 4 Poles
548
D2
P2
Ng, M25x1.5 296
© ‘ ‘ M20x1.5 e
f = 7-918
S 1 © o[

5
2
1~
%@ N

—H—s

4-011

140
168

Weight
3LS4 80-160/1.5: 60,5 kg

DIMENSIONAL TABLE
Dimensions [mm] Weight
Model DN1 P1 K1 D1 S1 YA DN2 P2 K2 D2 H H1 H2 W M N1 N2 [kq]
0 2 0 2 [1] [2] 2 2 2 0 [*]
50-200/2.2 65 115 | 145 | 185 16 4 - 50 95 125 | 165 | 360 | 160 | 200 70 115 | 212 | 265 43 | 434
65-160/2.2 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 | 360 | 160 | 200 95 140 | 212 | 280 46 | 464
65-200/2.2R | 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 | 405 | 180 | 225 95 140 | 250 | 320 | 425 | 429
65-200/2.2 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 | 405 | 180 | 225 95 140 | 250 | 320 43 | 434
65-200/3 80 134 | 160 | 200 18 8 4 65 115 | 145 | 185 | 405 | 180 | 225 95 140 | 250 | 320 | 485 | 485
[1] Standard [*] Only for IE3 Motors
[2] On request @
3154 80-160/1,5 4 Poles :
200 %
¢ 135 147 173 %
M25x1.5 2-63/8 §
< M20x1.5 é
i f % %180 N %
24 "gi
|- 15 4-015 H 65 %
125 250 %’
125 186 320 g
522 %

Your Life, our Quality. Worldwide. 63 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LS4 65-250, 80 - up to 7,5 kw 4 Poles
V1
V2
n @]
8 e e e e O (&) -
:_u_u_u_u_fﬂ
] |
4-9D3 ‘ ‘ M1 ‘
N1
L |F1] N2
B
L5
4 ]
4—912
A T o
DIMENSIONAL TABLE
Model Dimensions [mm] Weight [kg]
DN1/P1/K1/D1/S1| DN2 |P2|D2(S2| H [H1[H2|H3|H4H5 R |W N1/N2/ M M1 L |L1/L2|L5/A1/A2/B|C|F1/G D3] W1 \/2 [*]
65-250/4 | 80 135160200122 |65 Fig. 1/120185/20/450200250171/15|88|100/120280360/160, 80 |147/265290187|175/182/5801215 20 [22519{M25x1,5|M20x1,5| 85 | 90.6
65-250/5.5 | 80 135160200122 165 Fig. 1/1201185/201450200250,198| 15/68|100/120280360160 80 [157315340228|175/182/637/264, 46 248/ 19| M32x1,5[M32x1,5| 108 | 118
80-160/2.2R] 100|155180225/24 |80 Fig. 2/1352001221405/180225/155/ 13180125/ 95 [250320/125] 65 [1401250275/190/147/173/573]205| 25 196/ 15| M25x1,5|M20x1,5| 69.7 | 70.1
80-160/2.2 ]100|155180225/24 80 Fig. 2/135200/221405/1801225/155/ 13180125/ 95 [250320/125 65 [1401250275190147/173/573205| 25 |196| 15| M25x1,5[M20x1,5| 70 | 70.4
80-200/3  ]100|155180225/24 |80 Fig. 2/135200/221430/1801250/155/ 1380|125/ 95 [2801345/125 65 |1401250275/190/175/182/5831215/ 25 196/ 15| M25x1,5 [M20x1,5| 80 80
80-200/4R 1100155180225/ 24 80 Fig. 2/13520012214301801250171/13] 68125/ 95 [280345/125 65 |157/315340228|175/182/605/198 46 [225/15[M25x1,5|M20x1,5| 84 | 89.6
80-200/4  1100]155180225/24 80 Fig. 2/135200122143011801250171] 13168125/ 95 1280345[125 65 |157/315340228|175/182/605/198 46 225 15| M25x1,5|M20x1,5| 90 | 95.6
80-250/5.5R] 100|155/180225/ 24 |80 Fig. 2/135200/22|480120012801198| 15/68|125/1201315400160, 80 |157]315340228|175/192/662/264, 46 248| 19| M32x1,5|M32x1,5| 114 | 124
80-250/5.5 ]100|155180225/24 180 Fig. 2/135200/2214802002801198| 15/68|125/120315400160 80 [157315340228|175/192/662/264 46 248] 19| M32x1,5[M32x1,5| 115 | 125
80-250/7.5 1100/155180225/ 24 180 Fig. 2/1352001221480120012801198| 15/681125/1201315/4001160 80 |1571315340228|175/192[702264 46 248/ 19| M32x1,5 | M32x1,5] - 134

[*] Only for IE3 motors

*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

Your Life, our Quality. Worldwide. 64 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LS4 80-160/1.5 4 Poles
¢ 200
¢ 135 147 173
DN80O _
N ' M25x1.5 2-63/8
o~
M20x1.5 8-018
T s ;
] N W S
— —W g /'/
_ _ ol To)
g 8 8 i 2 | g
s| s B b = A\ % 9180
) [ N 4
— ] St o
= .3
i3 -
24 | =
95 ‘ 15 4-815 65
\
125 250
125 | 186 320
522
o [e0)
R
Weight
3LS4 80-160/1.5: 60.5 kg
57.9 kg Only for IE3 motors
Your Life, our Quality. Worldwide. 65 Commercial

ist not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

3(L)P4 32, 40, 50, 65 - up to the 65-200 4 Poles

e

]
]
F
el
-
H3

fierat

?\ |
LA E

ﬂ 3
Only for 441
32-125/0.25 t=
32-160/0.37
32-200/0.55/0.75 360 3 4-¢15 0

40-125/0.37
40-160/0.55 80 E

DIMENSIONAL TABLE

65 [115/145/185] 16 [39011601180(139]100(254|735[2721510/350|390/300|670| M25x1,5|M20x1,5| 485 | 48.5
65 [115/145/185] 16 [390/160/180{148|100(254|780(317]5901350|390|300|750| M25x1,5|M20x1,5] 56,0 | 53.8
65 |115]145]185]| 16 |410{160]200|148|100/296 780|317 /590350390300 |750 | M25x1,5 | M20x1,5| 62,5 | 60.3
65 [115]145]185] 16 |410{160]200148|100,296 1780317590 |350/390 /300 | 750 | M25x1,5 |M20x1,5| 63,5 | 60.9
65 [115]145]185] 16 |410] 160|200 155] 1001296 829366590 /350|390 /300|750 | M25x1,5 [M20x1,5| 71,5 | 71.9
65 [115/145/185] 16 |455]180]225|155|100{296|829|366|590380|420330750| M25x1,5 | M20x1,5| 74,0 | 74.4
65 [115]145]185] 16 |455|180(225]155/100{296 /829|366 |590|380|420|330750 | M25x1,5|M20x1,5| 74,0 | 74.4
65 [115/145/185] 16 [455]1801225[155]100(2961829|366]590380]4201330750| M25x1,5

65-125/0.75 | 80 [1341160]200| 18
65-125/1.1 [ 80 ]134/160]200| 18
65-160/1.1 [ 80 |134/160]200| 18
65-160/1.5 | 80 [1341160]200] 18
65-160/2.2 | 80 |1341160]200| 18
65-200/2.2R | 80 |134]160/200]| 18
65-200/2.2 | 80 |134]160/200]| 18
65-200/3 80 [1341160/200] 18

[1] Standard [*] Only for IE3 Motors
[2] On request

e N e i e i

M20x1,5] 77,5 | 77.5

Dimensions [mm] Weight
Model |DN1| P1 | K1|D1]| 1 Z DN2/ P2 |K2|D2|S2 | H | H1|H2{H3| R|A | B |B1T|E |NT|N2/N3|T Vi V2 [ka]
9.0 0. @ M2 ¢ 0 0 @ [*]
32-125/0.25 | 50 | 95 |125/165| 16| 4 | - |32 |75|100(140| 14 |302{112|140|114| 80 |213|689|246|550|300|340(250|710|M20x1,5|M16x1,5| 370 | -
% 132-160/0.37R| 50 | 95 |125]165] 16 | 4 32 |75 1100|140/ 14 |342]132[160|114| 80 [254|689|246|510|350|390/300|670|M20x1,5 | M16x1,5| 41,0
s 32-160/0.37 | 50 | 95 |125/165| 16 | 4 32 1 75]100]140] 14 |342|132|160|114| 80 |254/689|246/510/350|390(300|670| M20x1,5|M16x1,5| 41,0
£ 132-200/0.55R| 50 | 95 [125/165| 16 | 4 32 1 75]100]140] 14 1390|160/180|139| 80 |296|715|272/510/350|390(300|670 | M25x1,5|M20x1,5| 53,5
2132-200/0.55 | 50 | 95 [125]165| 16 | 4 32 |75 1100|140/ 14 [390]160/180|139| 80 [296|715|272(510|350|390/300|670|M25x1,5|M20x1,5| 53,5 -
£132-200/0.75 |50 | 95 [125/165] 16 | 4 32 1 7511001140] 14 1390]160/180]139] 80 [2961715]27215101350]390/300,670| M25x1,5 | M20x1,5| 54,5 | 54.5
2 | 40-125/0.37R| 65 |115]145]185] 16 | 4 40 | 80 |110{150] 14 |302/112]140|114| 80 |213 689|246 |550|300/340|250|710|M20x1,5|M16x1,5| 46,5 | -
5 |40-125/0.37 | 65 [115]145/185[ 16 | 4 40 | 80 |110{150 14 |302|112]140|114| 80 |213 689|246 |550|300|340|250|710 | M20x1,5 |M16x1,5| 46,5
2 140-160/0.55R | 65 [115]145/185| 16 | 4 40 1 80 [11011501 14 134211321160139| 80 [254|715/2721510/350/390|300 /670 | M25x1,5|M20x1,5| 44,5
s 140-160/0.55 | 65 |115]145/185| 16 | 4 40 | 80 |110]150] 14 |342]132|160139| 80 |254|715/272|510/350/390 /300|670 | M25x1,5 |[M20x1,5| 44,5 | -
¢ 1 40-200/1.1R | 65 [115]145/185[ 16 | 4 40 | 80 |110{150 14 |390/160|180 148100296 |780|317|590|350/390{300|750 | M25x1,5 |M20x1,5| 61,5 | 59.3
5140-200/1.1 |65 1115[145[185[ 16 | 4 40 | 80 |110{150 14 |390/160|180 148100296 780|317 |590|350/390|300 |750 | M25x1,5 [M20x1,5| 61,5 | 59.3
8140-200/1.5 |65 115/145/185| 16 | 4 40 | 80 [110]150] 14 1390|160 180,148|100/2961780,/3171590/350/390/300 750 M25x1,5 |M20x1,5| 64,0 | 614
2|50-125/0.55R | 65 | 115/145/185| 16 | 4 50 | 95 125|165/ 16 3421132 |160]139|100|254|735|272|510|350|390|300|670| M25x1,5|M20x1,5| 450 | -
%150-125/0.55 | 65 [115]145/185| 16 | 4 50 | 95 [125/165] 16 |342]132160]139]100|254|735/272|510/350|390/300|670| M25x1,5|M20x1,5| 450 | -
8 150-160/1.1R | 65 [115]145/185[ 16 | 4 50 | 95 | 125/165] 16 |390|160180|148|100|296|780/317|590/350|390/300|750| M25x1,5|M20x1,5| 52,5 | 50.3
£ 150-160/1.1 | 65 [115]145]185| 16 | 4 50 1 95 |125/165] 16 [390/160/180|148|100|296|780|317|590|350|390|300|750| M25x1,5|M20x1,5| 52,5 | 50.3
g 1 50-200/1.5R | 65 [115/145/185| 16 | 4 50 | 95 [125/165] 16 |410]160/200|148|100|296|780|317|590/350|390/300|750| M25x1,5|M20x1,5| 64,0 | 61.4
% 150-200/1.5 | 65 [115]145/185[ 16 | 4 50 | 95 125|165 16 |410]160/200|148|100|296|780|317|590/350|390/300{750| M25x1,5|M20x1,5| 64,0 | 61.4
&|50-2002.2 |65 [115]145/185/ 16 | 4 50 195 ]125/165] 16 [4101160/200]155/100]296 8291366 590(350/390(300|750|M25x1,5|M20x1,5| 70,0 | 70.4
% 65-125/0.55 | 80 |134/160/200| 18 | 8 65 [115/1451185] 16 13901160180 (139|100|254|735|2721510/350|390|300 670 | M25x1,5 | M20x1,5| 48,5
5 8
2 8
g 8
z 8
3 8
2 8
2 8
g 8

Your Life, our Quality. Worldwide. 66 Commercial



3 - 3L SERIES

. CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LP4 65-250, 80 4 Poles
B
D2 B1
P2
V2
(ICX) g
0 2
| !
4-9¢D4
N2
DIMENSIONAL TABLE
Model Dimensions [mm] Weight [kg]
DN1 D151 P2/D2/S2 | H /HI/H2/H3/H4/ H5/ R INT/N2/N3| B /B1, C | D| G| E|T|D4|Sp.| Vi V2 [*]

65-250/4 | 80 200 22 1201185/ 20 1510/200/250{171/ 60 | 88 |100/510/570|440|961 |388|470/100|225|760(960| 19 | 8 |M25x1,5/M20x1,5|113,5/119.1
65-250/5.5 |80 200] 22 120[185] 20 |510/2001250]198| 60 | 68 |100(510/5701440(1015/442|4701100/248/760/960| 19 | 8 |M32x1,5/M32x1,5/130,0| 140
80-160/1.5 100 225| 24 135[200| 22 |455/180|225|148] 50 | 90 |125|380/420/330|805|317|360| 80 |180/590/750| 15 | 5 |M25x1,5/M20x1,5| 80,0 | 77.4
80-160/2.2R {100 225| 24 135[200] 22 |455]180/225|155/ 50 | 80 |125]380]420330/854 366,360/ 80 | 196/590/750| 15| 5 |M25x1,5/M20x1,5| 86,0 | 86.4
80-160/2.2 |100 225| 24 135/200| 22 1455/180]225|155] 50 | 80 |125|380/420|330|854 |366|360| 80 |196|590/750| 15 | 5 |M25x1,5/M20x1,5|100,5/100.9
80-200/3 _ |100 225| 24 135/200| 22 |490/180/250| 155/ 60 | 80 |125|460/520/390| 964 |366|470/100|196/700/900| 19 | 8 |M25x1,5|M20x1,5]109,5/109.5| =
80-200/4R |100 225| 24 135|200 22 |490/180/250/171] 60 | 68 |125|460|520|390/986 |388|470|100|225/700/900| 19 | 8 |M25x1,5| M20x1,5|116,5/122.1
80-200/4  |100 225| 24 135/200| 22 14901/180/250{171] 60 | 68 |125/460/520|390| 986 |388|470/100|225|700/900| 19 | 8 |M25x1,5/M20x1,5|117,0(122.6
80-250/5.5R | 100 225| 24 135/200| 22 |540/200/280|198] 60 | 68 |125|510/570|440(1040442|470/100|248|760/960| 19 | 8 |M32x1,5|M32x1,5|134,0| 144
80-250/5.5 |100 225| 24 135|200 22 |540/200/280/198] 60 | 68 |125|510/570|440[1040442470|100/248|760/960| 19 | 8 |M32x1,5M32x1,5|134,5/144.5
80-250/7.5 |100 225|124 135(200] 22 [540/2001280{198] 60 | 68 |125/510/570]440(10801482|470/100/248]760(960| 19 | 8 |M32x1,5/M32x1,5]143,5]157.5"

Your Life, our Quality. Worldwide. 67 Commercial



*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

3(L)PF4 32, 40, 50, 65

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

4 Poles

S2

Fig. 2
25

DIMENSIONAL TABLE

Vodel : Dimensions [mm] W?(ight
Fig. |[DN1| P1 | K1 | D1 | S1 | [1] [ [2] |DN2 | P2 | K2 | D2 | S2 H H1 | H2 | M | N1 | N2 R W A B [kal

32-125 1 50 | 95 | 125 | 165 | 16 4 - 32 | 75 1100 | 140 | 14 | 252 | 112 | 140 | 114 | 140 | 190 | 80 | 70 | 213 | 440 | 17,0
32-160 1 50 | 95 | 125 | 165 | 16 | 4 32 | 75 | 100 | 140 | 14 | 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19,0
32-200 1 50 | 95 1 125 1165 | 16 | 4 32 | 75 | 100 | 140 | 14 | 340 | 160 | 180 | 119 | 190 | 240 | 80 | 70 | 296 | 440 | 270
40-125 1 65 | 11511451185 | 16 | 4 40 | 80 | 110 | 150 | 14 | 252 | 112 | 140 | 114 | 160 | 210 | 80 | 70 | 213 | 440 | 17,0
40-160 1 65 | 1151 145 | 185 | 16 4 40 | 80 [ 110 [ 150 | 14 [ 292 | 132 | 160 | 118 | 190 | 240 | 80 | 70 | 254 | 440 | 19,0
40-200 2 65 | 1151145 1185 | 16 | 4 40 | 80 | 110 ] 150 | 14 | 340 | 160 | 180 | 1151 212 | 265 | 100 | 70 | 296 | 460 | 27,0
50-125 2 65 | 11511451185 | 16 | 4 50 | 95 | 125 | 165 | 16 | 292 | 132 | 160 | 114 | 190 | 240 | 100 | 70 | 254 | 460 | 19,0
50-160 2 65 | 11511451185 | 16 | 4 50 | 95 | 125 | 165 | 16 | 340 | 160 | 180 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 28,0
50-200 2 65 | 1151145 1185 | 16 | 4 - 50 | 95 | 125 | 165 | 16 | 360 | 160 | 200 | 115 | 212 | 265 | 100 | 70 | 296 | 460 | 27,0
65-125 2 80 | 134 | 160 | 200 | 18 | 8 4 | 65 | 115|145 | 185 | 16 | 340 | 160 | 180 | 140 | 212 | 280 | 100 | 95 | 254 | 460 | 28,0
65-160 2 80 | 1341160 | 200 | 18 | 8 4 | 65 | 115] 145 ] 185 | 16 | 360 | 160 | 200 | 140 | 212 | 280 | 100 | 95 | 296 | 460 | 29,0
65-200 2 80 | 13411601200 ] 18 | 8 4 | 65 | 115/ 145] 185 16 | 405 | 180 | 225 | 140 | 250 | 320 | 100 | 95 | 296 | 460 | 30,0
[1] Standard

[2] On request

* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor.

Your Life, our Quality. Worldwide. 68 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
3LPF4 65-250, 80 4 Poles
D2
o~
-
T
o
T
DIMENSIONAL TABLE %
Model Dimensions [mm] Weight?
DN1/P1|K1|D1]S1| DN2 | P2 /D2|S2| H |H1|H2 H3| R /W NT/N2/ M M1| L |L1|D|D3|E|F |A1|A2| B | C | [kg] &
65-250 80 1135/ 160200 22 | 65Fig. 111201185] 20 |450[200]250] 15 | 100 120/280/360/160 | 80 | 130] 80 | 32 | 19 | 10 | 35 |175/182|570]340] 82,0 &
80-160 100 155/1801225| 24 | 80 Fig. 2 | 135]200| 22 |405|180/225| 13 [125] 95 |250|320125| 65 |100| 50 | 24 | 15| 8 | 27 |147]173]485|260| 56,0 &
80-200 100] 155|180 225| 24 | 80 Fig. 2| 135|200 22 | 430|180/ 250| 13 | 125| 95 |280|345|125| 65 |130| 80 | 32 | 15| 10| 35|175|182/595|340| 83,0
80-250 100/ 155/180]225] 24 | 80 Fig. 2| 135/ 200] 22 14801200/ 280 15 [125]120]315/400] 160 80 | 130] 80 | 32 | 19 | 10 | 35 | 175] 192]595]340| 84,0 g
* Space where it is possible to disassemble the pump with spacer joint without disassembling the motor. %
®
Your Life, our Quality. Worldwide. 69 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
Joint for 3(L)S4 SERIES 4 Poles
L
b Screws UNJ EN 1SO 4029
n ) N
, . E - 1
L1 ‘
< = - } CA - - - - - N
DIMENSIONAL TABLE
Motor Dimensions [mm]

Model [HP] | TkWl | Ve d d1 ) 43 M L L1 b h Screws
32-125/0.25 033 0,25 71 19 22 14 28 M16x1,5 88 33 5 16,3 M5x6
32-160/0.37R 0,5 0,37 71 19 22 14 28 M16x1,5 88 33 5 16,3 M5x6
32-160/0.37 05 0,37 71 19 22 14 28 M16x1,5 88 33 5 16,3 M5x6
32-200/0.55R 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
32-200/0.55 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
32-200/0.75 1 0,75 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
40-125/0.37R 0,5 0,37 71 19 22 14 28 M16x1,5 88 33 5 16,3 M5x6
40-125/0.37 05 037 71 19 22 14 28 M16x1,5 88 33 5 16,3 M5x6
40-160/0.55R 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
40-160/0.55 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6x6
40-200/1.1R 1,5 1.1 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
40-200/1.1 1,5 1.1 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
40-200/1.5 2 15 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8

2 | 50-125/0.55R 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 Méx6
% 50-125/0.55 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 218 M6x6
< | 50-160/1.1R 1.5 1,1 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
2 150-160/1.1 15 1,1 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
g | 50-200/1.5R 2 1.5 90 19 22 24 39 M16x1,5 110 53 8 27.3 M8x8
2 |50-200/1.5 2 15 90 19 22 24 39 M16x1,5 110 53 8 27.3 M8x8
2 1.50-200/2.2 3 22 100 22 22 28 43 M18x1,5 153 63 8 31,3 M8x8
g 65-125/0.55 0,75 0,55 80 19 22 19 33 M16x1,5 98 43 6 21,8 M6éx6
s |65-125/0.75 1 0,75 80 19 22 19 33 M16x1,5 98 43 6 21,8 Méx6
% 165-125/1.1 1.5 1,1 90 19 22 24 39 M16x1,5 110 53 8 273 M8x8
£ [65-160/1.1 1.5 1,1 90 19 22 24 39 M16x1,5 110 53 8 27.3 M8x8
£165-160/1.5 2 1.5 90 19 22 24 39 M16x1,5 110 53 8 27.3 M8x8
§ 65-160/2.2 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
% 165-200/2.2R 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
£ 165-200/2.2 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
€ 165-200/3 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
g 65-250/4 55 4 112 24 30 28 43 M20x1,5 128 63 8 31,3 M8x8
% | 65-250/5.5 75 55 132 24 30 38 58 M20x1,5 151 84 10 41,3 M8x8
% 80-160/1.5 2 1.5 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
& 1 80-160/2.2R 3 2.2 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
£ 180-160/2.2 3 2,2 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
§ 80-200/3 4 3 100 24 30 28 43 M20x1,5 128 63 8 31,3 M8x8
§ 80-200/4R 55 4 112 24 30 28 43 M20x1,5 128 63 8 31,3 M8x8
z 80-200/4 55 4 112 24 30 28 43 M20x1,5 128 63 8 31,3 M8x8
$ 180-250/5.5R 7.5 55 132 24 30 38 58 M20x1,5 151 84 10 41,3 M8x8
£ 180-250/5.5 75 55 132 24 30 38 58 M20x1,5 151 84 10 41,3 M8x8
% 80-250/7.5 10 7.5 132 24 30 38 58 M20x1,5 151 84 10 41,3 M8x8

Your Life, our Quality. Worldwide. 70 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
Joint for 3(L)P4 SERIES 4 Poles
( 3 £
[
] [
>‘<
5 ] e —— -
PUMP SIDE MOTOR SIDE MOTOR SIDE
DIMENSIONAL TABLE
. Dimensions [mm]

Model [HP] [kw] Motor size di b1 h1 b2 h2
32-125/0.25 033 0,25 71 24 8 273 14 5 16,3
32-160/0.37R 0,5 037 Jal 24 8 27.3 14 5 16,3
32-160/0.37 0,5 0,37 71 24 8 27,3 14 5 16,3
32-200/0.55R 0,75 0,55 80 24 8 27.3 19 6 218
32-200/0.55 0,75 0,55 80 24 8 27.3 19 6 21,8
32-200/0.75 1 0,75 80 24 8 27,3 19 6 21,8
40-125/0.37R 0,5 037 1 24 8 27,3 14 5 16,3
40-125/0.37 0,5 037 71 24 8 273 14 5 16,3
40-160/0.55R 0,75 0,55 80 24 8 27.3 19 6 218
40-160/0.55 0,75 0,55 80 24 8 27.3 19 6 218
40-200/1.1R 15 1.1 90 24 8 273 24 8 273
40-200/1.1 1,5 1.1 90 24 8 27.3 24 8 27.3
40-200/1.5 2 15 90 24 8 27.3 24 8 273
50-125/0.55R 0,75 0,55 80 24 8 27.3 19 6 21,8 g
50-125/0.55 0,75 0,55 80 24 8 273 19 6 218 5
50-160/1.1R 1,5 1.1 90 24 8 27.3 24 8 27.3 H
50-160/1.1 1.5 1.1 90 24 8 27.3 24 8 27.3 =
50-200/1.5R 2 1.5 90 24 8 27.3 24 8 273 7
50-200/1.5 2 1,5 90 24 8 27.3 24 8 27.3 2
50-200/2.2 3 22 100 24 8 273 28 8 313 3
65-125/0.55 0,75 0,55 80 24 8 27.3 19 6 21.8 g
65-125/0.75 1 0,75 80 24 8 27.3 19 6 218 3
65-125/1.1 1,5 1.1 90 24 8 27.3 24 8 27.3 5
65-160/1.1 1,5 1.1 90 24 8 27.3 24 8 273 =
65-160/1.5 2 1.5 90 24 8 27.3 24 8 27.3 £
65-160/2.2 3 2.2 100 24 8 27.3 28 8 313 2
65-200/2.2R 3 2.2 100 24 8 27.3 28 8 31,3 3
65-200/2.2 3 2.2 100 24 8 27.3 28 8 31,3 <
65-200/3 4 3 100 24 8 27.3 28 8 313 %
65-250/4 5,5 4 112 32 10 35,3 28 8 313 3
65-250/5.5 75 55 132 32 10 35,3 38 10 413 H
80-160/1.5 2 1,5 90 24 8 27.3 24 8 27.3 g
80-160/2.2R 3 2.2 100 24 8 27.3 28 8 313 E
80-160/2.2 3 2.2 100 24 8 27.3 28 8 313 E
80-200/3 4 3 100 32 10 35,3 28 8 31,3 g
80-200/4R 55 4 112 32 10 353 28 8 313 g
80-200/4 5,5 4 112 32 10 353 28 8 313 E
80-250/5.5R 15 5,5 132 32 10 35,3 38 10 413 E
80-250/5.5 75 5,5 132 32 10 353 38 10 413 g
80-250/7.5 10 7.5 132 32 10 353 38 10 413 E

2

Your Life, our Quality. Worldwide. 71 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)M4 SERIES 32, 40, 50, 65 4 Poles
1 426 72 56 16 17 58 12 6 21
iy
|
N, -
s 1 ‘
Y B il | o
, /< VD, :- ) v mal R
[/ - =N T \
. =\ .l’_i()» H 14
VLY AT A
/
S = 17 e
W :ﬁ 9z
52 gy oy O i [cma™
I =l g Al
34—
F
| ‘ | t?L e
I / | \/
25 200 5 18 92 19 22 42 20 13
MATERIALS TABLE
Ref. Name Materials
3M4 3LM4
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
006 | Shaft (part in contact with the liquid) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 |impeller 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
P 65-125/160/200 EN 1.4401 (AISI 316)
011 | Mechanical seal Carbon/Ceramic/NBR \ SiC/SiC/FPM
012 | Motor frame -
013 | Motor cover Aluminium
014 |Fan Polyamide
015 | Fan cover Galvanised steel Fe P04
016 | Terminal box -
017 | Terminal box cover Aluminium (three phase version)
018 | Spray protector washer NBR
019 | Bearing (pump side)
020 | Bearing (motor side) -
021 | Adjusting ring Steel C70
022 | Tie-rod Galvanised steel Fe 42
025 | Plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR FPM
032 | Key EN 1.4401 (AISI 316)
034 | Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
042 | Motor support Aluminium / Galvanised Steel
056 | Terminal box cover gasket NBR
058 | Cable gland -
072 | Casing ring 1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 | Casing ring EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
092 | Sealring - -
093 | Seal ring
200 | Screw (pump body) Stainless steel A2 70 class 1SO 3506/1
g [1]=For 32-200, 40-200, 50-160, 50-200 versions
Your Life, our Quality. Worldwide. 72 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LM4 SERIES 80-160
T 7 34 32 11 4 26 3 56 16 17 58 6 12 13 14 15

4 Poles
75 24 77

A

25 76 78 235 200 92 19 201 42 22 20 21 93

MATERIALS TABLE 4
Ref. Name Materials Ref. Name Materials 5
001 ] Pump casing EN 1.4401 (AISI 316) 025 | Plug EN 1.4404 (AISI 316L) 2
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 026 |O-Ring FPM =
004 | Casing cover EEl}l\‘ 11.4}11%2 gﬁfgf 3311 66L|5) 032 | Key EN 1.4404 (AISI 316L)
006 | Shaft Part n contact with the liquid 034 | Impeller nut EN 1.4404 ‘(/-.\ISI 316L) !
007 | Impeller EN 1.4401 (AISI 316) 042 | Motor support Aluminium i
011 | Mechanical seal SiC/SiC/FPM 056 | Terminal box cover gasket NBR 3
012 | Motor frame - 058 | Cable gland - g
013 | Motor cover Aluminium 075 | Washer EN 1.4404 (AlSI 316L) £
014 |Fan Polyamide 076 | Washer EN 1.4404 (AISI 316L) S
015 | Fan cover Galvanised steel Fe P04 077 | O-Ring FPM £
016 | Terminal box - 078 | O-Ring 3
017 ] Terminal box cover Aluminium - <
019 | Bearing (pump side) - 092 | ealring i
020 | Bearing (motor side) - 093 | Sealring - 2
021 ] Adjusting ring Steel C70 200 | Screw (pump body) Stainless steel A2-70 class 15O 3506/1 |5
022 | Tie-rod Galvanised steel Fe 42 201 | Foot screw Stainless steel A2-70 class 150 3506/1 |
024 | Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301 (AISI 304) %
g

?

Your Life, our Quality. Worldwide. 73 Commercial



*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

SECTIONAL VIEW 3LM4 SERIES 65-250, 80

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

4 Poles

T N

4 26 4A 3 56 16 17

75 24 77

/

\

]
Eq
L

34 7 32 25 76 78 244 18 235200 92 19 22 101 220 20 21 93

MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 032 | Key EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut Aluminium
004 | Casing cover EN 1.4401 (AISI 316) 042 | Motor support Aluminium
004A | Casing cover screw EN }ﬁgi ((AAI|SSI|331%£8 056 | Terminal box cover gasket NBR
i T ——

mpeller . asher

011 | Mechanical seal SiC/SIC/FPM 076 | Washer EN 1.4404 (AISI 316L)
012 | Motor frame - 077 | O-Ring FPM
013 | Motor cover Aluminium 078 | O-Ring
014 |Fan Polyamide -
015 | Fan cover Galvanised steel Fe P04 092 | Seal ring (3-4 kW, 5,5-7,5 kW)
016 | Terminal box -
017 | Terminal box cover Aluminium 093 | Sealring (3 kW, 4 kW, 5,5-7,5 kW)
018 | Spray protector washer NBR
019 | Bearing (pump side) - 101 | Seeger ring (only for 5,5-7,5 kW) Carbon steel TC 80
020 | Bearing (motor side) - 200 | Screw (pump body) Stainless steel A2-70 class ISO 3506/1
021 | Adjusting ring Steel C70 201 | Foot screw Stainless steel A2-70 class ISO 3506/1
022 | Tie-rod Galvanised steel Fe 42 220 | Tie-rod nut Galvanised Steel
024 | Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
025 | Plug EN 1.4404 (AISI 316L) 244 | Plug[1] EN 1.4301(AISI 304)
026 | O-Ring FPM

[1]= Not for H and E versions

Your Life, our Quality. Worldwide.

Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)S4 SERIES 32, 40, 50, 65 4 Poles
206 12
AN
Y, = f T
// [ \
—— |
’ ! R 0 R
B = '\ nuam T 1
32 o G 5
! |
34—
! uuuuuyuu [ T [ TI
| — R 5 Y = O
I
‘ L ;J 8
| 71 | % ‘ \ —
i / i \/ \ \ i
75 200 M 6 47
MATERIALS TABLE 4
Ref. Name Materials 5
354 3154
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 4
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 4
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) g
006 | Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 2
007 | impeller 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 3
P 65-125/160/200 EN 1.4401 (AISI 316) 2
011 | Mechanical seal Carbon/Ceramic/NBR SIC/SIC/FPM g
012 | Motor - 5
025 | Plug EN 1.4401 (AISI 316) / PTFE E
026 | O-Ring NBR \ FPM z
032 [Key up to 1 kW EN 1.4401 (AISI 316) 3
034 [ Impeller nut EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) <
042 | Motor support Galvanised Steel F
044 | Support protection EN 1.4301 (AISI 304) 2
072 | Casing ring[1] not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) s
073 | Casing ring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) g
200 | Screw (pump body) Stainless steel A2 70 class 1SO 3506/1 5
206 | Screw Galvanised Steel E
[1]= Only for 32-200, 40-200, 50-160, 50-200 versions %
H
Your Life, our Quality. Worldwide. 75 Commercial



*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

SECTIONAL VIEW 3LS4 SERIES 80-160

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

4 Poles

T34

7

26 113 44

25 76 235 200 6 42 12

MATERIALS TABLE

Ref. Name Materials Ref. Name Materials

001 | Pump casing EN 1.4401 (AISI 316) 032 | Key EN 1.4401 (AISI 316)

003 | Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)

004 | Casing cover EN 1.4404 (AISI 316L) 042 | Motor support Galvanised Steel

006 | Joint EN 1.4404 (AISI 316L) 044 | Support protection EN 1.4301 (AISI 304)

007 | Impeller EN 1.4401 (AISI 316) 075 | Washer

011 | Mechanical seal SiC/SiC/FPM 076 | Washer EN 1.4404 (AISI 316L)

012 | Motor - 077 | O-Ring FPM

024 | Plug EN 1.4404 (AISI 316L) 078 | O-Ring

025 | Plug EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class ISO 3506/1

026 | O-Ring FPM 235 | Washer EN 1.4301(AISI 304)
Your Life, our Quality. Worldwide. 76 Commercial




SECTIONAL VIEW 3LS4 SERIES 65-250, 80

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

4 Poles

5 200

25 76 78 23 12

MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 032 | Key EN 1.4401 (AISI 316)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 034 | Impeller nut EN 1.4404 (AISI 316L)
003A | Adapter ring 1] Cast iron EN-GJL-200-EN 1561 042 | Motor bracket Galvanised Steel
004 | Casing cover EN 1.4401 (AISI 316) 075 | Washer
004A | Casing cover screw disc EN 1.4301(AISI 304) 076 | Washer EN 1.4404 (AISI 376L)
006 | Joint EN 1.4404 (AISI 316L) 077 | O-Ring FPM
007 | Impeller EN 1.4401 (AISI 316) 078 | O-Ring
011 | Mechanical seal SiC/SIC/FPM 200 | Screw (pump body) Stainless steel A2-70 class ISO 3506/1
012 | Motor - 235 | Washer EN 1.4301(AISI 304)
024 | Plug EN 1.4404 (AISI 316L) 244 | Plug 2] EN 1.4301(AISI 304)
025 | Plug EN 1.4404 (AISI 316L)
026 | O-Ring FPM

[1]= Only for 65-250/5.5 kW
[2]= Not for H and E versions

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 77 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3(L)P4 SERIES 32, 40, 50, 65 4 Poles

1 4 26 72 82 89 6 20 33 BA 44 58 12

gy

[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions

93 42A 50
MATERIALS TABLE
Ref. Name Materials
S 3P4 3LP4
& 001 [ Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
¢ | 003 | Motor bracket Cast iron EN-GJL-200-EN 1561
3| 004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
% 006 | Shaft - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
8 007 | impeller 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
2 P 65-125/160/200 EN 1.4401 (AISI 316)
g Carbon/Ceramic/NBR
s| 011 | Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/FPM
“;f SiC/SiC/FPM (HS option
2| 019 | Bearing (pump side)
2| 020 | Bearing (motor side) -
g1 025 |Plug EN 1.4401 (AISI 316) / PTFE
r| 026 [O-Ring NBR \ FPM
51 032 |Key EN 1.4401 (AISI 316)
21033 |Key C 40
£ 034 |Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L)
2| 042 | Motor support Galvanised Steel
%] 066 | Bracket cover Cast iron EN-GJL-250-EN 1561
$| 067 | Bracket cover Cast iron EN-GJL-250-EN 1561
5| 072 |Casingring[1] not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
& 073 |Casingring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
2| 089 | Seegerring Carbon steel TC 80
g 092 |Sealring -
2| 093 |Sealring -
;% 200 | Screw (pump body) Stainless steel A2 70 class 1SO 3506/1

Your Life, our Quality. Worldwide. 78 Commercial



SECTIONAL VIEW 3LPF4 SERIES 80-160

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

4 Poles

66 92 89 19

3 6 20 67 93

I
L1 L0

Teeel 1|
L
T

ind

42M 50C
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 | Pump support Galvanised Steel
004 | Casing cover EN 1.4404 (AISI 316L) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
006 | shaft EN 1.4404 (AS316L) 067 |Bracket cover Cast iron EN-GIL-200-EN 1561
Part in contact with the liquid
007 | Impeller EN 1.4401 (AISI 316) 075 | Washer
SiC/SIC/FPM
011 | Mechanical seal Ceramic/Carbon/FPM (H option) 076 | Washer EN'1.4404 (AISI 316L)
Sic/Carbon/EPDM (E option)
012 | Motor - 077 | O-Ring
019 | Bearing (pump side) 078 | O-Ring FPM (EPDM vers. E)
020 | Bearing (motor side) - 089 | Seeger ring Carbon steel TC 80
024 | Plug EN 1.4404 (AISI 316L) 092 |Vring -
025 | Plug EN 1.4404 (AISI 316L) 093 |Vring -
026 | O-Ring FPM (EPDM vers. E) 200 | Screw (pump body) Stainless steel A2 70 class 1SO 3506/1
032 | Key EN 1.4401 (AISI 316) 200A | Screw Stainless steel A2 70 class ISO 3506/1
033 | Key C40 235 | Washer EN 1.4301(AISI 304)
Your Life, our Quality. Worldwide. 79 Commercial

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

SECTIONAL VIEW 3LP4 SERIES 65-250, 80

4 Poles

6 20 67 93

MATERIALS TABLE

Ref. Name Materials Ref. Name Materials

001 | Pump casing EN 1.4401 (AlSI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)

003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 | Motor support Galvanised Steel

004 | Casing cover EN 1.4401 (AISI 316) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561

004A | Casing cover screw disc EN 1.4301(AISI 304) 067 | Bracket cover Cast iron EN-GJL-200-EN 1561

006 | Shaft EN 1.4462 (duplex steel) per 30-37 kW | 075 | Washer

007 | impeller EN 14401 (AISI316) 076 | Washer EN 1.4404 (AISI 3161)

SiC/SiC/FPM

011 | Mechanical seal Ceramic/Carbon/FPM (H option) 077 | O-Ring .
Sic/Carbor/EPDM (E option) FPM (EPDM versione £)

019 | Bearing (pump side) - 078 | O-Ring

020 | Bearing (motor side) - 089 | Seeger ring Carbon steel TC 80

024 | Plug EN 1.4404 (AISI 316L) 092 | Sealring -

025 | Plug EN 1.4404 (AISI 316L) 093 | Sealring -

026 | O-Ring FPM (EPDM versione E) 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1

032 | Key EN 1.4401 (AISI 316) 235 | Washer EN 1.4301 (AISI 304)

033 | Key C40 244 | Plug [1] EN 1.4301 (AISI 304)

[1]= Not for H and E versions

Your Life, our Quality. Worldwide.

Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3(L)PF4 SERIES 32, 40, 50, 65 4 Poles
] 92 b6 89 19 6 20

/3

52

54

7/

25 35 200 /2 11 42 6/ 93 338
MATERIALS TABLE s
Ref. Name Materials e
3P4 3LP4
001 | Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) %
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 :
004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) g
006 | Shaft - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 2
007 | impeller 32,40, 50 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) g
P 65-125/160/200 EN 1.4401 (AISI 316) 2
Carbon/Ceramic/NBR §
011 | Mechanical seal Carbon/Ceramic/FPM (H option) SiC/SiC/FPM H
SiC/SiC/FPM (HS option %
019 | Bearing (pump side) 2
020 | Bearing (motor side) - <
025 | Plug EN 1.4401 (AISI 316) / PTFE ‘g
026 | O-Ring NBR \ FPM g
032 | Key EN 1.4401 (AISI 316) é
033 | Key C40 z
034 | Impeller nut EN 1.4301 (AISI 304) \ EN 1.4404 (AISI 316L) g
042 | Motor support Galvanised Steel 5
066 | Bracket cover Cast iron EN-GJL-250-EN 1561 ks
067 | Bracket cover Cast iron EN-GJL-250-EN 1561 f
072 | Casing ring [1] not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) E
073 | Casing ring not for 65 EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L) 2
089 | Seeger ring Carbon steel TC 80 g
092 | Sealring - 1
093 | Sealring - <
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1 £
[1]= For 32-200/3, 32-200/4, 32-200/5.5, 40-200/5.5, 40-200/5.5, 40-200/7.5, 40-200/11, 50-160/5.5, 50-160/7.5, 50-200/9.2, 50-200/11, 50-200/15 versions E
Your Life, our Quality. Worldwide. 81 Commercial



*80}j0u Joud Inoym ‘AIssaoeu swisep I UOReaPO Aue 108y 0} 1yBu U senesel 'y d's 8don3 sdwind Yeya3 Buipuig se pspiebel 8q 1ou 1snw uopeayiand siy} 4O SIUBII0D 8y

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LPF4 SERIES 80-160 4 Poles
|
T
| |
26 &
66 92 89 19 5 6 20 67 93
=
33 o
Ve
= =
(& /[
P AN
\
76 1 -
42
255 — 200
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 | Pump support Galvanised Steel
004 | Casing cover EN 1.4404 (AISI 316L) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
006 | Shaft EN 1.4404 (AISI316L) 067 | Bracket cover Cast iron EN-GJL-200-EN 1561
Part in contact with the liquid
007 | Impeller EN 1.4401 (AISI 316) 075 | Washer
SiC/SiC/FPM
011 | Mechanical seal Ceramic/Carbon/FPM (H option) 076 | Washer EN 1.4404 (AISI 316L)
Sic/Carbon/EPDM (E option)
012 | Motor - 077 1 0O-Ring
019 | Bearing (pump side) 078 | O-Ring FPM (EPDM vers. E)
020 | Bearing (motor side) - 089 | Seeger ring Carbon steel TC 80
024 | Plug EN 1.4404 (AISI 316L) 092 |Vring -
025 | Plug EN 1.4404 (AISI 316L) 093 |Vring -
026 | O-Ring FPM (EPDM vers. E) 200 | Screw (pump body) Stainless steel A2 70 class IS0 3506/1
032 | Key EN 1.4401 (AISI 316) 200A | Screw Stainless steel A2 70 class 1SO 3506/1
033 | Key C40 235 | Washer EN 1.4301(AISI 304)
Your Life, our Quality. Worldwide. 82 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

SECTIONAL VIEW 3LPF4 SERIES 65-250, 80

4 Poles

66 89 19 6 20 67 93
33
)
’’’’’’’’’’’’’’ -1 " 7’:}7
L@
11 244 3
235 200 42
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 034 | Impeller nut EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 | Motor support Galvanised Steel
004 | Casing cover EN 1.4401 (AISI 316) 066 | Bracket cover Cast iron EN-GJL-200-EN 1561
004A | Casing cover screw disc EN 1.4301(AISI 304) 067 | Bracket cover Cast iron EN-GJL-200-EN 1561
006 | Shaft EN 1.4462 (duplex steel) per 30-37 kW | 075 | Washer
007 | impeller EN 14401 (AISI316) 076 | Washer EN'1.4404 (A1SI 3161)
SiC/SiC/FPM
011 | Mechanical seal Ceramic/Carbon/FPM (H option) 077 | O-Ring .
Sic/Carbon/EPDM (E option) FPM (EPDM versione £)
019 | Bearing (pump side) - 078 | 0O-Ring
020 | Bearing (motor side) - 089 | Seeger ring Carbon steel TC 80
024 |Plug EN 1.4404 (AISI 316L) 092 | Sealring -
025 |Plug EN 1.4404 (AISI 316L) 093 | Sealring -
026 | O-Ring FPM (EPDM versione E) 200 | Screw (pump body) Stainless steel A2 70 class 1SO 3506/1
032 | Key EN 1.4401 (AISI 316) 235 | Washer EN 1.4301 (AISI 304)
033 | Key C40 244 | Plug [1] EN 1.4301 (AISI 304)
[1]= Not for H and E versions
Your Life, our Quality. Worldwide. 83 Commercial

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



*80jjou Joud Jnoyym ‘A1essaoeu swaap i uojieaypoul AUe 1o8ye 0 1Bl ay) senesal 'y'd's adoing sdwing Y3 Buipuiq se papseBel aq 1ou 1snw uoliealand iU JO SIUBIU0O 8y |

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MECHANICAL SEAL standard version MATERIALS TABLE
L Ref. Name Materials
3 SERIES 3L SERIES

Lt L2 1 | Fixed part Carbon SiC

2 Rotating part Ceramic SiC

— 3 Gasket NBR FPM
4 | Frame + spring EN 1.4401 (AISI 316) EN 1.4571 (AISI 316Ti)

gd3
2
<[©
w—]

#d1
#d2

#d4
#d5

-+

Olg) U
~
SPECIAL MECHANICAL SEALS 3 SERIES (on request)
Name Materials
H version HS version HW version HSW version E version
Fixed part Carbon SiC Tungsten Carbide Tungsten Carbide Carbon
Rotating part Ceramic SiC Tungsten Carbide SiC Ceramic
Elastomers FPM FPM FPM FPM EPDM
Frame + spring AlSI 316 AlISI 316Ti AlSI 316 AlSI 316 AlS| 316Ti
SPECIAL MECHANICAL SEALS 3 SERIESL (on request)
Name Materials
H version HW version HSW version E version
Fixed part Carbon Tungsten Carbide Tungsten Carbide Carbon
Rotating part Ceramic Tungsten Carbide SiC Ceramic
Elastomers FPM FPM EPDM
Frame + spring AlSI 316 AlSI 316 AlSI 316 AlSI 316Ti
Your Life, our Quality. Worldwide. 84 Commercial




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)M4 SERIES 4 Poles
Model Motor P: Efficiency Efficiency(%) P: Absorbed Current
Three phase Size Three phase [A]
230/400/690V [HP] [kw] Three phase n % Three phase Three phase
50% 75% 100%. [kW] 230V 400V 690V

3(L)M4 32-125/0.25 71 033 0.25 - - - - 0,55 1.9 1.1 -
3(L)M4 32-160/0.37R 80 05 037 - - - - 0,80 2.6 1,5
3(LM4 32-160/0.37 05 037 - - - - 0,80 2.6 1,5
3(L)M4 32-200/0.55R 80 0.75 0.55 - - - - 0,80 2.6 1,5
3(L)M4 32-200/0.55 0.75 0.55 - - - - 0,80 2.6 1,5
3(UM4 32-200/0.75 90 1 0.75 IE2 78,4 81,6 81,9 1,41 46 27
3(LM4 40-125/0.37R 71 0.5 0.37 - - - - 0,55 1.9 1.1
3(LM4 40-125/0.37 0.5 0.37 - - - - 0,55 1.9 11
3(L)M4 40-160/0.55R 20 0.75 0.55 - - - - 0,80 2,6 1,5
3(LM4 40-160/0. 55 0.75 0.55 - - - - 0,80 2,6 1,5
3(LM4 40-200/1.1 1.5 1.1 IE2 784 81,6 81,9 1,41 4.6 2,7
3(L)M4 40-200/1. 1 90 1.5 1.1 IE2 78.4 81,6 81,9 1.41 46 2.7
3(UM4 40-200/1.5 2 1.5 IE2 80,3 83,4 83,8 1,88 6,2 3,6
3(L)M4 50-125/0.55R 30 0.75 0.55 - - - - 0,80 2,6 15
3(L)M4 50-125/0.55 0.75 0.55 - - - - 0,80 26 1,5
3(L)M4 50-160/1.1R 1.5 1.1 IE2 18.4 81,6 81,9 1.41 4.6 2.7
3(LM4 50-160/1.1 90 1.5 1.1 IE2 784 81,6 81,9 1,41 46 2.7
3(L)M4 50-200/1.5R 2 1.5 IE2 80,3 83,4 83.8 1,88 6.2 36
3(L)M4 50-200/1.5 2 1.5 IE2 80,3 83,4 83,8 1,88 6.2 3.6
3(LM4 50-200/2.2 100 3 2.2 IE2 84,6 86,0 85,6 2,70 8.1 47
3(LM4 65-125/0.55 80 0.75 0.55 - - - - 0,80 2,6 1,5
3(L)M4 65-125/0.75 1 0.75 IE2 784 81,6 81,9 1,41 4,6 2,7
3(LM4 65-125/1.1 90 1.5 1.1 IE2 78.4 81,6 81,9 1.41 4,6 2.7
3(LM4 65-160/1.1 1.5 1.1 IE2 78,4 81,6 819 1.41 46 2.7
3(LM4 65-160/1.5 2 1.5 IE2 80,3 83,4 83,8 1,88 6,2 3,6
3(LM4 65-160/2.2 3 2.2 IE2 84,6 86,0 85,6 2,70 8,1 47
3(LM4 65-200/2.2R 100 3 2.2 IE2 84,6 86,0 85,6 2,70 8,1 47
3(L)M4 65-200/2.2 3 2.2 IE2 84,6 86,0 85,6 2,70 8,1 4,7
3(L)M4 65-200/3 4 3 IE2 81,6 86,1 89,0 3,54 11,8 6.8
3LM4 65-250/4 112 5.5 4 IE2 87,6 89,0 88,5 4,75 14,9 8,6 -
3LM4 65-250/5.5 132 7.5 5.5 |E2 74,7 81,9 88,6 6,52 - 11,3 6.6
3LM4 80-160/1.5 90 2 1.5 IE2 80,3 83,4 83,8 1,88 6.2 3.6 -
3LM4 80-160/2.2R 3 2.2 IE2 84,6 86,0 85,6 2,70 8,1 47
3LM4 80-160/2.2 100 3 2.2 IE2 84,6 86,0 85,6 2,70 8,1 47
3LM4 80-200/3 4 3 IE2 81,6 86,1 89,0 3,54 11,8 6.8
3LM4 80-200/4R 112 5.5 4 |E2 87,6 89,0 88,5 4,75 14,9 8,6
3LM4 80-200/4 112 5.5 4 IE2 87.6 89,0 88,5 4,75 14,9 8.6 -
3LM4 80-250/5.5R 132 15 5.5 IE2 74,7 81,9 88,6 6,52 - 1.3 6.6
3LM4 80-250/5.5 7.5 5.5 IE2 74,7 81,9 88,6 6,52 11,3 6.6
3LM4 80-250/7.5 132M 10 7.5 IE3 89,8 90,9 90,4 827 15.3 838

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 85 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)S4 - 3(L)P4 SERIES 4 Poles
Model Motor P: Efficiency P: Efficiency (%) Absorbed Current
Three phase Three phase Size Three phase [A]
230/400/690V 230/400/690V [HP] [kW] | Three phase [kw] % Three phase
50% | 75% | 100% | 230V | 400V | 690V
30054 321250025 | 30P432-1250.25 025 | 033 041 | 550 | 590 | 64,0 1.6 0.9 .
3()54 32-16000.37R | 3(P432-16000.37R | 71 | 037 | 05 056 | 600 | 630 | 670 21 12
3()54 32-16000.37 | 3()P4 32-160/0.37 037 | 05 056 | 600 | 630 | 67.0 21 12
3()54 32-200/0.55R_| 3()P4 32-200/0.55R 055 | 0.75 080 | 670 | 690 | 700 238 16
3()54 32-200/0.55_| 3()P4 32-200/0.55 0 | 055 | 075 : 080 | 6/0 | 690 | 700 28 16
3()54 32-20000.75 | 3()P4 32-200/0.75 075 | 1 2 s B 3 18
354401250378 [30PAA0T2503R | 71 | 037 | o5 - 056 1 600 | 630 | 67.0 21 1.2
3154 40-125/0.37 | 3()P4 40-125/0.37 ' ' 056 | 600 | 630 | 670 21 12
3()5440-160/055R | 3(P440-160055R | g0 | gs5 | 075 080 | 670 | 690 | 700 23 16
3()54.40-160/0.55__| 3()P4 40-160/055 ' ' i 080 | 670 | 690 | 700 28 16
3()54 40-200/1.1R | 3()P4 40-200/1.1R 11| 15 2 133 84 S B 23 22
905 ' : ' ' ' -
3()54 40-2001.1 | 3()P4 40-200/1.1 1115 2 133 S48l B 3 22
3()5440-20015 | 3()P4 40-200/1.5 oL | 15 2 8l b Be 180 22 34
3[154 501250558 | PAS0-T25055R | g0 | 055 | 075 - 080 | 670 | 690 | 700 2.8 1.6
3()5450-125/0.55__| 3(1P4 50-125/0.55 055 | 0.75 i 080 | 670 | 690 | 700 28 16
3()54 50-160/1.1R | 3()P4 50-160/1.1R 1,1 , 2 TN TR T 13 52
905 : - : ' :
3()5450-160/1.1 | 3()P4 50-160/1.1 11|15 2 133 S4Bl B 3 22
3()54 50-200/1.5R | 3()P4 50-200/1.5R 15 | 2 & T8 29 34
90L ' ' : :
3()5450-2001.5 | 3()P4 50-200/1.5 15 | 2 & T T 23 34
3()5450-2002.2 | 3()P4 50-200/2.2 0L | 22 | 3 & o8l 1 80 o 83 1 Bl 38 21
3()54 65-125/0.55 | 3JP4 65-125/0.55 055 | 0.75 2 080 | 670 | 690 | 700 28 16 .
3()54 65-125/0.75 | 3()P4 65-125/0.75 80 o7 | 1 & L B 3 s :
3()54 65-1251.1 | 3()P4 65-125/1.1 1115 2 BT T T 3 22 -
905 ' - - :
L130)5465-160/1.1 | 3()P4 65-160/1.1 1115 & T T T T 22 :
$ 3054 65-160/15 | 3()P4 65-16011.5 9oL | 15 | 2 2 18l &0 o 8. o 88 5 34 :
S 13()5465-1602.2 | 3()P4 65-160/2.2 22 | 3 & T T T T 21 :
= 3()54 65-2002.2R | 3()P4 65-200/2.2R 22 | 3 2 ol &0 &3 1 &1 1 88 2 -
2 100L : : : - - ,
£ 30)5465:20022 | 3()P465-20012.2 22 | 3 2 TR :
E ' ' ' ' i
4652003 | 30p465:2003 O I % 3 0 - 1
83154 65-250/4 3LP4 65-250/4 MM | 4 | 55 & T e R 5 -
7131546525055 | 3LP4 65-250/5.5 1325 | 55 | 75 2 43 | 82 883 8l - 108 8.4
2|305480-160/15 | 3LP48O0-160/1.5 oL | 15 | 2 & 18l 80 B | B30 . oJ 34 :
| 13(5480-1602.2R | 3LP4 80-160/2.2R 22 2 s e T T2 .
%1315480-16022 | 3LP480-160/2.2 ool | 22 | 3 2 2ol 80 B3 L H1 88 ol :
< 13154 80-2003 3LP4 80-20013 3 4 & R R AR R 6.2 :
- . , ,
© 3154802004 | 3LP4 80-200/4R 4 | 55 & TR R R STy 5 :
: 112M ' ' '
° | 3154 80-200/4 3LP4 80-200/4 4 | 55 & (560 83 | 8Ll 14 5 :
£1315480-250/5.5R | 3LP4 80-250/5.5R 55 | 75 & o 8o B3 B : 198 o2
: 1325 : [ '
©|35480250/55 | 3P4 80-250/5.5 55 | 75 & S R SRR T 108 b
% (3054 80-250/7.5 | 3LP4 80-25077.5 32M | 75 1 10 IE3 827 | 898 | 909 | 904 15.3 88
Your Life, our Quality. Worldwide. 86 Commercial



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
NOISE DATA TABLES 4 Poles
Model P, L, - dB(A)* Model P, L, - dB(A)¥
Single phase Single phase Three phase
230V [HP] [kw] 230V 230/400/690V [HP] [kw]
3(LM4 32-125/0.25 033 0.25 3(L)S4 32-125/0.25 3(L)P4 32-125/0.25 033 0.25
3(LM4 32-160/0.37R 0,5 0,37 3(L)S4 32-160/0.37R | 3(L)P4 32-160/0.37R 0,5 0,37
3(L)M4 32-160/0.37 0,5 0,37 <70 3(L)S4 32-160/0.37 3(L)P4 32-160/0.37 0,5 0,37 <70
3(LM4 32-200/0.55R 0.75 0,55 3(L)S4 32-200/0.55R | 3(L)P4 32-200/0.55R 0.75 0,55
3(L)M4 32-200/0.55 0,75 0,55 3(L)S4 32-200/0.55 3(L)P4 32-200/0.55 0,75 0,55
3(L)M4 32-200/0.75 1 0,75 3(L)S4 32-200/0.75 3(L)P4 32-200/0.75 1 0,75
3(L)M4 40-125/0.37R 0,5 037 3(L)S4 40-125/0.37R | 3(L)P4 40-125/0.37R 0,5 037
3(L)M4 40-125/0.37 0,5 037 3(L)S4 40-125/0.37 3(L)P4 40-125/0.37 0.5 037
3(L)M4 40-160/0.55R 0,75 0,55 3(L)S4 40-160/0.55R | 3(L)P4 40-160/0.55R 0,75 0,55
3(L)M4 40-160/0.55 0,75 0,55 <70 3(L)S4 40-160/0.55 3(L)P4 40-160/0.55 0,75 0,55 <70
3(L)M4 40-200/1.1R 1.5 1,1 3(L)S4 40-200/1.1R 3(L)P4 40-200/1.1R 1.5 1.1
3(LM4 40-200/1.1 1,5 1.1 3(L)S4 40-200/1.1 3(L)P4 40-200/1.1 1,5 1.1
3(L)M4 40-200/1.5 2 15 3(L)S4 40-200/1.5 3(L)P4 40-200/1.5 2 15
3(L)M4 50-125/0.55R 0,75 0,55 3(L)S4 50-125/0.55R | 3(L)P4 50-125/0.55R 0,75 0,55
3(L)M4 50-125/0.55 0.75 0,55 3(L)S4 50-125/0.55 3(L)P4 50-125/0.55 0.75 0,55
3(LM4 50-160/1.1R 1,5 1.1 3(L)S4 50-160/1.1R 3(L)P4 50-160/1.1R 1,5 1.1
3(L)M4 50-160/1.1 1,5 1.1 <70 3(L)S4 50-160/1.1 3(L)P4 50-160/1.1 1,5 1.1 <70
3(L)M4 50-200/1.5R 2 1,5 3(L)S4 50-200/1.5R 3(L)P4 50-200/1.5R 2 1.5
3(LM4 50-200/1.5 2 1,5 3(L)S4 50-200/1.5 3(L)P4 50-200/1.5 2 1,5
3(L)M4 50-200/2.2 3 22 3(L)S4 50-200/2.2 3(L)P4 50-200/2.2 3 22
3(L)M4 65-125/0.55 0,75 0,55 3(L)S4 65-125/0.55 3(L)P4 65-125/0.55 0,75 0,55
3(L)M4 65-125/0.75 1 0,75 3(L)S4 65-125/0.75 3(L)P4 65-125/0.75 1 0,75
3(LM4 65-125/1.1 1,5 1.1 3(L)S4 65-125/1.1 3(L)P4 65-125/1.1 1,5 1.1
3(LM4 65-160/1.1 1,5 1.1 3(L)S4 65-160/1.1 3(L)P4 65-160/1.1 1,5 1.1
3(L)M4 65-160/1.5 2 1,5 <70 3(L)S4 65-160/1.5 3(L)P4 65-160/1.5 2 1.5
3(LM4 65-160/2.2 3 2,2 3(L)S4 65-160/2.2 3(L)P4 65-160/2.2 3 2,2 <70
3(L)M4 65-200/2.2R 3 2,2 3(L)S4 65-200/2.2R 3(L)P4 65-200/2.2R 3 2,2
3(L)M4 65-200/2.2 3 2,2 3(L)S4 65-200/2.2 3(L)P4 65-200/2.2 3 2,2
3(LM4 65-200/3 4 3 3(L)S4 65-200/3 3(L)P4 65-200/3 4 3
3LM4 65-250/4 55 4 3L54 65-250/4 3LP4 65-250/4 55 4
3LM4 65-250/5.5 75 55 71 3154 65-250/5.5 3LP4 65-250/5.5 75 55
3LM4 80-160/1.5 2 1,5 3154 80-160/1.5 3LP4 80-160/1.5 2 1.5
3LM4 80-160/2.2R 3 2,2 3154 80-160/2.2R 3LP4 80-160/2.2R 3 2,2
3LM4 80-160/2.2 3 2,2 <70 3154 80-160/2.2 3LP4 80-160/2.2 3 2,2 £
3LM4 80-200/3 4 3 3154 80-200/3 3LP4 80-200/3 4 3 s
3LM4 80-200/4R 55 4 3154 80-200/4R 3LP4 80-200/4R 55 4 <70 2
3LM4 80-200/4 55 4 3L54 80-200/4 3LP4 80-200/4 55 4 =
3LM4 80-250/5.5R 75 55 7 3154 80-250/5.5R 3LP4 80-250/5.5R 7,5 55 g
3LM4 80-250/5.5 7.5 55 3154 80-250/5.5 3LP4 80-250/5.5 7.5 55 2
3LM4 80-250/7.5 10 7.5 <70** 3154 80-250/7.5 3LP4 80-250/7.5 10 7.5 §
* Mean value of several measures at 1m distance around the pump. =
* Mean value of several measures at 1m distance around the pump. Tollerance + 2.5 dB. E
Tollerance + 2.5 dB. g
** Sound pressure level of motor pumps with AEG g
&
H
®
2
Your Life, our Quality. Worldwide. 87 Commercial



